

Amerigroup Community Care

Access Analysis SouthEast

January 23, 2023

PCPs - Urban

January 23, 2023

Access Analysis
Adult_PCP_Urban(2 prov in 8 Miles)
Member / Provider Groups
Adult Urban Members (SE_URBAN)
PCPs (SE_URBAN)

				Members With a	nd With	out Access						
	Member		Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#		Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	PCPs		2 in 8 miles	96	13.1	1,056	84.1	200	15.9	3.4	3.5
Chatham, GA	4,198	PCPs		2 in 8 miles	280			98.5		1.5	1.8	
Effingham, GA		PCPs		2 in 8 miles	57			88.1				
Glynn, GA	1,078	PCPs		2 in 8 miles	60	18.0	1,030	95.5	48	4.5	2.4	2.5
Grand Totals	7 212	PCPs		2 in 8 miles	493	14.8	6,910	94.5	402	5.5	2.3	2.5
Granu rotals	7,312	FUFS		2 III o IIIIles	493	14.0	0,910	94.5	402	5.5	2.3	2.5
© 2023 Queet Analytics III C												

PCPs - Rural

January 23, 2023

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (SE_RURAL)

PCPs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	PCPs	2 in 15 miles	34	7.7	260	99.6	1	0.4	3.3	4.3
Bacon, GA		PCPs	2 in 15 miles	30			100.0	0	0.0	3.1	3.3
Brantley, GA		PCPs	2 in 15 miles	32		210	100.0	0	0.0	5.1	5.2
Bryan, GA		PCPs	2 in 15 miles	34		517	100.0	0	0.0	3.2	
Camden, GA	591	PCPs	2 in 15 miles	49	12.1	591	100.0	0	0.0	2.5	3.6
Candler, GA	244	PCPs	2 in 15 miles	24		244	100.0	0	0.0	2.7	3.3
Charlton, GA	114	PCPs	2 in 15 miles	29	3.9	91	79.8	23	20.2	6.6	7.6
Evans, GA	191	PCPs	2 in 15 miles	9		191	100.0	0	0.0	3.2	3.7
Jeff Davis, GA		PCPs	2 in 15 miles	18	13.3		100.0	0	0.0	3.8	4.0
Liberty, GA	1,193	PCPs	2 in 15 miles	56	21.3	1,193	100.0	0	0.0	2.5	3.1
Long, GA	246	PCPs	2 in 15 miles	22	11.2	246	100.0	0	0.0	4.8	5.1
McIntosh, GA	183	PCPs	2 in 15 miles	12		183	100.0	0	0.0	4.0	6.5
Montgomery, GA	125	PCPs	2 in 15 miles	1	125.0	115	92.0	10	8.0	6.0	10.8
Pierce, GA	287	PCPs	2 in 15 miles	20	14.4	282	98.3	5	1.7	4.2	4.6
Screven, GA	311	PCPs	2 in 15 miles	10	31.1	253	81.4	58	18.6	7.6	7.9
Tattnall, GA	446	PCPs	2 in 15 miles	27	16.5	446	100.0	0	0.0	3.1	4.3
Toombs, GA	564	PCPs	2 in 15 miles	47	12.0	564	100.0	0	0.0	3.3	3.5
Ware, GA	698	PCPs	2 in 15 miles	76	9.2	692	99.1	6	0.9	2.5	2.8
Wayne, GA	674	PCPs	2 in 15 miles	35	19.3	666	98.8	8	1.2	4.6	5.0
Grand Totals	7,223	PCPs	2 in 15 miles	565	12.8	7,112	98.5	111	1.5	3.6	4.3

Pediatricians - Urban

January 23, 2023

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatricians

			Members With a	and With	out Access						
	Member	P	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatricians	2 in 8 miles	96		3,152			16.8		
Chatham, GA		Pediatricians	2 in 8 miles	280		11,524			1.6		2.0
Effingham, GA		Pediatricians	2 in 8 miles	57			87.5				
Glynn, GA	3,794	Pediatricians	2 in 8 miles	60	63.2	3,663	96.5	131	3.5	2.3	2.4
Grand Totals		Pediatricians	2 in 8 miles	493		20,325	94.2				

Pediatricians - Rural

January 23, 2023

Access Analysis
Child Pediatricians- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatricians

			Members With a	nd With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatricians	2 in 15 miles	34	29.5	994	99.1	9	0.9	3.3	4.5
Bacon, GA	413	Pediatricians	2 in 15 miles	30	13.8	413	100.0	0	0.0	2.8	3.0
Brantley, GA	682	Pediatricians	2 in 15 miles	32	21.3		100.0	0	0.0	5.0	5.1
Bryan, GA	1,503	Pediatricians	2 in 15 miles	34			100.0	0	0.0	3.3	
Camden, GA	1,930	Pediatricians	2 in 15 miles	48	40.2	1,930	100.0	0	0.0	2.3	3.5
Candler, GA	764	Pediatricians	2 in 15 miles	24		764	100.0	0	0.0	2.9	3.6
Charlton, GA	412	Pediatricians	2 in 15 miles	29	14.2	343	83.3	69	16.7	5.7	6.7
Evans, GA	693	Pediatricians	2 in 15 miles	9	77.0	693	100.0	0	0.0	3.1	3.6
Jeff Davis, GA	834	Pediatricians	2 in 15 miles	18	46.3	833	99.9	1	0.1	3.4	3.6
Liberty, GA	3,628	Pediatricians	2 in 15 miles	56		3,628	100.0	0	0.0	2.6	3.2
Long, GA	876	Pediatricians	2 in 15 miles	22	39.8	876	100.0	0	0.0	4.9	5.2
McIntosh, GA	543	Pediatricians	2 in 15 miles	12	45.3	543	100.0	0	0.0	4.0	6.4
Montgomery, GA	356	Pediatricians	2 in 15 miles	1	356.0	330	92.7	26	7.3	7.0	11.1
Pierce, GA	962	Pediatricians	2 in 15 miles	20	48.1	948	98.5	14	1.5	4.3	4.7
Screven, GA	965	Pediatricians	2 in 15 miles	10	96.5	811	84.0	154	16.0	7.1	7.4
Tattnall, GA	1,577	Pediatricians	2 in 15 miles	27	58.4	1,577	100.0	0	0.0	3.3	4.4
Toombs, GA	1,746	Pediatricians	2 in 15 miles	47	37.1	1,746	100.0	0	0.0	3.3	3.5
Ware, GA	2,179	Pediatricians	2 in 15 miles	76	28.7	2,164	99.3	15	0.7	2.4	2.7
Wayne, GA	2,160	Pediatricians	2 in 15 miles	35	61.7	2,124	98.3	36	1.7	4.7	5.1
Grand Totals	23,226	Pediatricians	2 in 15 miles	564	41.2	22,902	98.6	324	1.4	3.6	4.3

Adult Allergy/Immunology - Urban

January 23, 2023

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Allergy/Immunology
(SE_URBAN)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Allergy/Immunol	1 in 30 miles	3			100.0		0.0	5.9	
Chatham, GA		Adult_Allergy/Immunol	1 in 30 miles	16		4,198	100.0	0	0.0	4.4	
Effingham, GA		Adult_Allergy/Immunol	1 in 30 miles	4			100.0		0.0	7.6	
Glynn, GA	1,078	Adult_Allergy/Immunol	1 in 30 miles	6	179.7	1,078	100.0	0	0.0	4.3	4.7
Grand Totals	7,312	Adult_Allergy/Immunol	1 in 30 miles	29	252.1	7,312	100.0	0	0.0	5.0	5.2

Adult Allergy/Immunology - Rural

January 23, 2023

Access Analysis

Adult_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Allergy/Immunology
(SE_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Allergy/Immunol	1 in 45 miles	0		172	65.9	89	34.1	44.5	44.5
Bacon, GA	129	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	129	100.0	57.9	57.9
Brantley, GA	210	Adult_Allergy/Immunol	1 in 45 miles	0		160	76.2	50	23.8	40.5	52.2
Bryan, GA	517	Adult_Allergy/Immunol	1 in 45 miles	6	86.2	517	100.0	0	0.0	12.0	12.0
Camden, GA	591	Adult_Allergy/Immunol	1 in 45 miles	1	591.0	591	100.0	0	0.0	6.3	72.1
Candler, GA	244	Adult_Allergy/Immunol	1 in 45 miles	0		244	100.0	0	0.0	24.0	24.1
Charlton, GA	114	Adult_Allergy/Immunol	1 in 45 miles	0		101	88.6	13	11.4	29.3	80.2
Evans, GA	191	Adult_Allergy/Immunol	1 in 45 miles	2	95.5	191	100.0	0	0.0	3.8	3.9
Jeff Davis, GA	239	Adult_Allergy/Immunol	1 in 45 miles	0		6	2.5	233	97.5	52.5	52.6
Liberty, GA	1,193	Adult_Allergy/Immunol	1 in 45 miles	3	397.7	1,193	100.0	0	0.0	3.8	4.1
Long, GA	246	Adult_Allergy/Immunol	1 in 45 miles	0		246	100.0	0	0.0	10.7	10.7
McIntosh, GA	183	Adult_Allergy/Immunol	1 in 45 miles	0		183	100.0	0	0.0	31.2	31.5
Montgomery, GA	125	Adult_Allergy/Immunol	1 in 45 miles	0		124	99.2	1	0.8	39.8	39.9
Pierce, GA	287	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	287	100.0	60.0	62.4
Screven, GA	311	Adult_Allergy/Immunol	1 in 45 miles	0		81	26.0	230	74.0	46.6	46.7
Tattnall, GA	446	Adult_Allergy/Immunol	1 in 45 miles	0		446	100.0	0	0.0	17.9	18.0
Toombs, GA	564	Adult_Allergy/Immunol	1 in 45 miles	0		564	100.0	0	0.0	29.6	29.7
Ware, GA	698	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	698	100.0	61.7	72.5
Wayne, GA	674	Adult_Allergy/Immunol	1 in 45 miles	0		655	97.2	19	2.8	31.0	31.3
Grand Totals	7,223	Adult_Allergy/Immunol	1 in 45 miles	12	601.9	5,474	75.8	1,749	24.2	27.4	35.2

Adult Cardiology -Urban

January 23, 2023

Access Analysis
Adult_Cardiology - Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Cardiology (SE_URBAN)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Cardiology	1 in 30 miles	17	73.9	1,256				4.3	
Chatham, GA		Adult_Cardiology	1 in 30 miles	81	51.8	4,198	100.0	0	0.0	2.6	3.5
Effingham, GA		Adult_Cardiology	1 in 30 miles	7	111.4		100.0				7.2
Glynn, GA	1,078	Adult_Cardiology	1 in 30 miles	12	89.8	1,078	100.0	0	0.0	4.4	4.6
Grand Totals	7,312	Adult_Cardiology	1 in 30 miles	117	62.5	7,312	100.0	0	0.0	3.3	4.4
ı											

Adult Cardiology - Rural

January 23, 2023

Access Analysis

Adult_Cardiology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Cardiology (SE_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Cardiology	1 in 45 miles	9	29.0	261	100.0	0	0.0	4.7	5.2
Bacon, GA	129	Adult_Cardiology	1 in 45 miles	3	43.0	129	100.0	0	0.0	3.0	3.6
Brantley, GA	210	Adult_Cardiology	1 in 45 miles	1	210.0	210	100.0	0	0.0	10.1	17.5
Bryan, GA	517	Adult_Cardiology	1 in 45 miles	4	129.3	517	100.0	0	0.0	12.0	12.3
Camden, GA	591	Adult_Cardiology	1 in 45 miles	7	84.4	591	100.0	0	0.0	5.0	6.1
Candler, GA	244	Adult_Cardiology	1 in 45 miles	5	48.8	244	100.0	0	0.0	3.6	3.8
Charlton, GA	114	Adult_Cardiology	1 in 45 miles	1	114.0	114	100.0	0	0.0	13.7	26.8
Evans, GA	191	Adult_Cardiology	1 in 45 miles	10	19.1	191	100.0	0	0.0	3.5	3.8
Jeff Davis, GA	239	Adult_Cardiology	1 in 45 miles	14	17.1		100.0	0	0.0	3.6	4.3
Liberty, GA	1,193	Adult_Cardiology	1 in 45 miles	8	149.1	1,193	100.0	0	0.0	4.1	4.4
Long, GA	246	Adult_Cardiology	1 in 45 miles	1	246.0	246	100.0	0	0.0	6.5	9.5
McIntosh, GA	183	Adult_Cardiology	1 in 45 miles	1	183.0	183	100.0	0	0.0	7.5	31.2
Montgomery, GA	125	Adult_Cardiology	1 in 45 miles	0		125	100.0	0	0.0	11.6	12.0
Pierce, GA	287	Adult_Cardiology	1 in 45 miles	2	143.5	287	100.0	0	0.0	7.7	10.1
Screven, GA	311	Adult_Cardiology	1 in 45 miles	3	103.7	311	100.0	0	0.0	5.3	8.3
Tattnall, GA	446	Adult_Cardiology	1 in 45 miles	5	89.2	446	100.0	0	0.0	9.5	10.3
Toombs, GA	564	Adult_Cardiology	1 in 45 miles	13	43.4	564	100.0	0	0.0	4.2	4.3
Ware, GA	698	Adult_Cardiology	1 in 45 miles	15	46.5	698	100.0	0	0.0	3.2	3.7
Wayne, GA	674	Adult_Cardiology	1 in 45 miles	9	74.9	674	100.0	0	0.0	6.1	7.4
Grand Totals	7,223	Adult_Cardiology	1 in 45 miles	111	65.1	7,223	100.0	0	0.0	5.9	7.8

Adult Endocrinology - Urban

January 23, 2023

Access Analysis
Adult_Endocrinology - Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Endocrinology (SE_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	1,256	Adult_Endocrinology	1 in 30 miles	0		0	0.0	1,256	100.0	56.7	56.8		
Chatham, GA		Adult_Endocrinology	1 in 30 miles	12			100.0						
Effingham, GA		Adult_Endocrinology	1 in 30 miles	0		492							
Glynn, GA	1,078	Adult_Endocrinology	1 in 30 miles	2	539.0	1,078	100.0	0	0.0	4.7	4.7		
Grand Totals	7,312	Adult_Endocrinology	1 in 30 miles	14	522.3	5,768	78.9	1,544	21.1	17.3	17.4		
© 2023 Quaet Analytics II C													

Adult Endocrinology - Rural

January 23, 2023

Access Analysis
Adult_Endocrinology - Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Endocrinology (SE_RURAL)

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Endocrinology	1 in 45 miles	0		255	97.7	6	2.3	39.1	51.7
Bacon, GA	129	Adult_Endocrinology	1 in 45 miles	0		129	100.0	0	0.0	25.8	67.8
Brantley, GA	210	Adult_Endocrinology	1 in 45 miles	0		210	100.0	0	0.0	27.7	86.3
Bryan, GA	517	Adult_Endocrinology	1 in 45 miles	0		239	46.2	278	53.8	51.5	87.6
Camden, GA	591	Adult_Endocrinology	1 in 45 miles	0		22	3.7	569	96.3	58.7	115.3
Candler, GA	244	Adult_Endocrinology	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	85.8
Charlton, GA	114	Adult_Endocrinology	1 in 45 miles	0		88	77.2	26	22.8	44.4	115.1
Evans, GA	191	Adult_Endocrinology	1 in 45 miles	0		191	100.0	0	0.0	24.0	74.9
Jeff Davis, GA	239	Adult_Endocrinology	1 in 45 miles	0		22	9.2	217	90.8	49.6	59.1
Liberty, GA	1,193	Adult_Endocrinology	1 in 45 miles	0		0	0.0	1,193	100.0	57.7	72.4
Long, GA		Adult_Endocrinology	1 in 45 miles	0		6	2.4	240	97.6	53.6	64.2
McIntosh, GA	183	Adult_Endocrinology	1 in 45 miles	0		0	0.0	183	100.0	62.2	81.4
Montgomery, GA	125	Adult_Endocrinology	1 in 45 miles	0		102	81.6	23	18.4	40.0	67.1
Pierce, GA		Adult_Endocrinology	1 in 45 miles	0		287	100.0	0	0.0	13.0	
Screven, GA		Adult_Endocrinology	1 in 45 miles	0		236	75.9	75	24.1	42.1	114.8
Tattnall, GA		Adult_Endocrinology	1 in 45 miles	0		446		0	0.0		
Toombs, GA		Adult_Endocrinology	1 in 45 miles	0		564	100.0	0	0.0	29.4	69.6
Ware, GA		Adult_Endocrinology	1 in 45 miles	1	698.0	698	100.0	0	0.0	4.1	86.1
Wayne, GA		Adult_Endocrinology	1 in 45 miles	0		182	27.0	492	73.0	46.1	59.8
Grand Totals	7,223	Adult_Endocrinology	1 in 45 miles	2	3,611.5	3,921	54.3	3,302	45.7	39.0	78.6

Adult ENT - Urban

January 23, 2023

Access Analysis
Adult_ENT- Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_ENT (SE_URBAN)

Chatham, GA 4,198 Effingham, GA 780 Glynn, GA 1,078	Group Adult_ENT Adult_ENT Adult_ENT Adult_ENT Adult_ENT Adult_ENT	Standard 1 in 30 miles	8 48 5 4 65	87.5 156.0 269.5	# 1,256 4,198	% 100.0 100.0 100.0	0	% 0.0 0.0	1 4.2 3.3 7.7 4.6	4.7 3.4 7.7
Bulloch, GA 1,256 Chatham, GA 4,198 Effingham, GA 780 Glynn, GA 1,078	Adult_ENT Adult_ENT Adult_ENT Adult_ENT	1 in 30 miles 1 in 30 miles 1 in 30 miles 1 in 30 miles	8 48 5 4	157.0 87.5 156.0 269.5	1,256 4,198 780	100.0 100.0 100.0	0 0 0	0.0 0.0 0.0	4.2 3.3 7.7	4.7 3.4 7.7
Chatham, GA 4,198 Effingham, GA 780 Glynn, GA 1,078	Adult_ENT Adult_ENT Adult_ENT	1 in 30 miles 1 in 30 miles 1 in 30 miles	48 5 4	87.5 156.0 269.5	4,198 780	100.0 100.0	0	0.0	3.3 7.7	3.4 7.7
Effingham, GA 780 Glynn, GA 1,078	Adult_ENT Adult_ENT	1 in 30 miles 1 in 30 miles	5 4	156.0 269.5	780	100.0	0	0.0	7.7	7.7
Glynn, GA 1,078	Adult_ENT	1 in 30 miles	4	269.5						
					1,078	100.0	0	0.0	16	
Grand Totals 7,312	Adult_ENT	1 in 30 miles	65						4.0	4.8
Grand Totals 7,312	Adult_ENT	1 in 30 miles	65							
				112.5	7,312	100.0	0	0.0	4.1	4.3
© 2023 Quest Analytics, LLC.										

Adult ENT - Rural

January 23, 2023

Access Analysis

Adult_ENT - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_ENT (SE_RURAL)

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_ENT	1 in 45 miles	1	261.0	261	100.0	0	0.0	5.2	28.7
Bacon, GA	129	Adult_ENT	1 in 45 miles	0			100.0		0.0	20.0	
Brantley, GA	210	Adult_ENT	1 in 45 miles	0		210	100.0	0	0.0	24.4	24.7
Bryan, GA	517	Adult_ENT	1 in 45 miles	9	57.4	517	100.0	0	0.0	12.2	12.4
Camden, GA	591	Adult_ENT	1 in 45 miles	0		30	5.1	561	94.9	57.6	57.7
Candler, GA	244	Adult_ENT	1 in 45 miles	0		244	100.0	0	0.0	23.4	23.5
Charlton, GA	114	Adult_ENT	1 in 45 miles	0		88	77.2	26	22.8	42.9	43.1
Evans, GA	191	Adult_ENT	1 in 45 miles	3	63.7	191	100.0	0	0.0	3.9	3.9
Jeff Davis, GA	239	Adult_ENT	1 in 45 miles	0		239	100.0	0	0.0	18.8	32.4
Liberty, GA	1,193	Adult_ENT	1 in 45 miles	6	198.8	1,193	100.0	0	0.0	4.3	4.3
Long, GA	246	Adult_ENT	1 in 45 miles	0		246	100.0	0	0.0	11.7	11.7
McIntosh, GA	183	Adult_ENT	1 in 45 miles	0		183	100.0	0	0.0	31.5	31.5
Montgomery, GA	125	Adult_ENT	1 in 45 miles	0		125	100.0	0	0.0	13.8	13.8
Pierce, GA	287	Adult_ENT	1 in 45 miles	2	143.5	287	100.0	0	0.0	5.2	5.8
Screven, GA	311	Adult_ENT	1 in 45 miles	0		81	26.0	230	74.0	46.6	46.6
Tattnall, GA	446	Adult_ENT	1 in 45 miles	0		446	100.0		0.0	17.6	
Toombs, GA	564	Adult_ENT	1 in 45 miles	6	94.0	564	100.0	0	0.0	4.8	5.0
Ware, GA	698	Adult_ENT	1 in 45 miles	5	139.6	698	100.0	0	0.0	3.8	3.8
Wayne, GA	674	Adult_ENT	1 in 45 miles	2	337.0	674	100.0	0	0.0	7.8	8.1
Grand Totals	7,223	Adult_ENT	1 in 45 miles	34	212.4	6,406	88.7	817	11.3	16.0	17.5

Adult Gastroenterology - Urban

January 23, 2023

Access Analysis

Adult_Gastreontology - Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Gastroenterology
(SE_URBAN)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	1,256	Adult_Gastroenterology	1 in 30 miles	7	179.4	1,256	100.0	0	0.0	5.6	5.8	
Chatham, GA		Adult_Gastroenterology	1 in 30 miles	56	75.0	4,198	100.0	0	0.0	3.6		
Effingham, GA	780	Adult_Gastroenterology	1 in 30 miles	1	780.0		100.0	0	0.0	7.5		
Glynn, GA	1,078	Adult_Gastroenterology	1 in 30 miles	11	98.0	1,078	100.0	0	0.0	3.1	3.2	
Grand Totals	7,312	Adult_Gastroenterology	1 in 30 miles	75	97.5	7,312	100.0	0	0.0	4.3	5.0	
© 2023 Ouget Analytics III C	L						L					

Adult Gastroenterology - Rural

January 23, 2023

Access Analysis

Adult_Gastreontology- Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Gastroenterology
(SE_RURAL)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	261	Adult_Gastroenterology	1 in 45 miles	0		261	100.0	0	0.0	20.7	30.4	
Bacon, GA	129	Adult_Gastroenterology	1 in 45 miles	1	129.0	129	100.0	0	0.0	3.7	25.5	
Brantley, GA	210	Adult_Gastroenterology	1 in 45 miles	0		210	100.0	0	0.0	27.2	27.4	
Bryan, GA	517	Adult_Gastroenterology	1 in 45 miles	1	517.0	517	100.0	0	0.0	12.6	35.6	
Camden, GA	591	Adult_Gastroenterology	1 in 45 miles	7	84.4	591	100.0	0	0.0	6.3	6.3	
Candler, GA	244	Adult_Gastroenterology	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	23.3	
Charlton, GA	114	Adult_Gastroenterology	1 in 45 miles	0		101	88.6	13	11.4	29.3	29.3	
Evans, GA	191	Adult_Gastroenterology	1 in 45 miles	1	191.0	191	100.0	0	0.0	3.8	24.0	
Jeff Davis, GA	239	Adult_Gastroenterology	1 in 45 miles	0		239	100.0	0	0.0	26.5	33.5	
Liberty, GA	1,193	Adult_Gastroenterology	1 in 45 miles	0			100.0	0	0.0	23.2	37.8	
Long, GA		Adult_Gastroenterology	1 in 45 miles	0			100.0	0	0.0	31.3	34.8	
McIntosh, GA	183	Adult_Gastroenterology	1 in 45 miles	0		183	100.0	0	0.0	35.0	51.8	
Montgomery, GA	125	Adult_Gastroenterology	1 in 45 miles	0		125	100.0	0	0.0	14.8	14.8	
Pierce, GA		Adult_Gastroenterology	1 in 45 miles	0		287	100.0	0	0.0	11.3	12.1	
Screven, GA		Adult_Gastroenterology	1 in 45 miles	0		236	75.9	75	24.1	42.2	46.8	
Tattnall, GA		Adult_Gastroenterology	1 in 45 miles	0				0	0.0	17.3	27.6	
Toombs, GA		Adult_Gastroenterology	1 in 45 miles	3	188.0	564	100.0	0	0.0	5.2	5.2	
Ware, GA		Adult_Gastroenterology	1 in 45 miles	2		698	100.0	0	0.0	4.1	4.6	
Wayne, GA		Adult_Gastroenterology	1 in 45 miles	0		671	99.6	3	0.4	33.7	37.6	
Grand Totals	7,223	Adult_Gastroenterology	1 in 45 miles	16	451.4	7,132	98.7	91	1.3	17.9	26.0	

Adult Hematology/Oncology - Urban

January 23, 2023

Access Analysis
Adult_Hemotology/Oncology- Urban
Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Hematology/Oncology
(SE_URBAN)

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		Adult_Hematology/On	1 in 30 miles	25	50.2	1,256			0.0	4.7	4.7	
Chatham, GA	4,198		1 in 30 miles	89	47.2	4,198	100.0	0	0.0	3.0	3.0	
Effingham, GA		Adult_Hematology/On	1 in 30 miles	11	70.9		100.0			4.9	5.0	
Glynn, GA	1,078	Adult_Hematology/On	1 in 30 miles	11	98.0	1,078	100.0	0	0.0	3.0	3.7	
Grand Totals	7,312	Adult_Hematology/On	1 in 30 miles	136	53.8	7,312	100.0	0	0.0	3.5	3.6	

Adult Hematology/Oncology - Rural

January 23, 2023

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Hematology/Oncology
(SE_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	261	Adult_Hematology/On	1 in 45 miles	2	130.5	261	100.0	0	0.0	5.2	5.3	
Bacon, GA	129	Adult_Hematology/On	1 in 45 miles	2	64.5	129	100.0	0	0.0	3.7	3.7	
Brantley, GA	210	Adult_Hematology/On	1 in 45 miles	0		210	100.0	0	0.0	24.6	24.6	
Bryan, GA	517	Adult_Hematology/On	1 in 45 miles	8	64.6	517	100.0	0	0.0	13.3	13.3	
Camden, GA	591	Adult_Hematology/On	1 in 45 miles	5	118.2	591	100.0	0	0.0	6.3	6.3	
Candler, GA	244	Adult_Hematology/On	1 in 45 miles	0		244	100.0	0	0.0	23.7	28.9	
Charlton, GA	114	Adult_Hematology/On	1 in 45 miles	0		101	88.6	13	11.4	29.3	29.3	
Evans, GA	191	Adult_Hematology/On	1 in 45 miles	0		191	100.0	0	0.0	15.7	17.9	
Jeff Davis, GA	239	Adult_Hematology/On	1 in 45 miles	0		239	100.0	0	0.0	19.1	19.2	
Liberty, GA	1,193	Adult_Hematology/On	1 in 45 miles	6	198.8	1,193	100.0	0	0.0	3.9	4.6	
Long, GA		Adult_Hematology/On	1 in 45 miles	0			100.0	0	0.0	10.6	11.9	
McIntosh, GA	183	Adult_Hematology/On	1 in 45 miles	1	183.0	183	100.0	0	0.0	7.7	32.4	
Montgomery, GA	125	Adult_Hematology/On	1 in 45 miles	0		125	100.0	0	0.0	13.8	13.9	
Pierce, GA		Adult_Hematology/On	1 in 45 miles	4	71.8	287	100.0	0	0.0	5.2	5.5	
Screven, GA		Adult_Hematology/On	1 in 45 miles	0		225	72.3	86	27.7	41.7	41.7	
Tattnall, GA		Adult_Hematology/On	1 in 45 miles	1	446.0		100.0	0	0.0	12.0	21.7	
Toombs, GA		Adult_Hematology/On	1 in 45 miles	14	40.3		100.0	0	0.0	4.7	4.9	
Ware, GA		Adult_Hematology/On	1 in 45 miles	24		698	100.0	0	0.0	3.6	3.7	
Wayne, GA		Adult_Hematology/On	1 in 45 miles	7	96.3	674	100.0	0	0.0	7.6	7.8	
Grand Totals	7,223	Adult_Hematology/On	1 in 45 miles	74	97.6	7,124	98.6	99	1.4	10.4	12.0	

Adult Nephrology - Urban

January 23, 2023

Access Analysis

Adult_Nephrology - Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Nephrology (SE_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	1,256	Adult_Nephrology	1 in 30 miles	3	418.7		100.0		0.0	5.3	5.8		
Chatham, GA	4,198	Adult_Nephrology	1 in 30 miles	94	44.7	4,198	100.0	0	0.0	2.1			
Effingham, GA	780	Adult_Nephrology	1 in 30 miles	19	41.1		100.0		0.0	4.6			
Glynn, GA	1,078	Adult_Nephrology	1 in 30 miles	17	63.4	1,078	100.0	0	0.0	2.6	3.0		
Grand Totals	7,312	Adult_Nephrology	1 in 30 miles	133	55.0	7,312	100.0	0	0.0	3.0	3.3		
© 2023 Quest Analytics II C													

Adult Nephrology - Rural

January 23, 2023

Access Analysis

Adult_Nephrology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Nephrology (SE_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Nephrology	1 in 45 miles	9	29.0	261	100.0	0	0.0	4.6	5.1
Bacon, GA	129	Adult_Nephrology	1 in 45 miles	0		129	100.0	0	0.0	19.0	19.0
Brantley, GA		Adult_Nephrology	1 in 45 miles	0		210	100.0	0	0.0	25.3	25.4
Bryan, GA	517	Adult_Nephrology	1 in 45 miles	0		517	100.0	0	0.0	20.5	20.9
Camden, GA	591	Adult_Nephrology	1 in 45 miles	7	84.4	591	100.0	0	0.0	5.4	5.5
Candler, GA	244	Adult_Nephrology	1 in 45 miles	2	122.0	244	100.0	0	0.0	3.7	3.7
Charlton, GA	114	Adult_Nephrology	1 in 45 miles	0		101	88.6	13	11.4	29.1	29.1
Evans, GA	191	Adult_Nephrology	1 in 45 miles	8	23.9	191	100.0	0	0.0	3.8	3.8
Jeff Davis, GA	239	Adult_Nephrology	1 in 45 miles	0		239	100.0	0	0.0	18.5	19.0
Liberty, GA	1,193	Adult_Nephrology	1 in 45 miles	12	99.4	1,193	100.0	0	0.0	3.7	3.8
Long, GA	246	Adult_Nephrology	1 in 45 miles	0		246	100.0	0	0.0	7.8	7.8
McIntosh, GA	183	Adult_Nephrology	1 in 45 miles	3	61.0	183	100.0	0	0.0	8.0	8.0
Montgomery, GA	125	Adult_Nephrology	1 in 45 miles	0		125	100.0	0	0.0	13.6	13.6
Pierce, GA	287	Adult_Nephrology	1 in 45 miles	0		287	100.0	0	0.0	11.2	11.6
Screven, GA	311	Adult_Nephrology	1 in 45 miles	0		235	75.6	76	24.4	42.2	42.2
Tattnall, GA	446	Adult_Nephrology	1 in 45 miles	2	223.0	446	100.0	0	0.0	10.1	11.5
Toombs, GA	564	Adult_Nephrology	1 in 45 miles	5	112.8	564	100.0	0	0.0	4.5	4.6
Ware, GA	698	Adult_Nephrology	1 in 45 miles	9	77.6	698	100.0	0	0.0	3.8	3.8
Wayne, GA	674	Adult_Nephrology	1 in 45 miles	7	96.3	674	100.0	0	0.0	7.6	7.7
Grand Totals	7,223	Adult_Nephrology	1 in 45 miles	64	112.9	7,134	98.8	89	1.2	10.1	10.3

Adult Dermatology - Urban

January 23, 2023

Access Analysis

Adult_Dermatology - Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Dermatology

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	Adult_Dermatology	1 in 30 miles	8	157.0	1,256					
Chatham, GA		Adult_Dermatology	1 in 30 miles	8	524.8	4,198	100.0	0	0.0		
Effingham, GA		Adult_Dermatology	1 in 30 miles	1	780.0		100.0		0.0		
Glynn, GA	1,078	Adult_Dermatology	1 in 30 miles	8	134.8	1,078	100.0	0	0.0	3.1	3.6
Grand Totals		Adult_Dermatology	1 in 30 miles	25		7,312					

Adult Dermatology - Rural

January 23, 2023

Access Analysis
Adult_Dermatology - Rural

Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Dermatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	261	Adult_Dermatology	1 in 45 miles	1	261.0	261	100.0	0	0.0	5.3	29.9	
Bacon, GA	129	Adult_Dermatology	1 in 45 miles	0		129	100.0	0	0.0	19.9	23.7	
Brantley, GA	210	Adult_Dermatology	1 in 45 miles	0		210	100.0	0	0.0	19.5	20.3	
Bryan, GA	517	Adult_Dermatology	1 in 45 miles	4	129.3	517	100.0	0	0.0	7.9	9.5	
Camden, GA	591	Adult_Dermatology	1 in 45 miles	0		591	100.0	0	0.0	31.1	31.9	
Candler, GA	244	Adult_Dermatology	1 in 45 miles	0		244	100.0	0	0.0	20.9	21.4	
Charlton, GA	114	Adult_Dermatology	1 in 45 miles	0		90	78.9	24	21.1	42.7	43.3	
Evans, GA	191	Adult_Dermatology	1 in 45 miles	0		191	100.0	0	0.0	16.3	16.3	
Jeff Davis, GA	239	Adult_Dermatology	1 in 45 miles	0		239	100.0	0	0.0	18.3	30.1	
Liberty, GA	1,193	Adult_Dermatology	1 in 45 miles	5	238.6	1,193	100.0	0	0.0	4.9	5.2	
Long, GA	246	Adult_Dermatology	1 in 45 miles	0		246	100.0	0	0.0	12.7	12.7	
McIntosh, GA	183	Adult_Dermatology	1 in 45 miles	0		183	100.0	0	0.0	16.5	19.2	
Montgomery, GA	125	Adult_Dermatology	1 in 45 miles	0		125	100.0	0	0.0	13.1	30.8	
Pierce, GA	287	Adult_Dermatology	1 in 45 miles	1	287.0	287	100.0	0	0.0	5.4	11.5	
Screven, GA	311	Adult_Dermatology	1 in 45 miles	0		311	100.0	0	0.0	18.6	23.2	
Tattnall, GA	446	Adult_Dermatology	1 in 45 miles	0		446	100.0	0	0.0	22.9	26.2	
Toombs, GA	564	Adult_Dermatology	1 in 45 miles	1	564.0	564	100.0	0	0.0	5.6	30.1	
Ware, GA	698	Adult_Dermatology	1 in 45 miles	6	116.3	698	100.0	0	0.0	4.0	4.4	
Wayne, GA	674	Adult_Dermatology	1 in 45 miles	5	134.8	674	100.0	0	0.0	7.4	7.5	
Grand Totals	7,223	Adult_Dermatology	1 in 45 miles	23	314.0	7,199	99.7	24	0.3	12.5	17.1	

Adult Rheumatology - Urban

January 23, 2023

Access Analysis

Adult_Rheumatology- Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		Adult_Rheumatology	1 in 30 miles	0		0			100.0	56.4	56.6	
Chatham, GA		Adult_Rheumatology	1 in 30 miles	4	1,049.5	4,198	100.0	0	0.0		7.6	
Effingham, GA		Adult_Rheumatology	1 in 30 miles	0		482					28.4	
Glynn, GA	1,078	Adult_Rheumatology	1 in 30 miles	1	1,078.0	1,078	100.0	0	0.0	4.8	52.0	
Grand Totals	7,312	Adult_Rheumatology	1 in 30 miles	5	1,462.4	5,758	78.7	1,554	21.3	17.7	24.8	

Adult Rheumatology - Rural

January 23, 2023

Access Analysis
Adult_Rheumatology - Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Rheumatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	261	Adult_Rheumatology	1 in 45 miles	2	130.5	261	100.0	0	0.0	5.2	5.8		
Bacon, GA	129	Adult_Rheumatology	1 in 45 miles	0		129	100.0	0	0.0	19.7	20.6		
Brantley, GA	210	Adult_Rheumatology	1 in 45 miles	0		210	100.0	0	0.0	21.5	33.3		
Bryan, GA		Adult_Rheumatology	1 in 45 miles	0		513	99.2	4	8.0	26.6	26.7		
Camden, GA	591	Adult_Rheumatology	1 in 45 miles	0		591	100.0	0	0.0	29.9	33.0		
Candler, GA	244	Adult_Rheumatology	1 in 45 miles	0		10	4.1	234	95.9	50.7	51.0		
Charlton, GA		Adult_Rheumatology	1 in 45 miles	0		114	100.0	0	0.0	39.5	42.7		
Evans, GA	191	Adult_Rheumatology	1 in 45 miles	0		35	18.3	156	81.7	46.6	46.8		
Jeff Davis, GA	239	Adult_Rheumatology	1 in 45 miles	0		239	100.0	0	0.0	18.5	19.2		
Liberty, GA	1,193	Adult_Rheumatology	1 in 45 miles	0		1,193	100.0	0	0.0	37.9	37.9		
Long, GA	246	Adult_Rheumatology	1 in 45 miles	0		246	100.0	0	0.0	37.9	38.2		
McIntosh, GA	183	Adult_Rheumatology	1 in 45 miles	0		183	100.0	0	0.0	23.2	48.0		
Montgomery, GA	125	Adult_Rheumatology	1 in 45 miles	0		121	96.8	4	3.2	32.2	32.8		
Pierce, GA	287	Adult_Rheumatology	1 in 45 miles	0		287	100.0	0	0.0	13.0	34.8		
Screven, GA	311	Adult_Rheumatology	1 in 45 miles	0		2	0.6	309	99.4	56.1	56.2		
Tattnall, GA		Adult_Rheumatology	1 in 45 miles	0		443	99.3	3	0.7	32.2	32.4		
Toombs, GA	564	Adult_Rheumatology	1 in 45 miles	0		564	100.0	0	0.0	30.5	31.1		
Ware, GA	698	Adult_Rheumatology	1 in 45 miles	1	698.0	698	100.0	0	0.0	4.0	38.7		
Wayne, GA	674	Adult_Rheumatology	1 in 45 miles	0		674	100.0	0	0.0	30.9	32.7		
Grand Totals	7,223	Adult_Rheumatology	1 in 45 miles	3	2,407.7	6,513	90.2	710	9.8	29.0	34.8		

Adult Infectious Disease - Urban

January 23, 2023

Access Analysis
Adult_Infectious Disease_Urban
Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Infectious Disease
(SE_URBAN)

Chatham, GA 4,198 Adult_Infectious Disease 1 in 30 miles 17 246.9 4,198 100.0 0 0.0 6.2 6.2 Effingham, GA 780 Adult_Infectious Disease 1 in 30 miles 0 764 97.9 16 2.1 25.0 27.6 Glynn, GA 1,078 Adult_Infectious Disease 1 in 30 miles 3 359.3 1,078 100.0 0 0.0 4.6 4.7		Members With and Without Access												
County # Group Standard # to Providers # % # % 1 2 Bulloch, GA 1,256 Adult_Infectious Disease 1 in 30 miles 1 1,256.0 1,256 100.0 0 0.0 5.8 56.7 Chatham, GA 4,198 Adult_Infectious Disease 1 in 30 miles 17 246.9 4,198 100.0 0 0.0 6.2 6.2 Effingham, GA 780 Adult_Infectious Disease 1 in 30 miles 0 764 97.9 16 2.1 25.0 27.6 Glynn, GA 1,078 Adult_Infectious Disease 1 in 30 miles 3 359.3 1,078 100.0 0 0.0 4.6 4.7		Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
Chatham, GA 4,198 Adult_Infectious Disease 1 in 30 miles 17 246.9 4,198 100.0 0 0.0 6.2 6.2 Effingham, GA 780 Adult_Infectious Disease 1 in 30 miles 0 764 97.9 16 2.1 25.0 27.6 Glynn, GA 1,078 Adult_Infectious Disease 1 in 30 miles 3 359.3 1,078 100.0 0 0.0 4.6 4.7	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Effingham, GA 780 Adult_Infectious Disease 1 in 30 miles 0 764 97.9 16 2.1 25.0 27.6 Glynn, GA 1,078 Adult_Infectious Disease 1 in 30 miles 3 359.3 1,078 100.0 0 0.0 4.6 4.7	Bulloch, GA	1,256	Adult_Infectious Disease	1 in 30 miles	1	1,256.0	1,256	100.0	0	0.0	5.8	56.7		
Glynn, GA 1,078 Adult_Infectious Disease 1 in 30 miles 3 359.3 1,078 100.0 0 0.0 4.6 4.7	Chatham, GA	4,198	Adult_Infectious Disease	1 in 30 miles	17	246.9								
	Effingham, GA	780	Adult_Infectious Disease	1 in 30 miles	0		764	97.9	16	2.1	25.0			
Grand Totals 7,312 Adult_Infectious Disease 1 in 30 miles 21 348.2 7,296 99.8 16 0.2 7.9 16.5	Glynn, GA	1,078	Adult_Infectious Disease	1 in 30 miles	3	359.3	1,078	100.0	0	0.0	4.6	4.7		
	Grand Totals	7,312	Adult_Infectious Disease	1 in 30 miles	21	348.2	7,296	99.8	16	0.2	7.9	16.9		

Adult Infectious Disease - Rural

January 23, 2023

Access Analysis
Adult_Infectious Disease_Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Infectious Disease
(SE_RURAL)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	261	Adult_Infectious Disease	1 in 45 miles	0		22	8.4	239	91.6	51.3	86.4	
Bacon, GA	129	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	129	100.0	67.8	82.9	
Brantley, GA	210	Adult_Infectious Disease	1 in 45 miles	0		160	76.2	50	23.8	40.6	86.3	
Bryan, GA	517	Adult_Infectious Disease	1 in 45 miles	0		239	46.2	278	53.8	51.5	90.9	
Camden, GA	591	Adult_Infectious Disease	1 in 45 miles	1	591.0	591	100.0	0	0.0	6.3	115.3	
Candler, GA	244	Adult_Infectious Disease	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	117.1	
Charlton, GA	114	Adult_Infectious Disease	1 in 45 miles	0		101	88.6	13	11.4	29.3	115.1	
Evans, GA	191	Adult_Infectious Disease	1 in 45 miles	0		191	100.0	0	0.0	24.0	99.2	
Jeff Davis, GA	239	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	239	100.0	59.1	100.5	
Liberty, GA	1,193	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	1,193	100.0	57.6	73.3	
Long, GA		Adult_Infectious Disease		0		6	2.4	240	97.6	53.6		
McIntosh, GA	183	Adult_Infectious Disease	1 in 45 miles	0		8	4.4	175	95.6	51.9	81.4	
Montgomery, GA	125	Adult_Infectious Disease	1 in 45 miles	0		102	81.6	23	18.4	40.0	111.7	
Pierce, GA		Adult_Infectious Disease		0		0		287	100.0	62.0		
Screven, GA		Adult_Infectious Disease		0		236	75.9	75	24.1	42.1	136.2	
Tattnall, GA		Adult_Infectious Disease		0		446		0	0.0	28.9		
Toombs, GA		Adult_Infectious Disease		0		564		0	0.0	29.4		
Ware, GA		Adult_Infectious Disease		0		0	0.0	698	100.0	61.9		
Wayne, GA	674	Adult_Infectious Disease	1 in 45 miles	0		72	10.7	602	89.3	54.3	66.3	
Grand Totals	7,223	Adult_Infectious Disease	1 in 45 miles	2	3,611.5	2,982	41.3	4,241	58.7	44.4	91.0	

Adult General Surgery - Urban

January 23, 2023

Access Analysis

Adult_General Surgery_Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_General Surgery
(SE_URBAN)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_General Surgery	1 in 30 miles	20		1,256	100.0	0	0.0	4.1	5.4
Chatham, GA		Adult_General Surgery	1 in 30 miles	155	27.1	4,198	100.0	0	0.0	2.8	
Effingham, GA		Adult_General Surgery	1 in 30 miles	17			100.0	0		4.7	
Glynn, GA	1,078	Adult_General Surgery	1 in 30 miles	19	56.7	1,078	100.0	0	0.0	4.3	4.6
Grand Totals	7,312	Adult_General Surgery	1 in 30 miles	211	34.7	7,312	100.0	0	0.0	3.5	4.0
		_									
© 2023 Quest Analytics III C											

Adult General Surgery - Rural

January 23, 2023

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_General Surgery
(SE_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_General Surgery	1 in 45 miles	8	32.6	261	100.0	0	0.0	4.3	5.1
Bacon, GA	129	Adult_General Surgery	1 in 45 miles	6	21.5	129	100.0	0	0.0	3.1	3.6
Brantley, GA	210	Adult_General Surgery	1 in 45 miles	1	210.0	210	100.0	0	0.0	8.6	13.4
Bryan, GA	517	Adult_General Surgery	1 in 45 miles	11	47.0	517	100.0	0	0.0	12.0	12.0
Camden, GA	591	Adult_General Surgery	1 in 45 miles	9	65.7	591	100.0	0	0.0	5.4	5.9
Candler, GA	244	Adult_General Surgery	1 in 45 miles	8	30.5	244	100.0	0	0.0	3.7	3.8
Charlton, GA	114	Adult_General Surgery	1 in 45 miles	2	57.0	114	100.0	0	0.0	7.9	9.3
Evans, GA	191	Adult_General Surgery	1 in 45 miles	2	95.5	191	100.0	0	0.0	3.9	3.9
Jeff Davis, GA	239	Adult_General Surgery	1 in 45 miles	6	39.8	239	100.0	0	0.0	4.2	4.4
Liberty, GA	1,193	Adult_General Surgery	1 in 45 miles	6	198.8		100.0	0	0.0	4.2	
Long, GA		Adult_General Surgery	1 in 45 miles	0			100.0	0	0.0	11.5	11.8
McIntosh, GA	183	Adult_General Surgery	1 in 45 miles	0			100.0	0	0.0	31.2	31.3
Montgomery, GA	125	Adult_General Surgery	1 in 45 miles	0		125	100.0	0	0.0	12.3	13.0
Pierce, GA		Adult_General Surgery	1 in 45 miles	2	143.5		100.0	0	0.0	4.3	8.4
Screven, GA		Adult_General Surgery	1 in 45 miles	2			100.0	0	0.0	8.3	8.3
Tattnall, GA		Adult_General Surgery	1 in 45 miles	1	446.0		100.0	0	0.0	10.7	16.9
Toombs, GA		Adult_General Surgery	1 in 45 miles	21	26.9		100.0	0	0.0	4.1	4.7
Ware, GA		Adult_General Surgery	1 in 45 miles	19	36.7		100.0	0	0.0	3.4	3.8
Wayne, GA		Adult_General Surgery	1 in 45 miles	17	39.6			0	0.0	6.0	6.8
Grand Totals	7,223	Adult_General Surgery	1 in 45 miles	121	59.7	7,223	100.0	0	0.0	6.7	7.8

Adult Neurology- Urban

January 23, 2023

Access Analysis

Adult_Neurology - Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Neurology (SE_URBAN)

County Bulloch, GA Chatham, GA Effingham, GA Glynn, GA	4,198 780 1,078	Group Adult_Neurology Adult_Neurology Adult_Neurology Adult_Neurology	Standard 1 in 30 miles 1 in 30 miles 1 in 30 miles	# 5 67	Ratio Members to Providers	With Acc	cess %	Without Ac			
Bulloch, GA Chatham, GA Effingham, GA Glynn, GA	1,256 4,198 780 1,078	Adult_Neurology Adult_Neurology Adult_Neurology	1 in 30 miles 1 in 30 miles 1 in 30 miles	5	to Providers	#	0/_				
Chatham, GA Effingham, GA Glynn, GA	4,198 780 1,078	Adult_Neurology Adult_Neurology	1 in 30 miles 1 in 30 miles				/0	#	%	1	2
Effingham, GA Glynn, GA	780 1,078	Adult_Neurology	1 in 30 miles	67	251.2	1,256		0		4.8	5.7
Glynn, GA	1,078				62.7	4,198	100.0	0	0.0	3.0	3.5
		Adult_Neurology		3	260.0		100.0	0		7.5	7.5
	7 040		1 in 30 miles	17	63.4	1,078	100.0	0	0.0	3.1	3.3
Grand Totals	7,312	Adult_Neurology	1 in 30 miles	92	79.5	7,312	100.0	0	0.0	3.8	4.3

Adult Neurology - Rural

January 23, 2023

Access Analysis

Adult_Neurology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Neurology (SE_RURAL)

			Members With a	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Neurology	1 in 45 miles	3	87.0	261	100.0	0	0.0	5.2	5.3
Bacon, GA	129	Adult_Neurology	1 in 45 miles	2	64.5	129	100.0	0	0.0	3.6	3.7
Brantley, GA	210	Adult_Neurology	1 in 45 miles	0		210	100.0	0	0.0	25.5	25.6
Bryan, GA	517	Adult_Neurology	1 in 45 miles	4	129.3	517	100.0	0	0.0	12.1	14.5
Camden, GA	591	Adult_Neurology	1 in 45 miles	8	73.9	591	100.0	0	0.0	6.3	6.3
Candler, GA	244	Adult_Neurology	1 in 45 miles	0		244	100.0	0	0.0	23.2	28.6
Charlton, GA	114	Adult_Neurology	1 in 45 miles	0		101	88.6	13	11.4	29.3	29.3
Evans, GA	191	Adult_Neurology	1 in 45 miles	1	191.0			0	0.0	3.8	27.2
Jeff Davis, GA	239	Adult_Neurology	1 in 45 miles	1	239.0	239	100.0	0	0.0	4.5	19.0
Liberty, GA	1,193	Adult_Neurology	1 in 45 miles	5	238.6	1,193	100.0	0	0.0	3.4	3.9
Long, GA	246	Adult_Neurology	1 in 45 miles	0		246	100.0	0	0.0	8.2	10.6
McIntosh, GA	183	Adult_Neurology	1 in 45 miles	1	183.0	183	100.0	0	0.0	7.7	31.2
Montgomery, GA	125	Adult_Neurology	1 in 45 miles	0		125	100.0	0	0.0	13.2	13.8
Pierce, GA	287	Adult_Neurology	1 in 45 miles	0		287	100.0	0	0.0	11.1	11.1
Screven, GA	311	Adult_Neurology	1 in 45 miles	2	155.5	311	100.0	0	0.0	8.3	8.3
Tattnall, GA	446	Adult_Neurology	1 in 45 miles	1	446.0	446	100.0	0	0.0	17.1	21.1
Toombs, GA	564	Adult_Neurology	1 in 45 miles	3	188.0	564	100.0	0	0.0	4.3	5.2
Ware, GA	698	Adult_Neurology	1 in 45 miles	5	139.6	698	100.0	0	0.0	4.0	4.3
Wayne, GA	674	Adult_Neurology	1 in 45 miles	7	96.3	674	100.0	0	0.0	7.7	7.9
Grand Totals	7,223	Adult_Neurology	1 in 45 miles	43	168.0	7,210	99.8	13	0.2	8.4	11.0

Adult Ophthalmology - Urban

January 23, 2023

Access Analysis

Adult_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Ophthalmology	1 in 30 miles	13	96.6	1,256			0.0	5.0	5.3
Chatham, GA	4,198	Adult_Ophthalmology	1 in 30 miles	28	149.9	4,198	100.0	0	0.0	3.5	4.0
Effingham, GA		Adult_Ophthalmology	1 in 30 miles	1	780.0		100.0			9.2	14.1
Glynn, GA	1,078	Adult_Ophthalmology	1 in 30 miles	8	134.8	1,078	100.0	0	0.0	4.5	4.7
Grand Totals	7,312	Adult_Ophthalmology	1 in 30 miles	50	146.2	7,312	100.0	0	0.0	4.5	5.4

Adult Ophthalmology - Rural

January 23, 2023

Access Analysis

Adult_Ophthalmology - Rural

Member / Provider Groups

Adult Rural Members (SE_RURAL)

Adult_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Ophthalmology	1 in 45 miles	1	261.0	261	100.0	0	0.0	5.4	28.2
Bacon, GA	129	Adult_Ophthalmology	1 in 45 miles	0		129	100.0	0	0.0	19.9	23.8
Brantley, GA	210	Adult_Ophthalmology	1 in 45 miles	0		210	100.0	0	0.0	21.1	21.1
Bryan, GA	517	Adult_Ophthalmology	1 in 45 miles	2	258.5	517		0	0.0	7.4	15.4
Camden, GA	591	Adult_Ophthalmology	1 in 45 miles	2	295.5	591	100.0	0	0.0	6.1	6.1
Candler, GA	244	Adult_Ophthalmology	1 in 45 miles	0		244	100.0	0	0.0	18.1	18.2
Charlton, GA	114	Adult_Ophthalmology	1 in 45 miles	0		114	100.0	0	0.0	27.0	27.0
Evans, GA	191	Adult_Ophthalmology	1 in 45 miles	0		191	100.0	0	0.0	16.5	17.4
Jeff Davis, GA	239	Adult_Ophthalmology	1 in 45 miles	0				0	0.0	18.6	30.2
Liberty, GA	1,193	Adult_Ophthalmology	1 in 45 miles	4	298.3	1,193	100.0	0	0.0	3.8	4.3
Long, GA	246	Adult_Ophthalmology	1 in 45 miles	0		246	100.0	0	0.0	10.2	10.2
McIntosh, GA	183	Adult_Ophthalmology	1 in 45 miles	0		183	100.0	0	0.0	21.0	22.3
Montgomery, GA	125	Adult_Ophthalmology	1 in 45 miles	0		125	100.0	0	0.0	13.5	13.7
Pierce, GA	287	Adult_Ophthalmology	1 in 45 miles	0		287	100.0	0	0.0	10.8	10.8
Screven, GA	311	Adult_Ophthalmology	1 in 45 miles	0		311	100.0	0	0.0	25.1	25.5
Tattnall, GA	446	Adult_Ophthalmology	1 in 45 miles	3	148.7	446	100.0	0	0.0	11.5	11.6
Toombs, GA	564	Adult_Ophthalmology	1 in 45 miles	3	188.0	564	100.0	0	0.0	4.9	5.4
Ware, GA	698	Adult_Ophthalmology	1 in 45 miles	10	69.8	698	100.0	0	0.0	3.8	4.1
Wayne, GA	674	Adult_Ophthalmology	1 in 45 miles	3	224.7	674	100.0	0	0.0	7.8	7.8
Grand Totals	7,223	Adult_Ophthalmology	1 in 45 miles	28	258.0	7,223	100.0	0	0.0	9.7	11.8

Adult Orthopedics - Urban

January 23, 2023

Access Analysis
Adult_Orhopedics- Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Orthopedics

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	Adult_Orthopedics	1 in 30 miles	38	33.1	1,256	100.0	0	0.0	3.6	4.5
Chatham, GA		Adult_Orthopedics	1 in 30 miles	249		4,198	100.0	0			
Effingham, GA		Adult_Orthopedics	1 in 30 miles	72			100.0				
Glynn, GA	1,078	Adult_Orthopedics	1 in 30 miles	54	20.0	1,078	100.0	0	0.0	3.0	3.0
Grand Totals	7,312	Adult_Orthopedics	1 in 30 miles	413	17.7	7,312	100.0	0	0.0	3.0	3.5
© 2023 Quest Analytics, LLC.											

Adult Orthopedics - Rural

January 23, 2023

Access Analysis
Adult_Orhopedics- Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Orthopedics

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Orthopedics	1 in 45 miles	37	7.1	261	100.0	0	0.0	4.2	5.1
Bacon, GA	129	Adult_Orthopedics	1 in 45 miles	24	5.4	129	100.0	0	0.0	3.2	3.4
Brantley, GA	210	Adult_Orthopedics	1 in 45 miles	0		210	100.0	0	0.0	19.1	19.4
Bryan, GA	517	Adult_Orthopedics	1 in 45 miles	41	12.6			0	0.0	9.1	9.8
Camden, GA	591	Adult_Orthopedics	1 in 45 miles	5	118.2	591	100.0	0	0.0	6.0	6.1
Candler, GA	244	Adult_Orthopedics	1 in 45 miles	25	9.8	244	100.0	0	0.0	3.4	3.4
Charlton, GA	114	Adult_Orthopedics	1 in 45 miles	0		114	100.0	0	0.0	26.1	26.2
Evans, GA	191	Adult_Orthopedics	1 in 45 miles	54	3.5	191	100.0	0	0.0	3.8	3.8
Jeff Davis, GA	239	Adult_Orthopedics	1 in 45 miles	9	26.6		100.0	0	0.0	4.3	4.3
Liberty, GA	1,193	Adult_Orthopedics	1 in 45 miles	66	18.1	1,193	100.0	0	0.0	2.1	2.6
Long, GA	246	Adult_Orthopedics	1 in 45 miles	1	246.0	246	100.0	0	0.0	5.8	7.5
McIntosh, GA	183	Adult_Orthopedics	1 in 45 miles	30	6.1	183	100.0	0	0.0	5.8	6.3
Montgomery, GA	125	Adult_Orthopedics	1 in 45 miles	0		125	100.0	0	0.0	9.1	9.2
Pierce, GA	287	Adult_Orthopedics	1 in 45 miles	2	143.5	287	100.0	0	0.0	5.4	5.4
Screven, GA	311	Adult_Orthopedics	1 in 45 miles	56	5.6	311	100.0	0	0.0	7.9	8.1
Tattnall, GA	446	Adult_Orthopedics	1 in 45 miles	51	8.7	446	100.0	0	0.0	4.9	9.9
Toombs, GA	564	Adult_Orthopedics	1 in 45 miles	53	10.6	564	100.0	0	0.0	3.7	3.7
Ware, GA	698	Adult_Orthopedics	1 in 45 miles	53	13.2	698	100.0	0	0.0	3.4	3.5
Wayne, GA	674	Adult_Orthopedics	1 in 45 miles	32	21.1	674	100.0	0	0.0	6.9	7.1
Grand Totals	7,223	Adult_Orthopedics	1 in 45 miles	539	13.4	7,223	100.0	0	0.0	5.6	6.2

Adult Optometry - Urban

January 23, 2023

Access Analysis
Adult_Optometry - Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Optometry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	Adult_Optometry	1 in 30 miles	8	157.0		100.0	0	0.0	5.2	6.0
Chatham, GA		Adult_Optometry	1 in 30 miles	29	144.8	4,198	100.0	0	0.0	3.4	
Effingham, GA	780	Adult_Optometry	1 in 30 miles	8	97.5		100.0		0.0	8.1	
Glynn, GA	1,078	Adult_Optometry	1 in 30 miles	14	77.0	1,078	100.0	0	0.0	3.6	3.7
Grand Totals	7,312	Adult_Optometry	1 in 30 miles	59	123.9	7,312	100.0	0	0.0	4.2	4.6
@ 2023 Ouget Anglytics III C											

Adult Optometry - Rural

January 23, 2023

Access Analysis
Adult_Optometry - Rural

Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Optometry	1 in 45 miles	0		261	100.0	0	0.0	28.8	30.7
Bacon, GA	129	Adult_Optometry	1 in 45 miles	0		129		0	0.0	23.4	24.2
Brantley, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	19.9	19.9
Bryan, GA	517	Adult_Optometry	1 in 45 miles	2	258.5	517		0	0.0	7.4	15.0
Camden, GA	591	Adult_Optometry	1 in 45 miles	9	65.7	591	100.0	0	0.0	5.7	6.0
Candler, GA	244	Adult_Optometry	1 in 45 miles	0		244	100.0	0	0.0	18.7	19.7
Charlton, GA		Adult_Optometry	1 in 45 miles	0		103	90.4	11	9.6	28.7	28.7
Evans, GA	191	Adult_Optometry	1 in 45 miles	0		191	100.0	0	0.0	16.6	17.6
Jeff Davis, GA	239	Adult_Optometry	1 in 45 miles	0		239	100.0	0	0.0	28.3	31.1
Liberty, GA	1,193	Adult_Optometry	1 in 45 miles	4	298.3	1,193	100.0	0	0.0	3.8	4.3
Long, GA	246	Adult_Optometry	1 in 45 miles	0		246	100.0	0	0.0	10.3	10.3
McIntosh, GA	183	Adult_Optometry	1 in 45 miles	0		183	100.0	0	0.0	20.2	21.3
Montgomery, GA	125	Adult_Optometry	1 in 45 miles	0		125	100.0	0	0.0	13.7	26.2
Pierce, GA	287	Adult_Optometry	1 in 45 miles	0		287	100.0	0	0.0	10.9	12.3
Screven, GA	311	Adult_Optometry	1 in 45 miles	0		311	100.0	0	0.0	25.0	25.1
Tattnall, GA	446	Adult_Optometry	1 in 45 miles	2	223.0	446	100.0	0	0.0	11.6	13.5
Toombs, GA	564	Adult_Optometry	1 in 45 miles	1	564.0	564	100.0	0	0.0	5.4	34.5
Ware, GA	698	Adult_Optometry	1 in 45 miles	10	69.8	698	100.0	0	0.0	4.1	4.7
Wayne, GA	674	Adult_Optometry	1 in 45 miles	0		674	100.0	0	0.0	22.7	22.8
Grand Totals	7,223	Adult_Optometry	1 in 45 miles	28	258.0	7,212	99.8	11	0.2	12.4	16.0

Adult Urology - Urban

January 23, 2023

Access Analysis
Adult_Urology- Urban

Member / Provider Groups
Adult Urban Members (SE_URBAN)
Adult_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	Adult_Urology	1 in 30 miles	5	251.2		100.0	0	0.0	5.5	5.8
Chatham, GA		Adult_Urology	1 in 30 miles	10		4,198	100.0	0	0.0	6.1	
Effingham, GA		Adult_Urology	1 in 30 miles	1			100.0		0.0	10.2	
Glynn, GA	1,078	Adult_Urology	1 in 30 miles	5	215.6	1,078	100.0	0	0.0	4.6	4.7
Grand Totals	7,312	Adult_Urology	1 in 30 miles	21	348.2	7,312	100.0	0	0.0	6.2	8.5
© 2023 Quaet Analytics II C											

Adult Urology - Rural

January 23, 2023

Access Analysis
Adult_Urology- Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Urology

			Members With a	nd With	out Access						
	Member	Pı	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Urology	1 in 45 miles	0		261	100.0	0	0.0	20.5	29.1
Bacon, GA	129	Adult_Urology	1 in 45 miles	1	129.0			0	0.0	3.7	23.9
Brantley, GA	210	Adult_Urology	1 in 45 miles	0		210	100.0	0	0.0	21.2	26.0
Bryan, GA	517	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	18.3	21.1
Camden, GA	591	Adult_Urology	1 in 45 miles	4	147.8	591	100.0	0	0.0	6.1	6.1
Candler, GA	244	Adult_Urology	1 in 45 miles	0		244	100.0	0	0.0	18.1	18.1
Charlton, GA	114	Adult_Urology	1 in 45 miles	0		114	100.0	0	0.0	26.7	26.8
Evans, GA	191	Adult_Urology	1 in 45 miles	1	191.0	191	100.0	0	0.0	3.9	22.1
Jeff Davis, GA	239	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	26.2	30.5
Liberty, GA	1,193	Adult_Urology	1 in 45 miles	0			100.0		0.0	29.5	35.1
Long, GA	246	Adult_Urology	1 in 45 miles	0		246	100.0	0	0.0	20.7	33.3
McIntosh, GA	183	Adult_Urology	1 in 45 miles	0		183	100.0	0	0.0	23.0	23.1
Montgomery, GA	125	Adult_Urology	1 in 45 miles	0		125	100.0	0	0.0	13.8	13.8
Pierce, GA	287	Adult_Urology	1 in 45 miles	0		287	100.0	0	0.0	11.9	26.7
Screven, GA	311	Adult_Urology	1 in 45 miles	0		311	100.0	0	0.0	26.6	27.0
Tattnall, GA	446	Adult_Urology	1 in 45 miles	0		446	100.0	0	0.0	17.7	22.4
Toombs, GA	564	Adult_Urology	1 in 45 miles	6	94.0	564	100.0	0	0.0	4.7	4.8
Ware, GA	698	Adult_Urology	1 in 45 miles	1	698.0	698	100.0	0	0.0	4.1	25.7
Wayne, GA	674	Adult_Urology	1 in 45 miles	1	674.0	674	100.0	0	0.0	7.8	32.7
Grand Totals	7,223	Adult_Urology	1 in 45 miles	14	515.9	7,223	100.0	0	0.0	15.8	24.1

Adult Vascular Surgery - Urban

January 23, 2023

Access Analysis

Adult_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members (SE_URBAN)

Adult_Vascular Surgery

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	1,256	Adult_Vascular Surgery	1 in 30 miles	9	139.6	1,256	100.0	0	0.0	5.1	5.1
Chatham, GA	4,198	Adult_Vascular Surgery	1 in 30 miles	47	89.3	4,198	100.0	0	0.0	3.1	
Effingham, GA		Adult_Vascular Surgery	1 in 30 miles	10			100.0		0.0	5.1	
Glynn, GA	1,078	Adult_Vascular Surgery	1 in 30 miles	4	269.5	1,078	100.0	0	0.0	4.5	4.6
Grand Totals	7,312	Adult_Vascular Surgery	1 in 30 miles	70	104.5	7,312	100.0	0	0.0	3.8	4.4
© 2023 Quest Analytics LLC											

Adult Vascular Surgery - Rural

January 23, 2023

Access Analysis
Adult_Vascular Surgery- Rural
Member / Provider Groups
Adult Rural Members (SE_RURAL)
Adult_Vascular Surgery

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	261	Adult_Vascular Surgery	1 in 45 miles	0		261	100.0	0	0.0	28.5	29.8
Bacon, GA	129	Adult_Vascular Surgery	1 in 45 miles	0		129	100.0	0	0.0	23.9	24.2
Brantley, GA	210	Adult_Vascular Surgery	1 in 45 miles	0		210	100.0	0	0.0	20.6	21.2
Bryan, GA	517	Adult_Vascular Surgery	1 in 45 miles	0		517	100.0	0	0.0	15.4	16.5
Camden, GA		Adult_Vascular Surgery	1 in 45 miles	0		591	100.0	0	0.0	30.0	30.0
Candler, GA	244	Adult_Vascular Surgery	1 in 45 miles	5	48.8	244	100.0	0	0.0	3.8	3.8
Charlton, GA	114	Adult_Vascular Surgery	1 in 45 miles	0		114	100.0	0	0.0	38.3	39.3
Evans, GA	191	Adult_Vascular Surgery	1 in 45 miles	0		191	100.0	0	0.0	21.2	21.2
Jeff Davis, GA	239	Adult_Vascular Surgery	1 in 45 miles	0		239	100.0	0	0.0	30.2	30.2
Liberty, GA	1,193	Adult_Vascular Surgery	1 in 45 miles	0		1,193	100.0	0	0.0	28.5	32.8
Long, GA	246	Adult_Vascular Surgery	1 in 45 miles	0		246	100.0	0	0.0	20.8	41.2
McIntosh, GA	183	Adult_Vascular Surgery	1 in 45 miles	0		183	100.0		0.0	20.9	20.9
Montgomery, GA	125	Adult_Vascular Surgery	1 in 45 miles	0		125	100.0	0	0.0	13.6	13.7
Pierce, GA	287	Adult_Vascular Surgery	1 in 45 miles	0		287	100.0	0	0.0	11.5	12.6
Screven, GA	311	Adult_Vascular Surgery	1 in 45 miles	0		311	100.0	0	0.0	25.0	25.0
Tattnall, GA	446	Adult_Vascular Surgery	1 in 45 miles	0		446	100.0	0	0.0	21.7	27.5
Toombs, GA	564	Adult_Vascular Surgery	1 in 45 miles	2	282.0	564	100.0	0	0.0	5.3	5.4
Ware, GA	698	Adult_Vascular Surgery	1 in 45 miles	2	349.0	698	100.0	0	0.0	3.9	5.1
Wayne, GA		Adult_Vascular Surgery	1 in 45 miles	1	674.0	674	100.0	0	0.0	7.8	43.0
Grand Totals	7,223	Adult_Vascular Surgery	1 in 45 miles	10	722.3	7,223	100.0	0	0.0	18.5	23.9

Audiology- Urban

January 23, 2023

Access Analysis Audiology- Urban Member / Provider Groups Urban Members (SE_URBAN) Audiology

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Audiology	1 in 30 miles	3	1,681.7	5,045	100.0	0	0.0	5.6	6.0
Chatham, GA		Audiology	1 in 30 miles	14		15,914	100.0		0.0		
Effingham, GA		Audiology	1 in 30 miles	0		3,035					
Glynn, GA	4,872	Audiology	1 in 30 miles	1	4,872.0	4,872	100.0	0	0.0	4.8	44.7
Grand Totals	28,882	Audiology	1 in 30 miles	18	1,604.6	28,866	99.9	16	0.1	6.2	15.1
© 2023 Quest Analytics, LLC.			-1				<u> </u>				

Audiology - Rural

January 23, 2023

Access Analysis Audiology- Rural Member / Provider Groups Rural Members (SE_RURAL) Audiology

			Members With a	nd With	out Access						
	Member	Pi	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Audiology	1 in 45 miles	0		1,253	99.1	11	0.9	33.8	38.6
Bacon, GA	542	Audiology	1 in 45 miles	0		542	100.0	0	0.0	26.1	27.5
Brantley, GA	892	Audiology	1 in 45 miles	0		892	100.0	0	0.0	20.5	24.1
Bryan, GA	2,020	Audiology	1 in 45 miles	0		2,020	100.0	0	0.0	16.1	20.7
Camden, GA	2,521	Audiology	1 in 45 miles	0		2,521	100.0	0	0.0	30.0	33.5
Candler, GA	1,008	Audiology	1 in 45 miles	0		1,008	100.0	0	0.0	18.8	19.0
Charlton, GA	526	Audiology	1 in 45 miles	0		526			0.0	38.0	38.3
Evans, GA	884	Audiology	1 in 45 miles	0		884	100.0	0	0.0	23.8	24.0
Jeff Davis, GA	1,073	Audiology	1 in 45 miles	0		106	9.9	967	90.1	49.2	49.6
Liberty, GA	4,821	Audiology	1 in 45 miles	2	2,410.5	4,821	100.0	0	0.0	4.7	4.7
Long, GA	1,122	Audiology	1 in 45 miles	0		1,122	100.0	0	0.0	11.8	12.0
McIntosh, GA		Audiology	1 in 45 miles	0		726	100.0	0	0.0	22.6	32.4
Montgomery, GA	481	Audiology	1 in 45 miles	0		29	6.0	452	94.0	53.0	53.5
Pierce, GA	1,249	Audiology	1 in 45 miles	0		1,249	100.0	0	0.0	11.8	12.2
Screven, GA		Audiology	1 in 45 miles	0		1,276			0.0	25.4	25.5
Tattnall, GA		Audiology	1 in 45 miles	0		2,023		0	0.0	30.2	30.5
Toombs, GA		Audiology	1 in 45 miles	0		1,429			38.1	44.1	44.2
Ware, GA		Audiology	1 in 45 miles	4	719.3	2,877	100.0		0.0	3.9	4.7
Wayne, GA		Audiology	1 in 45 miles	1	2,834.0	2,834			0.0	8.1	29.4
Grand Totals	30,449	Audiology	1 in 45 miles	7	4,349.9	28,138	92.4	2,311	7.6	20.3	23.6

Behavioral Health - Urban

January 23, 2023

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Behavioral Health	1 in 30 miles	64		5,045					
Chatham, GA		Behavioral Health	1 in 30 miles	484		15,914	100.0	0			
Effingham, GA		Behavioral Health	1 in 30 miles	37		3,051	100.0	0			
Glynn, GA	4,872	Behavioral Health	1 in 30 miles	90	54.1	4,872	100.0	0	0.0	1.4	2.0
Grand Totals	28,882	Behavioral Health	1 in 30 miles	675	42.8	28,882	100.0	0	0.0	1.9	2.6

Behavioral Health - Rural

January 23, 2023

Access Analysis Behavioral Health- Rural Member / Provider Groups Rural Members (SE_RURAL) Behavioral Health

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Behavioral Health	1 in 45 miles	14	90.3	1,264	100.0	0	0.0	3.7	4.4
Bacon, GA	542	Behavioral Health	1 in 45 miles	35	15.5	542	100.0	0	0.0	2.1	2.8
Brantley, GA	892	Behavioral Health	1 in 45 miles	6	148.7	892	100.0	0	0.0	7.0	7.9
Bryan, GA	2,020	Behavioral Health	1 in 45 miles	39	51.8		100.0	0	0.0	4.1	8.0
Camden, GA	2,521	Behavioral Health	1 in 45 miles	89	28.3	2,521	100.0	0	0.0	1.9	2.4
Candler, GA	1,008	Behavioral Health	1 in 45 miles	4	252.0	1,008	100.0	0	0.0	3.0	3.8
Charlton, GA	526	Behavioral Health	1 in 45 miles	6	87.7	526	100.0	0	0.0	6.6	7.0
Evans, GA	884	Behavioral Health	1 in 45 miles	6	147.3	884	100.0	0	0.0	3.8	4.4
Jeff Davis, GA	1,073	Behavioral Health	1 in 45 miles	6	178.8	1,073	100.0	0	0.0	3.2	3.8
Liberty, GA	4,821	Behavioral Health	1 in 45 miles	57	84.6	4,821	100.0	0	0.0	1.6	1.9
Long, GA	1,122	Behavioral Health	1 in 45 miles	11	102.0	1,122	100.0	0	0.0	2.3	3.6
McIntosh, GA	726	Behavioral Health	1 in 45 miles	3	242.0	726	100.0	0	0.0	3.5	7.6
Montgomery, GA	481	Behavioral Health	1 in 45 miles	0		481	100.0	0	0.0	10.8	12.1
Pierce, GA	1,249	Behavioral Health	1 in 45 miles	17	73.5	1,249	100.0	0	0.0	3.6	4.5
Screven, GA	1,276	Behavioral Health	1 in 45 miles	3	425.3	1,276	100.0	0	0.0	5.3	7.5
Tattnall, GA	2,023	Behavioral Health	1 in 45 miles	2	1,011.5	2,023	100.0	0	0.0	7.8	11.9
Toombs, GA		Behavioral Health	1 in 45 miles	13	177.7	2,310	100.0	0	0.0	4.7	5.0
Ware, GA	2,877	Behavioral Health	1 in 45 miles	56	51.4	2,877	100.0	0	0.0	2.3	2.8
Wayne, GA	2,834	Behavioral Health	1 in 45 miles	16	177.1		100.0	0	0.0	5.2	5.9
Grand Totals	30,449	Behavioral Health	1 in 45 miles	383	79.5	30,449	100.0	0	0.0	3.8	5.0
	L										

Behavioral Health Facilities - Urban

January 23, 2023

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SE_URBAN)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Behavioral Health Fac	1 in 30 miles	7	720.7	5,045		0			
Chatham, GA		Behavioral Health Fac	1 in 30 miles	129	123.4	15,914	100.0	0			2.7
Effingham, GA			1 in 30 miles	4		3,051	100.0	0			7.1
Glynn, GA	4,872	Behavioral Health Fac	1 in 30 miles	16	304.5	4,872	100.0	0	0.0	2.0	2.6
Grand Totals	28,882	Behavioral Health Fac	1 in 30 miles	156	185.1	28,882	100.0	0	0.0	2.9	3.7

Behavioral Health Facilities - Rural

January 23, 2023

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SE_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Behavioral Health Fac	1 in 45 miles	3	421.3	1,264	100.0	0	0.0	4.0	6.8
Bacon, GA	542	Behavioral Health Fac	1 in 45 miles	16	33.9	542	100.0	0	0.0	2.7	3.1
Brantley, GA	892	Behavioral Health Fac	1 in 45 miles	1	892.0	892	100.0	0	0.0	8.8	14.8
Bryan, GA	2,020	Behavioral Health Fac	1 in 45 miles	18	112.2	2,020	100.0	0	0.0	4.7	9.4
Camden, GA	2,521	Behavioral Health Fac	1 in 45 miles	10	252.1	2,521	100.0	0	0.0	5.1	6.8
Candler, GA	1,008	Behavioral Health Fac	1 in 45 miles	1	1,008.0	1,008	100.0	0	0.0	5.3	15.1
Charlton, GA	526	Behavioral Health Fac	1 in 45 miles	3	175.3	526	100.0	0	0.0	7.2	8.2
Evans, GA	884	Behavioral Health Fac	1 in 45 miles	3	294.7	884	100.0	0	0.0	3.8	4.4
Jeff Davis, GA	1,073	Behavioral Health Fac	1 in 45 miles	1	1,073.0	1,073	100.0	0	0.0	5.9	
Liberty, GA	4,821	Behavioral Health Fac	1 in 45 miles	6	803.5		100.0	0	0.0	2.7	3.9
Long, GA	1,122	Behavioral Health Fac	1 in 45 miles	2	561.0		100.0	0	0.0	3.9	
McIntosh, GA		Behavioral Health Fac	1 in 45 miles	1	726.0	726	100.0	0	0.0	7.0	13.2
Montgomery, GA	481	Behavioral Health Fac	1 in 45 miles	0		481	100.0	0	0.0	12.4	21.7
Pierce, GA	1,249	Behavioral Health Fac	1 in 45 miles	4	312.3		100.0	0	0.0	3.8	
Screven, GA	1,276	Behavioral Health Fac	1 in 45 miles	1	1,276.0		100.0	0	0.0	5.5	
Tattnall, GA		Behavioral Health Fac	1 in 45 miles	1	2,023.0		100.0	0	0.0	9.8	
Toombs, GA		Behavioral Health Fac	1 in 45 miles	1	2,310.0		100.0	0	0.0	5.5	
Ware, GA		Behavioral Health Fac	1 in 45 miles	19			100.0	0	0.0	2.8	
Wayne, GA	2,834	Behavioral Health Fac	1 in 45 miles	2			100.0	0	0.0	6.2	8.3
Grand Totals	30,449	Behavioral Health Fac	1 in 45 miles	93	327.4	30,449	100.0	0	0.0	5.1	9.7

Dental - Urban

January 23, 2023

Access Analysis

Dental- Urban

Member / Provider Groups
Urban Members (SE_URBAN)
Dental

				Members With a	nd With	out Access						
	Member		Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#		Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Dental		1 in 30 miles	7	720.7	5,045	100.0	0	0.0	4.8	4.9
Chatham, GA	15,914			1 in 30 miles	38 9	418.8	15,914	100.0	0	0.0	3.0	4.5
Effingham, GA	3,051	Dental		1 in 30 miles	9	339.0		100.0				
Glynn, GA	4,872	Dental		1 in 30 miles	11	442.9	4,872	100.0	0	0.0	3.3	3.9
Grand Totals	28,882	Dental		1 in 30 miles	65	444.3	28,882	100.0	0	0.0	3.6	4.6
© 2023 Quest Analytics, LLC.												

Dental - Rural

January 23, 2023

Access Analysis
Dental- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Dental

			Members With a	nd With	out Access						
	Member	Pi	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Dental	1 in 45 miles	0		1,264	100.0	0	0.0	20.5	31.0
Bacon, GA	542	Dental	1 in 45 miles	1	542.0	542	100.0	0	0.0	3.6	23.2
Brantley, GA	892	Dental	1 in 45 miles	1	892.0	892	100.0	0	0.0	8.2	19.7
Bryan, GA	2,020	Dental	1 in 45 miles	5	404.0		100.0	0	0.0	5.6	
Camden, GA	2,521	Dental	1 in 45 miles	4	630.3	2,521	100.0	0	0.0	6.3	15.4
Candler, GA	1,008	Dental	1 in 45 miles	0		1,008	100.0	0	0.0	17.5	17.5
Charlton, GA	526	Dental	1 in 45 miles	1	526.0	526	100.0	0	0.0	7.6	26.3
Evans, GA	884	Dental	1 in 45 miles	7	126.3		100.0	0	0.0	3.8	3.8
Jeff Davis, GA	1,073	Dental	1 in 45 miles	0		1,073	100.0	0	0.0	25.6	29.9
Liberty, GA	4,821	Dental	1 in 45 miles	15	321.4	4,821	100.0	0	0.0	3.6	4.1
Long, GA	1,122	Dental	1 in 45 miles	1	1,122.0	1,122	100.0	0	0.0	5.4	11.0
McIntosh, GA	726	Dental	1 in 45 miles	1	726.0	726	100.0	0	0.0	7.6	19.4
Montgomery, GA	481	Dental	1 in 45 miles	0		481	100.0	0	0.0	18.7	26.5
Pierce, GA	1,249	Dental	1 in 45 miles	0		1,249	100.0	0	0.0	11.0	11.9
Screven, GA	1,276	Dental	1 in 45 miles	0		1,276	100.0	0	0.0	25.1	25.2
Tattnall, GA	2,023	Dental	1 in 45 miles	1	2,023.0	2,023	100.0	0	0.0	11.2	17.8
Toombs, GA	2,310	Dental	1 in 45 miles	0		2,310	100.0	0	0.0	22.6	26.6
Ware, GA	2,877	Dental	1 in 45 miles	2	1,438.5	2,877	100.0	0	0.0	4.1	4.2
Wayne, GA	2,834	Dental	1 in 45 miles	1	2,834.0	2,834	100.0	0	0.0	6.8	16.0
Grand Totals	30,449	Dental	1 in 45 miles	40	761.2	30,449	100.0	0	0.0	10.0	15.0

Dental Subspeciality - Urban

January 23, 2023

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (SE_URBAN)

Dental Subspecialty

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Dental Subspecialty	1 in 30 miles	3	1,681.7		100.0		0.0	6.2	6.2
Chatham, GA		Dental Subspecialty	1 in 30 miles	3		15,914			0.0	6.9	
Effingham, GA		Dental Subspecialty	1 in 30 miles	0		2,968			2.7	25.2	
Glynn, GA	4,872	Dental Subspecialty	1 in 30 miles	2	2,436.0	4,872	100.0	0	0.0	4.4	4.9
Grand Totals	28,882	Dental Subspecialty	1 in 30 miles	8	3,610.3	28,799	99.7	83	0.3	8.3	9.4

Dental Subspeciality - Rural

January 23, 2023

Access Analysis

Dental Subspeciality- Rural

Member / Provider Groups

Rural Members (SE_RURAL)

Dental Subspecialty

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Dental Subspecialty	1 in 45 miles	0		1,264	100.0	0	0.0	38.1	41.8
Bacon, GA	542	Dental Subspecialty	1 in 45 miles	0		542	100.0	0	0.0	23.6	27.5
Brantley, GA	892	Dental Subspecialty	1 in 45 miles	0		892	100.0	0	0.0	20.7	27.6
Bryan, GA	2,020	Dental Subspecialty	1 in 45 miles	0			100.0		0.0	18.6	21.5
Camden, GA	2,521	Dental Subspecialty	1 in 45 miles	0		2,521	100.0	0	0.0	33.4	33.5
Candler, GA	1,008	Dental Subspecialty	1 in 45 miles	0		1,008	100.0	0	0.0	17.7	17.7
Charlton, GA		Dental Subspecialty	1 in 45 miles	0		438	83.3	88	16.7	43.3	52.9
Evans, GA	884	Dental Subspecialty	1 in 45 miles	1	884.0	884	100.0	0	0.0	3.8	22.4
Jeff Davis, GA	1,073	Dental Subspecialty	1 in 45 miles	0		1,073	100.0	0	0.0	34.9	49.1
Liberty, GA	4,821	Dental Subspecialty	1 in 45 miles	1	4,821.0	4,821	100.0	0	0.0	7.1	35.2
Long, GA	1,122	Dental Subspecialty	1 in 45 miles	0		1,122	100.0	0	0.0	15.3	33.7
McIntosh, GA	726	Dental Subspecialty	1 in 45 miles	0		726	100.0	0	0.0	19.8	20.5
Montgomery, GA	481	Dental Subspecialty	1 in 45 miles	0		481	100.0	0	0.0	36.2	37.7
Pierce, GA	1,249	Dental Subspecialty	1 in 45 miles	0		1,249	100.0	0	0.0	12.4	41.7
Screven, GA	1,276	Dental Subspecialty	1 in 45 miles	0		1,276	100.0	0	0.0	27.3	27.3
Tattnall, GA	2,023	Dental Subspecialty	1 in 45 miles	0		2,023	100.0	0	0.0	18.2	31.7
Toombs, GA	2,310	Dental Subspecialty	1 in 45 miles	0		2,310	100.0	0	0.0	26.8	28.7
Ware, GA	2,877	Dental Subspecialty	1 in 45 miles	1	2,877.0	2,877	100.0	0	0.0	4.1	41.8
Wayne, GA	2,834	Dental Subspecialty	1 in 45 miles	0		2,834	100.0	0	0.0	31.0	36.1
Grand Totals	30,449	Dental Subspecialty	1 in 45 miles	3	10,149.7	30,361	99.7	88	0.3	20.2	33.4

Dialysis - Urban

January 23, 2023

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members (SE_URBAN)
Dialysis

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		Dialysis	1 in 30 miles	2	2,522.5		100.0		0.0	6.0	6.5	
Chatham, GA		Dialysis	1 in 30 miles	8	1,989.3	15,914			0.0	3.0		
Effingham, GA		Dialysis	1 in 30 miles	1	3,051.0		100.0					
Glynn, GA	4,872	Dialysis	1 in 30 miles	3	1,624.0	4,872	100.0	0	0.0	3.6	5.1	
Grand Totals	28,882	Dialysis	1 in 30 miles	14	2,063.0	28,882	100.0	0	0.0	4.2	6.3	

Dialysis - Rural

January 23, 2023

Access Analysis
Dialysis- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Dialysis

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Dialysis	1 in 45 miles	1	1,264.0	1,264	100.0	0	0.0	5.5	28.8
Bacon, GA	542	Dialysis	1 in 45 miles	0		542	100.0	0	0.0	19.8	24.1
Brantley, GA	892	Dialysis	1 in 45 miles	0		892	100.0	0	0.0	20.9	21.6
Bryan, GA	2,020	Dialysis	1 in 45 miles	0			100.0	0	0.0	12.5	16.6
Camden, GA	2,521	Dialysis	1 in 45 miles	2	1,260.5	2,521	100.0	0	0.0	5.0	8.1
Candler, GA	1,008	Dialysis	1 in 45 miles	1	1,008.0	1,008	100.0	0	0.0	3.9	18.0
Charlton, GA	526	Dialysis	1 in 45 miles	0		474	90.1	52	9.9	28.7	31.4
Evans, GA	884	Dialysis	1 in 45 miles	1	884.0	884	100.0	0	0.0	3.8	21.0
Jeff Davis, GA	1,073	Dialysis	1 in 45 miles	0		1,073	100.0	0	0.0	19.0	30.6
Liberty, GA	4,821	Dialysis	1 in 45 miles	2	2,410.5	4,821	100.0	0	0.0	3.9	6.1
Long, GA	1,122	Dialysis	1 in 45 miles	0		1,122	100.0	0	0.0	8.0	11.6
McIntosh, GA	726	Dialysis	1 in 45 miles	1	726.0	726	100.0	0	0.0	7.8	20.5
Montgomery, GA	481	Dialysis	1 in 45 miles	0		481	100.0	0	0.0	13.5	13.8
Pierce, GA	1,249	Dialysis	1 in 45 miles	0		1,249	100.0	0	0.0	11.8	12.8
Screven, GA	1,276	Dialysis	1 in 45 miles	0		1,276		0	0.0	27.3	27.6
Tattnall, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0	16.7	21.7
Toombs, GA		Dialysis	1 in 45 miles	9	256.7		100.0	0	0.0	4.8	5.3
Ware, GA		Dialysis	1 in 45 miles	2	1,438.5	2,877	100.0	0	0.0	3.9	4.4
Wayne, GA		Dialysis	1 in 45 miles	2	1,417.0		100.0	0	0.0	7.8	8.1
Grand Totals	30,449	Dialysis	1 in 45 miles	21	1,450.0	30,397	99.8	52	0.2	9.4	13.6

DME - Urban

January 23, 2023

Access Analysis DME- Urban

Member / Provider Groups
Urban Members (SE_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	5,045	DME	1 in 30 miles	20	252.3	5,045	100.0	0	0.0	2.9	3.7	
Chatham, GA	15,914		1 in 30 miles	39		15,914	100.0	0	0.0			
Effingham, GA	3,051		1 in 30 miles	20			100.0					
Glynn, GA	4,872	DME	1 in 30 miles	22	221.5	4,872	100.0	0	0.0	3.1	3.8	
Grand Totals	28,882	DME	1 in 30 miles	101	286.0	28,882	100.0	0	0.0	3.2	4.1	
© 2023 Quest Analytics, LLC.												

DME - Rural

January 23, 2023

Access Analysis DME- Rural

Member / Provider Groups
Rural Members (SE_RURAL)
DME

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	DME	1 in 45 miles	23	55.0	1,264	100.0	0	0.0	2.7	3.2
Bacon, GA	542	DME	1 in 45 miles	19			100.0	0	0.0	1.4	2.0
Brantley, GA		DME	1 in 45 miles	17	52.5	892	100.0	0	0.0	5.7	6.1
Bryan, GA	2,020		1 in 45 miles	0			100.0	0	0.0	11.6	
Camden, GA	2,521	DME	1 in 45 miles	17	148.3	2,521	100.0	0	0.0	4.5	15.7
Candler, GA	1,008	DME	1 in 45 miles	20		1,008	100.0	0	0.0	1.8	3.1
Charlton, GA	526	DME	1 in 45 miles	17	30.9	526	100.0	0	0.0	5.2	6.0
Evans, GA	884	DME	1 in 45 miles	19	46.5		100.0	0	0.0	1.4	2.4
Jeff Davis, GA	1,073	DME	1 in 45 miles	21	51.1	1,073	100.0	0	0.0	1.5	2.0
Liberty, GA	4,821	DME	1 in 45 miles	18	267.8	4,821	100.0	0	0.0	2.5	3.1
Long, GA	1,122	DME	1 in 45 miles	20	56.1	1,122	100.0	0	0.0	1.2	1.9
McIntosh, GA	726	DME	1 in 45 miles	16	45.4	726	100.0	0	0.0	7.3	7.3
Montgomery, GA	481	DME	1 in 45 miles	1	481.0	481	100.0	0	0.0	8.1	8.8
Pierce, GA	1,249	DME	1 in 45 miles	17	73.5	1,249	100.0	0	0.0	5.6	6.5
Screven, GA	1,276	DME	1 in 45 miles	14	91.1	1,276	100.0	0	0.0	4.6	13.9
Tattnall, GA	2,023	DME	1 in 45 miles	18	112.4	2,023	100.0	0	0.0	5.8	7.4
Toombs, GA	2,310		1 in 45 miles	39	59.2	2,310	100.0	0	0.0	3.0	3.4
Ware, GA	2,877	DME	1 in 45 miles	26	110.7	2,877	100.0	0	0.0	3.0	3.1
Wayne, GA	2,834	DME	1 in 45 miles	22	128.8	2,834	100.0	0	0.0	3.5	4.0
Grand Totals	30,449	DME	1 in 45 miles	344	88.5	30,449	100.0	0	0.0	4.1	6.0
			1								

FQHCs AND RHCs - Urban

January 23, 2023

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
FQHCs and RHCs

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		FQHCs and RHCs	1 in 30 miles	1	5,045.0	5,045	100.0	0	0.0	5.9	17.5		
Chatham, GA		FQHCs and RHCs	1 in 30 miles	10		15,914							
Effingham, GA		FQHCs and RHCs	1 in 30 miles	3	1,017.0		100.0						
Glynn, GA	4,872	FQHCs and RHCs	1 in 30 miles	0		4,872	100.0	0	0.0	26.4	28.8		
Grand Totals	28,882	FQHCs and RHCs	1 in 30 miles	14	2,063.0	28,882	100.0	0	0.0	8.6	11.9		
© 2023 Ouget Analytics III C													

FQHCs AND RHCs - Rural

January 23, 2023

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
FQHCs and RHCs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	FQHCs and RHCs	1 in 45 miles	2	632.0	1,264	100.0	0	0.0	5.0	5.8
Bacon, GA	542	FQHCs and RHCs	1 in 45 miles	2	271.0	542	100.0	0	0.0	3.4	3.7
Brantley, GA	892	FQHCs and RHCs	1 in 45 miles	1	892.0	892	100.0	0	0.0	8.2	24.0
Bryan, GA	2,020	FQHCs and RHCs	1 in 45 miles	1	2,020.0		100.0		0.0	12.1	17.3
Camden, GA	2,521	FQHCs and RHCs	1 in 45 miles	1	2,521.0	2,521	100.0	0	0.0	5.8	24.1
Candler, GA	1,008	FQHCs and RHCs	1 in 45 miles	2	504.0	1,008	100.0	0	0.0	3.5	4.0
Charlton, GA	526	FQHCs and RHCs	1 in 45 miles	2	263.0	526	100.0	0	0.0	7.6	7.7
Evans, GA	884	FQHCs and RHCs	1 in 45 miles	1	884.0	884	100.0	0	0.0	3.8	15.4
Jeff Davis, GA	1,073	FQHCs and RHCs	1 in 45 miles	0			100.0	0	0.0	17.9	18.9
Liberty, GA	4,821	FQHCs and RHCs	1 in 45 miles	3	1,607.0	4,821	100.0	0	0.0	4.5	5.1
Long, GA	1,122	FQHCs and RHCs	1 in 45 miles	2	561.0	1,122	100.0	0	0.0	3.8	7.4
McIntosh, GA	726	FQHCs and RHCs	1 in 45 miles	2	363.0	726	100.0	0	0.0	9.0	15.4
Montgomery, GA	481	FQHCs and RHCs	1 in 45 miles	1	481.0	481	100.0	0	0.0	7.9	14.5
Pierce, GA	1,249	FQHCs and RHCs	1 in 45 miles	0		1,249	100.0	0	0.0	11.4	12.4
Screven, GA	1,276	FQHCs and RHCs	1 in 45 miles	1	1,276.0	1,276	100.0	0	0.0	7.7	26.6
Tattnall, GA	2,023	FQHCs and RHCs	1 in 45 miles	1	2,023.0	2,023	100.0	0	0.0	10.7	17.6
Toombs, GA	2,310	FQHCs and RHCs	1 in 45 miles	1	2,310.0	2,310	100.0	0	0.0	5.3	14.7
Ware, GA	2,877	FQHCs and RHCs	1 in 45 miles	2	1,438.5	2,877	100.0	0	0.0	3.7	4.4
Wayne, GA	2,834	FQHCs and RHCs	1 in 45 miles	1	2,834.0	2,834	100.0	0	0.0	6.9	16.1
Grand Totals	30,449	FQHCs and RHCs	1 in 45 miles	26	1,171.1	30,449	100.0	0	0.0	6.9	13.0

Home Health Infusion Services - Urban

January 23, 2023

Access Analysis
Home Health and Infusion Services-

Member / Provider Groups
Urban Members (SE_URBAN)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Home Health and Infu	1 in 30 miles	6	840.8		100.0		0.0	3.7	5.0		
Chatham, GA	15,914	Home Health and Infu	1 in 30 miles	11		15,914			0.0	4.0			
Effingham, GA	3,051	Home Health and Infu	1 in 30 miles	10	305.1		100.0		0.0	3.9			
Glynn, GA	4,872	Home Health and Infu	1 in 30 miles	9	541.3	4,872	100.0	0	0.0	3.7	4.4		
Grand Totals	28,882	Home Health and Infu	1 in 30 miles	36	802.3	28,882	100.0	0	0.0	3.9	4.8		

Home Health Infusion Services - Rural

January 23, 2023

Access Analysis
Home Health and Infusion Services-

Member / Provider Groups
Rural Members (SE_RURAL)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	1,264	Home Health and Infu	1 in 45 miles	9	140.4	1,264	100.0	0	0.0	3.3	4.2	
Bacon, GA	542	Home Health and Infu	1 in 45 miles	9	60.2	542	100.0	0	0.0	2.0	3.0	
Brantley, GA	892	Home Health and Infu	1 in 45 miles	7	127.4	892	100.0	0	0.0	5.4	8.0	
Bryan, GA	2,020	Home Health and Infu	1 in 45 miles	0		2,020	100.0	0	0.0	13.8	16.1	
Camden, GA	2,521	Home Health and Infu	1 in 45 miles	6	420.2	2,521	100.0	0	0.0	18.7	19.5	
Candler, GA	1,008	Home Health and Infu	1 in 45 miles	6	168.0	1,008	100.0	0	0.0	4.5	5.5	
Charlton, GA	526	Home Health and Infu	1 in 45 miles	6	87.7	526	100.0	0	0.0	5.9	7.6	
Evans, GA	884	Home Health and Infu	1 in 45 miles	6	147.3	884	100.0	0	0.0	2.2	3.4	
Jeff Davis, GA	1,073	Home Health and Infu	1 in 45 miles	8	134.1	1,073	100.0	0	0.0	2.0		
Liberty, GA	4,821	Home Health and Infu	1 in 45 miles	6	803.5	4,821		0	0.0	3.1		
Long, GA	1,122	Home Health and Infu	1 in 45 miles	7	160.3		100.0	0	0.0	3.0		
McIntosh, GA	726	Home Health and Infu	1 in 45 miles	6	121.0	726	100.0	0	0.0	7.3	7.3	
Montgomery, GA	481	Home Health and Infu	1 in 45 miles	0		481	100.0	0	0.0	9.1	10.7	
Pierce, GA	1,249	Home Health and Infu	1 in 45 miles	6	208.2		100.0	0	0.0	4.0		
Screven, GA	1,276	Home Health and Infu	1 in 45 miles	2	638.0		100.0	0	0.0	13.9		
Tattnall, GA		Home Health and Infu	1 in 45 miles	7	289.0		100.0	0	0.0	6.8		
Toombs, GA		Home Health and Infu	1 in 45 miles	8	288.8	2,310		0	0.0	4.0		
Ware, GA		Home Health and Infu	1 in 45 miles	9	319.7		100.0	0	0.0	3.5		
Wayne, GA	2,834	Home Health and Infu	1 in 45 miles	8	354.3	2,834		0	0.0	3.7	4.7	
Grand Totals	30,449	Home Health and Infu	1 in 45 miles	116	262.5	30,449	100.0	0	0.0	6.3	7.5	

Hospitals - Urban

January 23, 2023

Access Analysis
Hospitals- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Hospitals

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA	5,045	Hospitals	1 in 30 miles	1	5,045.0	5,045	100.0	0	0.0	5.8	17.9			
Chatham, GA		Hospitals	1 in 30 miles	6	2,652.3	15,914	100.0	0	0.0	5.0				
Effingham, GA		Hospitals	1 in 30 miles	2			100.0		0.0	5.7				
Glynn, GA	4,872	Hospitals	1 in 30 miles	1	4,872.0	4,872	100.0	0	0.0	4.8	32.1			
Grand Totals	28,882	Hospitals	1 in 30 miles	10	2,888.2	28,882	100.0	0	0.0	5.2	13.6			

Hospitals -Rural

January 23, 2023

Access Analysis Hospitals- Rural Member / Provider Groups Rural Members (SE_RURAL) Hospitals

			Members With a	nd With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Hospitals	1 in 45 miles	1	1,264.0	1,264	100.0	0	0.0	5.3	17.8
Bacon, GA	542	Hospitals	1 in 45 miles	2	271.0	542	100.0	0	0.0	3.4	3.7
Brantley, GA	892	Hospitals	1 in 45 miles	0			100.0		0.0	21.2	30.6
Bryan, GA	2,020	Hospitals	1 in 45 miles	0		2,020	100.0	0	0.0	15.9	18.7
Camden, GA	2,521	Hospitals	1 in 45 miles	1	2,521.0	2,521	100.0	0	0.0	5.9	19.5
Candler, GA	1,008	Hospitals	1 in 45 miles	2	504.0		100.0		0.0	4.0	4.0
Charlton, GA	526	Hospitals	1 in 45 miles	0		526	100.0	0	0.0	26.8	39.7
Evans, GA	884	Hospitals	1 in 45 miles	1	884.0		100.0		0.0	3.8	16.5
Jeff Davis, GA	1,073	Hospitals	1 in 45 miles	2	536.5	1,073	100.0	0	0.0	3.6	5.0
Liberty, GA	4,821	Hospitals	1 in 45 miles	2	2,410.5	4,821	100.0	0	0.0	4.7	4.7
Long, GA	1,122	Hospitals	1 in 45 miles	0		1,122	100.0	0	0.0	11.8	11.8
McIntosh, GA	726	Hospitals	1 in 45 miles	0		726	100.0	0	0.0	22.7	32.7
Montgomery, GA	481	Hospitals	1 in 45 miles	0		481	100.0	0	0.0	13.4	20.5
Pierce, GA	1,249	Hospitals	1 in 45 miles	0			100.0		0.0	11.4	26.0
Screven, GA	1,276	Hospitals	1 in 45 miles	2	638.0	1,276	100.0	0	0.0	7.7	7.8
Tattnall, GA	2,023	Hospitals	1 in 45 miles	1	2,023.0	2,023	100.0	0	0.0	10.7	17.6
Toombs, GA	2,310	Hospitals	1 in 45 miles	1	2,310.0	2,310	100.0	0	0.0	5.1	21.4
Ware, GA	2,877	Hospitals	1 in 45 miles	1	2,877.0	2,877	100.0	0	0.0	4.2	24.8
Wayne, GA	2,834	Hospitals	1 in 45 miles	2	1,417.0	2,834	100.0	0	0.0	8.0	8.3
Grand Totals	30,449	Hospitals	1 in 45 miles	18	1,691.6	30,449	100.0	0	0.0	8.2	15.6

Outpatient Laboratory Services - Urban

January 23, 2023

Access Analysis
Outpatient Laboratory Services- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Outpatient Laboratory Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	5,045	Outpatient Laboratory	1 in 30 miles	18	280.3	5,045	100.0	0	0.0	3.3	4.6		
Chatham, GA		Outpatient Laboratory	1 in 30 miles	17		15,914	100.0	0					
Effingham, GA		Outpatient Laboratory	1 in 30 miles	6			100.0						
Glynn, GA	4,872	Outpatient Laboratory	1 in 30 miles	47	103.7	4,872	100.0	0	0.0	3.5	3.5		
Grand Totals	28,882	Outpatient Laboratory	1 in 30 miles	88	328.2	28,882	100.0	0	0.0	3.4	4.7		
© 2023 Quest Analytics, LLC.													

Outpatient Laboratory Services - Rural

January 23, 2023

Access Analysis
Outpatient Laboratory Services- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Outpatient Laboratory Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,264	Outpatient Laboratory	1 in 45 miles	5	252.8	1,264	100.0	0	0.0	4.1	4.9		
Bacon, GA	542	Outpatient Laboratory	1 in 45 miles	1	542.0	542	100.0	0	0.0	9.0	12.8		
Brantley, GA	892	Outpatient Laboratory	1 in 45 miles	3	297.3	892	100.0	0	0.0	8.4	9.4		
Bryan, GA	2,020	Outpatient Laboratory	1 in 45 miles	1	2,020.0		100.0		0.0	7.3	12.9		
Camden, GA	2,521	Outpatient Laboratory	1 in 45 miles	11	229.2	2,521	100.0	0	0.0	4.9	5.1		
Candler, GA	1,008	Outpatient Laboratory	1 in 45 miles	2	504.0	1,008	100.0	0	0.0	8.8	10.8		
Charlton, GA	526	Outpatient Laboratory	1 in 45 miles	2	263.0	526	100.0	0	0.0	7.1	12.5		
Evans, GA	884	Outpatient Laboratory	1 in 45 miles	2	442.0	884	100.0	0	0.0	3.3	7.9		
Jeff Davis, GA	1,073	Outpatient Laboratory	1 in 45 miles	4	268.3	1,073	100.0	0	0.0	3.4	3.8		
Liberty, GA	4,821	Outpatient Laboratory	1 in 45 miles	3	1,607.0	4,821	100.0	0	0.0	3.7	5.0		
Long, GA	1,122	Outpatient Laboratory	1 in 45 miles	1	1,122.0	1,122	100.0	0	0.0	4.0	8.7		
McIntosh, GA	726	Outpatient Laboratory	1 in 45 miles	2	363.0	726	100.0	0	0.0	7.3	7.3		
Montgomery, GA	481	Outpatient Laboratory	1 in 45 miles	0		481	100.0	0	0.0	11.2	12.9		
Pierce, GA	1,249	Outpatient Laboratory	1 in 45 miles	4	312.3	1,249	100.0	0	0.0	3.8	8.0		
Screven, GA	1,276	Outpatient Laboratory	1 in 45 miles	1	1,276.0	1,276	100.0	0	0.0	15.2	17.7		
Tattnall, GA	2,023	Outpatient Laboratory	1 in 45 miles	2	1,011.5	2,023	100.0	0	0.0	10.5	12.8		
Toombs, GA	2,310	Outpatient Laboratory	1 in 45 miles	17	135.9	2,310	100.0	0	0.0	3.8	4.8		
Ware, GA	2,877	Outpatient Laboratory	1 in 45 miles	10	287.7	2,877	100.0	0	0.0	3.1	3.7		
Wayne, GA	2,834	Outpatient Laboratory	1 in 45 miles	10	283.4	2,834	100.0	0	0.0	5.9	6.9		
Grand Totals	30,449	Outpatient Laboratory	1 in 45 miles	81	375.9	30,449	100.0	0	0.0	5.8	7.7		

Obstetrics/Gynecology -Urban

January 23, 2023

Access Analysis
Obstetrics/Gynecology- Urban
Member / Provider Groups
Female Urban Members (SE_URBAN)
Obstetrics/Gynecology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	1,615	Obstetrics/Gynecology	2 in 30 miles	26	62.1	1,615	100.0	0	0.0	5.0	5.1		
Chatham, GA		Obstetrics/Gynecology	2 in 30 miles	149		5,261	100.0	0	0.0	2.9			
Effingham, GA		Obstetrics/Gynecology	2 in 30 miles	21			100.0		0.0	4.9			
Glynn, GA	1,476	Obstetrics/Gynecology	2 in 30 miles	20	73.8	1,476	100.0	0	0.0	3.1	3.9		
Grand Totals	9,316	Obstetrics/Gynecology	2 in 30 miles	216	43.1	9,316	100.0	0	0.0	3.5	4.1		
© 2023 Quaet Analytics LLC													

Obstetrics/Gynecology -Rural

January 23, 2023

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups
Female Rural Members (SE_RURAL)
Obstetrics/Gynecology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	365	Obstetrics/Gynecology	2 in 45 miles	5	73.0	365	100.0	0	0.0	5.1	5.3		
Bacon, GA	165	Obstetrics/Gynecology	2 in 45 miles	3	55.0	165	100.0	0	0.0	2.8	3.9		
Brantley, GA	251	Obstetrics/Gynecology	2 in 45 miles	1	251.0	251	100.0	0	0.0	8.6	18.7		
Bryan, GA	652	Obstetrics/Gynecology	2 in 45 miles	11	59.3	652	100.0	0	0.0	9.8	10.9		
Camden, GA	751	Obstetrics/Gynecology	2 in 45 miles	22	34.1	751	100.0	0	0.0	3.1	4.4		
Candler, GA	325	Obstetrics/Gynecology	2 in 45 miles	1	325.0	325	100.0	0	0.0	3.8	17.5		
Charlton, GA	156	Obstetrics/Gynecology	2 in 45 miles	1	156.0	156	100.0	0	0.0	7.7	20.8		
Evans, GA	253	Obstetrics/Gynecology	2 in 45 miles	1	253.0	253	100.0	0	0.0	3.9	21.2		
Jeff Davis, GA	319	Obstetrics/Gynecology	2 in 45 miles	7	45.6	319	100.0	0	0.0	4.1	4.1		
Liberty, GA	1,513	Obstetrics/Gynecology	2 in 45 miles	7	216.1	1,513	100.0	0	0.0	3.6	4.7		
Long, GA		Obstetrics/Gynecology	2 in 45 miles	0			100.0	0	0.0	10.7	11.6		
McIntosh, GA	237	Obstetrics/Gynecology	2 in 45 miles	0		237	100.0	0	0.0	19.5	20.6		
Montgomery, GA	172	Obstetrics/Gynecology	2 in 45 miles	0		172	100.0	0	0.0	13.1	13.1		
Pierce, GA		Obstetrics/Gynecology	2 in 45 miles	4	92.0		100.0	0	0.0	4.9	5.4		
Screven, GA		Obstetrics/Gynecology	2 in 45 miles	0			100.0	0	0.0	19.5	25.0		
Tattnall, GA		Obstetrics/Gynecology	2 in 45 miles	0			100.0	0	0.0	16.8	21.7		
Toombs, GA		Obstetrics/Gynecology	2 in 45 miles	18				0	0.0	4.7	4.7		
Ware, GA		Obstetrics/Gynecology	2 in 45 miles	12			100.0	0	0.0	3.3	3.6		
Wayne, GA		Obstetrics/Gynecology	2 in 45 miles	6		886	100.0	0	0.0	6.4	7.3		
Grand Totals	9,356	Obstetrics/Gynecology	2 in 45 miles	99	94.5	9,356	100.0	0	0.0	7.0	9.6		

Pediatric Allergy/Immunology - Urban

January 23, 2023

Access Analysis
Pediatric Allergy/Immunology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Allergy/Immunology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Allergy/Imm	1 in 30 miles	3		3,789		0		6.2			
Chatham, GA		Pediatric_Allergy/Imm	1 in 30 miles	16	732.3	11,716	100.0	0	0.0	4.2			
Effingham, GA		Pediatric_Allergy/Imm	1 in 30 miles	4	567.8	2,271	100.0	0		7.6			
Glynn, GA	3,794	Pediatric_Allergy/Imm	1 in 30 miles	6	632.3	3,794	100.0	0	0.0	4.4	4.7		
Grand Totals	21,570	Pediatric_Allergy/Imm	1 in 30 miles	29	743.8	21,570	100.0	0	0.0	5.0	5.1		

Pediatric Allergy/Immunology -Rural

January 23, 2023

Access Analysis
Pediatric Allergy/Immunology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Allergy/Immunology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_Allergy/Imm	1 in 45 miles	0		1,001	99.8	2	0.2	40.5	40.5		
Bacon, GA	413	Pediatric_Allergy/Imm	1 in 45 miles	0		413	100.0	0	0.0	25.2	25.2		
Brantley, GA	682	Pediatric_Allergy/Imm	1 in 45 miles	0		682		0	0.0	27.6	28.1		
Bryan, GA	1,503	Pediatric_Allergy/Imm	1 in 45 miles	6	250.5		100.0		0.0	9.9	10.0		
Camden, GA	1,930	Pediatric_Allergy/Imm	1 in 45 miles	1	1,930.0	1,930	100.0	0	0.0	5.8	29.3		
Candler, GA	764	Pediatric_Allergy/Imm	1 in 45 miles	0		764	100.0	0	0.0	18.3	18.3		
Charlton, GA	412	Pediatric_Allergy/Imm	1 in 45 miles	0		412	100.0	0	0.0	26.9	42.7		
Evans, GA	693	Pediatric_Allergy/Imm	1 in 45 miles	2	346.5	693	100.0	0	0.0	3.7	3.8		
Jeff Davis, GA	834	Pediatric_Allergy/Imm	1 in 45 miles	0		834	100.0	0	0.0	35.3	35.3		
Liberty, GA	3,628	Pediatric_Allergy/Imm	1 in 45 miles	3	1,209.3	3,628	100.0	0	0.0	3.9	4.2		
Long, GA	876	Pediatric_Allergy/Imm	1 in 45 miles	0		876	100.0	0	0.0	10.8	10.8		
McIntosh, GA	543	Pediatric_Allergy/Imm	1 in 45 miles	0		543	100.0	0	0.0	21.7	21.8		
Montgomery, GA	356	Pediatric_Allergy/Imm	1 in 45 miles	0		356	100.0	0	0.0	38.2	38.3		
Pierce, GA	962	Pediatric_Allergy/Imm	1 in 45 miles	0		817	84.9	145	15.1	42.7	42.8		
Screven, GA	965	Pediatric_Allergy/Imm	1 in 45 miles	0		965	100.0	0	0.0	27.0	27.2		
Tattnall, GA	1,577	Pediatric_Allergy/Imm	1 in 45 miles	0		1,577	100.0	0	0.0	17.6	17.7		
Toombs, GA	1,746	Pediatric_Allergy/Imm	1 in 45 miles	0		1,746	100.0	0	0.0	29.2	29.3		
Ware, GA	2,179	Pediatric_Allergy/Imm	1 in 45 miles	0		1,821	83.6	358	16.4	42.6	42.6		
Wayne, GA	2,160	Pediatric_Allergy/Imm	1 in 45 miles	0		2,157	99.9	3	0.1	29.0	29.0		
Grand Totals	23,226	Pediatric_Allergy/Imm	1 in 45 miles	12	1,935.5	22,718	97.8	508	2.2	21.7	24.0		

Pediatric Cardiology - Urban

January 23, 2023

Access Analysis
Pediatric Cardiology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Cardiology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Cardiology	1 in 30 miles	17	222.9	3,789	100.0	0	0.0	4.6	5.5		
Chatham, GA		Pediatric_Cardiology	1 in 30 miles	83	141.2	11,716	100.0	0					
Effingham, GA		Pediatric_Cardiology	1 in 30 miles	7		2,271							
Glynn, GA	3,794	Pediatric_Cardiology	1 in 30 miles	14	271.0	3,794	100.0	0	0.0	4.4	4.6		
Grand Totals	21,570	Pediatric_Cardiology	1 in 30 miles	121	178.3	21,570	100.0	0	0.0	3.4	4.4		
© 2023 Quest Analytics, LLC.													

Pediatric Cardiology - Rural

January 23, 2023

Access Analysis
Pediatric Cardiology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Cardiology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_Cardiology	1 in 45 miles	9	111.4	1,003	100.0	0	0.0	4.7	5.3		
Bacon, GA	413	Pediatric_Cardiology	1 in 45 miles	3	137.7	413	100.0	0	0.0	3.1	3.5		
Brantley, GA	682	Pediatric_Cardiology	1 in 45 miles	1	682.0		100.0	0	0.0	9.4	17.2		
Bryan, GA	1,503	Pediatric_Cardiology	1 in 45 miles	4	375.8		100.0		0.0	9.6	9.9		
Camden, GA	1,930	Pediatric_Cardiology	1 in 45 miles	8	241.3	1,930	100.0	0	0.0	4.8	5.7		
Candler, GA	764	Pediatric_Cardiology	1 in 45 miles	5	152.8	764	100.0	0	0.0	3.9	4.1		
Charlton, GA	412	Pediatric_Cardiology	1 in 45 miles	1	412.0	412	100.0	0	0.0	12.2	23.3		
Evans, GA	693	Pediatric_Cardiology	1 in 45 miles	10	69.3	693	100.0	0	0.0	3.5	3.7		
Jeff Davis, GA	834	Pediatric_Cardiology	1 in 45 miles	14	59.6		100.0	0	0.0	3.3	3.9		
Liberty, GA	3,628	Pediatric_Cardiology	1 in 45 miles	8	453.5	3,628	100.0	0	0.0	4.2	4.5		
Long, GA	876	Pediatric_Cardiology	1 in 45 miles	1	876.0	876	100.0	0	0.0	6.6	9.6		
McIntosh, GA	543	Pediatric_Cardiology	1 in 45 miles	1	543.0	543	100.0	0	0.0	7.2	20.5		
Montgomery, GA	356	Pediatric_Cardiology	1 in 45 miles	0		356	100.0	0	0.0	11.5	12.0		
Pierce, GA	962	Pediatric_Cardiology	1 in 45 miles	2	481.0	962	100.0	0	0.0	7.4	10.0		
Screven, GA	965	Pediatric_Cardiology	1 in 45 miles	3	321.7	965	100.0	0	0.0	5.0	7.6		
Tattnall, GA	1,577	Pediatric_Cardiology	1 in 45 miles	5	315.4	1,577	100.0	0	0.0	9.3	10.2		
Toombs, GA	1,746	Pediatric_Cardiology	1 in 45 miles	13	134.3	1,746	100.0	0	0.0	4.2	4.3		
Ware, GA	2,179	Pediatric_Cardiology	1 in 45 miles	18	121.1	2,179	100.0	0	0.0	3.2	3.6		
Wayne, GA	2,160	Pediatric_Cardiology	1 in 45 miles	9	240.0	2,160	100.0	0	0.0	6.3	7.6		
Grand Totals	23,226	Pediatric_Cardiology	1 in 45 miles	115	202.0	23,226	100.0	0	0.0	5.7	7.2		

Pediatric Dermatology - Urban

January 23, 2023

Access Analysis
Pediatric Dermatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Dermatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA	3,789	Pediatric_Dermatology	1 in 30 miles	8	473.6	3,789	100.0	0	0.0	5.9	6.3			
Chatham, GA	11,716	Pediatric_Dermatology	1 in 30 miles	8	1,464.5	11,716	100.0	0	0.0	4.0				
Effingham, GA		Pediatric_Dermatology	1 in 30 miles	1	2,271.0		100.0		0.0	8.1				
Glynn, GA	3,794	Pediatric_Dermatology	1 in 30 miles	8	474.3	3,794	100.0	0	0.0	3.1	3.6			
Grand Totals	21,570	Pediatric_Dermatology	1 in 30 miles	25	862.8	21,570	100.0	0	0.0	4.6	6.1			
© 2023 Quaet Analytics LLC														

Pediatric Dermatology - Rural

January 23, 2023

Access Analysis
Pediatric Dermatology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Dermatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_Dermatology	1 in 45 miles	1	1,003.0	1,003	100.0	0	0.0	5.4	29.8		
Bacon, GA	413	Pediatric_Dermatology	1 in 45 miles	0		413	100.0	0	0.0	20.0	23.9		
Brantley, GA	682	Pediatric_Dermatology	1 in 45 miles	0		682	100.0	0	0.0	19.5	20.3		
Bryan, GA	1,503	Pediatric_Dermatology	1 in 45 miles	4	375.8	1,503	100.0	0	0.0	8.0	9.6		
Camden, GA	1,930	Pediatric_Dermatology	1 in 45 miles	0		1,930	100.0	0	0.0	30.9	31.8		
Candler, GA	764	Pediatric_Dermatology	1 in 45 miles	0		764	100.0	0	0.0	21.0	21.5		
Charlton, GA	412	Pediatric_Dermatology	1 in 45 miles	0		412	100.0	0	0.0	38.0	42.0		
Evans, GA	693	Pediatric_Dermatology	1 in 45 miles	0		693	100.0	0	0.0	16.2	16.2		
Jeff Davis, GA	834	Pediatric_Dermatology	1 in 45 miles	0		834	100.0	0	0.0	18.3	30.4		
Liberty, GA	3,628	Pediatric_Dermatology	1 in 45 miles	5	725.6	3,628	100.0	0	0.0	5.1	5.3		
Long, GA	876	Pediatric_Dermatology	1 in 45 miles	0			100.0	0	0.0	12.8	12.8		
McIntosh, GA	543	Pediatric_Dermatology	1 in 45 miles	0		543	100.0	0	0.0	16.5	19.1		
Montgomery, GA	356	Pediatric_Dermatology	1 in 45 miles	0		356	100.0	0	0.0	13.2	29.8		
Pierce, GA	962	Pediatric_Dermatology	1 in 45 miles	1	962.0	962	100.0	0	0.0	5.5	11.5		
Screven, GA		Pediatric_Dermatology	1 in 45 miles	0			100.0	0	0.0	18.5	23.2		
Tattnall, GA		Pediatric_Dermatology	1 in 45 miles	0			100.0	0	0.0	22.8	25.9		
Toombs, GA		Pediatric_Dermatology	1 in 45 miles	1	1,746.0		100.0	0	0.0	5.8	29.9		
Ware, GA		Pediatric_Dermatology	1 in 45 miles	6	363.2		100.0	0	0.0	3.9	4.3		
Wayne, GA	2,160	Pediatric_Dermatology	1 in 45 miles	5	432.0	2,160	100.0	0	0.0	7.7	7.7		
Grand Totals	23,226	Pediatric_Dermatology	1 in 45 miles	23	1,009.8	23,226	100.0	0	0.0	12.7	17.4		

Pediatric Endocrinology - Urban

January 23, 2023

Access Analysis
Pediatric Endocrinology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatrio_Endocrinology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA	3,789	Pediatric_Endocrinology	1 in 30 miles	0		3,686	97.3	103	2.7	19.7	55.5			
Chatham, GA		Pediatric_Endocrinology	1 in 30 miles	14		11,716	100.0			6.7				
Effingham, GA		Pediatric_Endocrinology	1 in 30 miles	0		1,479				27.7	28.1			
Glynn, GA	3,794	Pediatric_Endocrinology	1 in 30 miles	2	1,897.0	3,794	100.0	0	0.0	4.7	4.7			
Grand Totals	21,570	Pediatric_Endocrinology	1 in 30 miles	16	1,348.1	20,675	95.9	895	4.1	10.8	17.3			

Pediatric Endocrinology - Rural

January 23, 2023

Access Analysis
Pediatric Endocrinology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Endocrinology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_Endocrinology	1 in 45 miles	0		977	97.4	26	2.6	39.0	42.5		
Bacon, GA	413	Pediatric_Endocrinology	1 in 45 miles	0		413	100.0	0	0.0	24.0	27.7		
Brantley, GA	682	Pediatric_Endocrinology	1 in 45 miles	0		682	100.0	0	0.0	21.2	28.1		
Bryan, GA	1,503	Pediatric_Endocrinology	1 in 45 miles	0		1,503	100.0	0	0.0	24.9	26.1		
Camden, GA	1,930	Pediatric_Endocrinology	1 in 45 miles	0		1,930		0	0.0	30.0	30.0		
Candler, GA	764	Pediatric_Endocrinology	1 in 45 miles	1	764.0	764	100.0	0	0.0	4.1	60.1		
Charlton, GA	412	Pediatric_Endocrinology	1 in 45 miles	0		412	100.0	0	0.0	39.1	43.1		
Evans, GA	693	Pediatric_Endocrinology	1 in 45 miles	0		693	100.0	0	0.0	24.2	50.0		
Jeff Davis, GA	834	Pediatric_Endocrinology	1 in 45 miles	0		831	99.6	3	0.4	35.3	49.7		
Liberty, GA	3,628	Pediatric_Endocrinology	1 in 45 miles	0		3,628	100.0	0	0.0	36.3	36.4		
Long, GA		Pediatric_Endocrinology	1 in 45 miles	0		762	87.0	114	13.0	43.4	43.6		
McIntosh, GA	543	Pediatric_Endocrinology	1 in 45 miles	0		543	100.0	0	0.0	22.8	22.9		
Montgomery, GA	356	Pediatric_Endocrinology	1 in 45 miles	0		291	81.7	65	18.3	40.2	53.1		
Pierce, GA		Pediatric_Endocrinology	1 in 45 miles	0		962	100.0	0	0.0	12.9	42.9		
Screven, GA		Pediatric_Endocrinology	1 in 45 miles	0		761	78.9	204	21.1	41.9	55.0		
Tattnall, GA		Pediatric_Endocrinology	1 in 45 miles	0		1,577	100.0	0	0.0	29.0	56.0		
Toombs, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	29.5	62.4		
Ware, GA		Pediatric_Endocrinology	1 in 45 miles	1	2,179.0	2,179	100.0	0	0.0	4.0	42.8		
Wayne, GA		Pediatric_Endocrinology	1 in 45 miles	0		671	31.1	1,489	68.9	43.2	44.8		
Grand Totals	23,226	Pediatric_Endocrinology	1 in 45 miles	2	11,613.0	21,325	91.8	1,901	8.2	29.0	42.8		

Pediatric ENT - Urban

January 23, 2023
Access Analysis

Pediatric ENT- Urban

Member / Provider Groups

Pediatric Urban Members
(SE_URBAN)

Pediatric_ENT

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	3,789	Pediatric_ENT	1 in 30 miles	8		3,789					4.9
Chatham, GA		Pediatric_ENT	1 in 30 miles	51		11,716	100.0	0			
Effingham, GA		Pediatric_ENT	1 in 30 miles	5			100.0	0			7.7
Glynn, GA	3,794	Pediatric_ENT	1 in 30 miles	5	758.8	3,794	100.0	0	0.0	4.6	4.8
Grand Totals	21,570	Pediatric_ENT	1 in 30 miles	69	312.6	21,570	100.0	0	0.0	4.2	4.4

Pediatric ENT - Rural

January 23, 2023

Access Analysis
Pediatric ENT- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_ENT

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_ENT	1 in 45 miles	1	1,003.0	1,003	100.0	0	0.0	5.4	28.0
Bacon, GA	413	Pediatric_ENT	1 in 45 miles	0		413	100.0	0	0.0	20.0	23.7
Brantley, GA	682	Pediatric_ENT	1 in 45 miles	0		682	100.0	0	0.0	20.0	20.2
Bryan, GA	1,503	Pediatric_ENT	1 in 45 miles	9	167.0	1,503	100.0	0	0.0	10.1	10.1
Camden, GA	1,930	Pediatric_ENT	1 in 45 miles	0		1,930	100.0	0	0.0	30.0	30.0
Candler, GA	764	Pediatric_ENT	1 in 45 miles	0		764	100.0	0	0.0		17.6
Charlton, GA	412	Pediatric_ENT	1 in 45 miles	0		412	100.0	0	0.0	37.7	37.9
Evans, GA	693	Pediatric_ENT	1 in 45 miles	3	231.0		100.0	0	0.0	3.8	3.8
Jeff Davis, GA	834	Pediatric_ENT	1 in 45 miles	0		834	100.0	0	0.0	18.8	30.6
Liberty, GA	3,628	Pediatric_ENT	1 in 45 miles	7	518.3	3,628	100.0	0	0.0	4.4	4.4
Long, GA	876	Pediatric_ENT	1 in 45 miles	0		876	100.0	0	0.0	11.8	11.9
McIntosh, GA	543	Pediatric_ENT	1 in 45 miles	0		543	100.0	0	0.0	21.5	21.9
Montgomery, GA	356	Pediatric_ENT	1 in 45 miles	0		356	100.0	0	0.0	13.8	13.9
Pierce, GA	962	Pediatric_ENT	1 in 45 miles	2	481.0	962	100.0	0	0.0	5.3	5.9
Screven, GA	965	Pediatric_ENT	1 in 45 miles	0		965	100.0	0	0.0	19.9	25.5
Tattnall, GA	1,577	Pediatric_ENT	1 in 45 miles	1	1,577.0	1,577	100.0	0	0.0	11.1	17.2
Toombs, GA	1,746	Pediatric_ENT	1 in 45 miles	6	291.0	1,746	100.0	0	0.0	4.7	5.1
Ware, GA	2,179	Pediatric_ENT	1 in 45 miles	5	435.8	2,179	100.0	0	0.0	3.7	3.8
Wayne, GA	2,160	Pediatric_ENT	1 in 45 miles	2	1,080.0	2,160	100.0	0	0.0	8.0	8.2
Grand Totals	23,226	Pediatric_ENT	1 in 45 miles	36	645.2	23,226	100.0	0	0.0	11.3	13.7

Pediatric Gastroenterology - Urban

January 23, 2023

Access Analysis
Pediatric Gastroenterology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Gastroenterology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA	3,789	Pediatric_Gastroenter	1 in 30 miles	7	541.3	3,789	100.0	0	0.0	5.7	6.1			
Chatham, GA	11,716	Pediatric_Gastroenter	1 in 30 miles	63	186.0	11,716	100.0	0	0.0	3.5				
Effingham, GA	2,271	Pediatric_Gastroenter	1 in 30 miles	1	2,271.0		100.0	0	0.0					
Glynn, GA	3,794	Pediatric_Gastroenter	1 in 30 miles	11	344.9	3,794	100.0	0	0.0	3.1	3.1			
Grand Totals	21,570	Pediatric_Gastroenter	1 in 30 miles	82	263.0	21,570	100.0	0	0.0	4.3	5.0			
© 2023 Quaet Analytics LLC														

Pediatric Gastroenterology - Rural

January 23, 2023

Access Analysis
Pediatric Gastroenterology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Gastroenterology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Gastroenter	1 in 45 miles	0		1,003	100.0	0	0.0	20.9	30.4
Bacon, GA	413	Pediatric_Gastroenter	1 in 45 miles	1	413.0	413	100.0	0	0.0	3.5	23.9
Brantley, GA	682	Pediatric_Gastroenter	1 in 45 miles	0			100.0	0	0.0	20.6	20.6
Bryan, GA	1,503	Pediatric_Gastroenter	1 in 45 miles	1	1,503.0		100.0	0	0.0	10.4	15.9
Camden, GA	1,930	Pediatric_Gastroenter	1 in 45 miles	7	275.7	1,930	100.0	0	0.0	5.8	5.8
Candler, GA	764	Pediatric_Gastroenter	1 in 45 miles	1	764.0	764	100.0	0	0.0	4.0	15.8
Charlton, GA	412	Pediatric_Gastroenter	1 in 45 miles	0		412	100.0	0	0.0	26.2	26.5
Evans, GA	693	Pediatric_Gastroenter	1 in 45 miles	1	693.0	693	100.0	0	0.0	3.7	21.4
Jeff Davis, GA	834	Pediatric_Gastroenter	1 in 45 miles	0		834	100.0	0	0.0	26.4	31.8
Liberty, GA	3,628	Pediatric_Gastroenter	1 in 45 miles	0		3,628	100.0	0	0.0	23.4	32.6
Long, GA	876	Pediatric_Gastroenter	1 in 45 miles	0		876	100.0	0	0.0	31.4	34.7
McIntosh, GA	543	Pediatric_Gastroenter	1 in 45 miles	0		543	100.0	0	0.0	19.4	19.8
Montgomery, GA	356	Pediatric_Gastroenter	1 in 45 miles	0		356	100.0	0	0.0	14.9	14.9
Pierce, GA	962	Pediatric_Gastroenter	1 in 45 miles	0		962	100.0	0	0.0	11.3	12.1
Screven, GA	965	Pediatric_Gastroenter	1 in 45 miles	0		965	100.0	0	0.0	26.2	26.8
Tattnall, GA	1,577	Pediatric_Gastroenter	1 in 45 miles	0		1,577	100.0	0	0.0	17.1	27.4
Toombs, GA	1,746	Pediatric_Gastroenter	1 in 45 miles	3	582.0	1,746	100.0	0	0.0	5.2	5.2
Ware, GA	2,179	Pediatric_Gastroenter	1 in 45 miles	2	1,089.5	2,179	100.0	0	0.0	4.0	4.4
Wayne, GA	2,160	Pediatric_Gastroenter	1 in 45 miles	0		2,160	100.0	0	0.0	32.1	35.7
Grand Totals	23,226	Pediatric_Gastroenter	1 in 45 miles	16	1,451.6	23,226	100.0	0	0.0	16.4	21.3

Pediatric General Surgery - Urban

January 23, 2023

Access Analysis
Pediatric General Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_General Surgery

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	3,789	Pediatric_General Sur	1 in 30 miles	22	172.2	3,789	100.0	0	0.0	4.1	5.1	
Chatham, GA		Pediatric_General Sur	1 in 30 miles	158		11,716	100.0	0				
Effingham, GA		Pediatric_General Sur	1 in 30 miles	17			100.0					
Glynn, GA	3,794	Pediatric_General Sur	1 in 30 miles	19	199.7	3,794	100.0	0	0.0	4.3	4.6	
Grand Totals	21,570	Pediatric_General Sur	1 in 30 miles	216	99.9	21,570	100.0	0	0.0	3.5	4.0	
© 2023 Quest Analytics, LLC.												

Pediatric General Surgery - Rural

January 23, 2023

Access Analysis
Pediatric General Surgery- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_General Surgery

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_General Sur	1 in 45 miles	8	125.4	1,003	100.0	0	0.0	4.3	5.2		
Bacon, GA	413	Pediatric_General Sur	1 in 45 miles	6	68.8	413	100.0	0	0.0	3.1	3.4		
Brantley, GA	682	Pediatric_General Sur	1 in 45 miles	1	682.0	682	100.0	0	0.0	7.9	13.1		
Bryan, GA	1,503	Pediatric_General Sur	1 in 45 miles	11	136.6	1,503	100.0	0	0.0	8.3	9.9		
Camden, GA	1,930	Pediatric_General Sur	1 in 45 miles	9	214.4	1,930	100.0	0	0.0	5.2	5.5		
Candler, GA	764	Pediatric_General Sur	1 in 45 miles	8	95.5	764	100.0	0	0.0	4.0	4.1		
Charlton, GA	412	Pediatric_General Sur	1 in 45 miles	2	206.0	412	100.0	0	0.0	6.8	7.9		
Evans, GA	693	Pediatric_General Sur	1 in 45 miles	2	346.5	693	100.0	0	0.0	3.8	3.8		
Jeff Davis, GA	834	Pediatric_General Sur	1 in 45 miles	6	139.0	834	100.0	0	0.0	3.8			
Liberty, GA	3,628	Pediatric_General Sur	1 in 45 miles	6	604.7		100.0		0.0	4.3			
Long, GA		Pediatric_General Sur	1 in 45 miles	0			100.0		0.0	11.7	12.0		
McIntosh, GA	543	Pediatric_General Sur	1 in 45 miles	0		543	100.0	0	0.0	20.1	21.3		
Montgomery, GA	356	Pediatric_General Sur	1 in 45 miles	0		356	100.0	0	0.0	9.5	12.7		
Pierce, GA		Pediatric_General Sur	1 in 45 miles	2	481.0		100.0		0.0	4.2			
Screven, GA		Pediatric_General Sur	1 in 45 miles	2			100.0		0.0	7.5	7.5		
Tattnall, GA		Pediatric_General Sur	1 in 45 miles	1			100.0		0.0	10.7	16.7		
Toombs, GA		Pediatric_General Sur	1 in 45 miles	22			100.0		0.0	4.2			
Ware, GA		Pediatric_General Sur	1 in 45 miles	19			100.0		0.0	3.2			
Wayne, GA	2,160	Pediatric_General Sur	1 in 45 miles	17	127.1		100.0		0.0	6.2			
Grand Totals	23,226	Pediatric_General Sur	1 in 45 miles	122	190.4	23,226	100.0	0	0.0	6.1	7.3		

Pediatric Hematology/Oncology - Urban

January 23, 2023

Access Analysis
Pediatric Hematology/Oncology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Hematology/Oncology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Hematology	1 in 30 miles	25	151.6		100.0		0.0	4.8	4.8		
Chatham, GA		Pediatric_Hematology	1 in 30 miles	93		11,716	100.0	0	0.0	3.1			
Effingham, GA		Pediatric_Hematology	1 in 30 miles	11			100.0		0.0				
Glynn, GA	3,794	Pediatric_Hematology	1 in 30 miles	13	291.8	3,794	100.0	0	0.0	2.9	3.6		
Grand Totals	21,570	Pediatric_Hematology	1 in 30 miles	142	151.9	21,570	100.0	0	0.0	3.5	3.7		
											<u> </u>		

Pediatric Hematology/Oncology -Rural

January 23, 2023

Access Analysis
Pediatric Hematology/Oncology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Hematology/Oncology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Hematology	1 in 45 miles	2	501.5	1,003	100.0	0	0.0	5.4	5.5
Bacon, GA	413	Pediatric_Hematology	1 in 45 miles	2	206.5	413	100.0	0	0.0	3.5	3.5
Brantley, GA	682	Pediatric_Hematology	1 in 45 miles	0		682	100.0	0	0.0	19.6	19.8
Bryan, GA	1,503	Pediatric_Hematology	1 in 45 miles	8	187.9		100.0	0	0.0	10.3	10.3
Camden, GA	1,930	Pediatric_Hematology	1 in 45 miles	5	386.0	1,930	100.0	0	0.0	5.8	5.8
Candler, GA	764	Pediatric_Hematology	1 in 45 miles	0		764	100.0	0	0.0	17.8	18.0
Charlton, GA	412	Pediatric_Hematology	1 in 45 miles	0		412	100.0	0	0.0	26.5	26.5
Evans, GA	693	Pediatric_Hematology	1 in 45 miles	0		693	100.0	0	0.0	15.5	17.6
Jeff Davis, GA	834	Pediatric_Hematology	1 in 45 miles	0		834	100.0	0	0.0	19.0	19.1
Liberty, GA	3,628	Pediatric_Hematology	1 in 45 miles	6	604.7	3,628	100.0	0	0.0	3.9	4.7
Long, GA	876	Pediatric_Hematology	1 in 45 miles	0		876	100.0	0	0.0	10.8	12.0
McIntosh, GA	543	Pediatric_Hematology	1 in 45 miles	1	543.0	543	100.0	0	0.0	7.5	19.7
Montgomery, GA	356	Pediatric_Hematology	1 in 45 miles	0		356	100.0	0	0.0	13.9	13.9
Pierce, GA	962	Pediatric_Hematology	1 in 45 miles	4	240.5	962	100.0	0	0.0	5.2	5.5
Screven, GA	965	Pediatric_Hematology	1 in 45 miles	0		965	100.0	0	0.0	24.7	24.7
Tattnall, GA	1,577	Pediatric_Hematology	1 in 45 miles	1	1,577.0	1,577	100.0	0	0.0	11.8	21.5
Toombs, GA	1,746	Pediatric_Hematology	1 in 45 miles	14	124.7	1,746	100.0	0	0.0	4.7	4.9
Ware, GA	2,179	Pediatric_Hematology	1 in 45 miles	26	83.8	2,179	100.0	0	0.0	3.6	3.6
Wayne, GA	2,160	Pediatric_Hematology	1 in 45 miles	7	308.6	2,160	100.0	0	0.0	7.5	7.8
Grand Totals	23,226	Pediatric_Hematology	1 in 45 miles	76	305.6	23,226	100.0	0	0.0	9.1	10.3

Pediatric Infectious Disease - Urban

January 23, 2023

Access Analysis
Pediatric Infectious Disease- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Infectious Disease

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Infectious Di	1 in 30 miles	1	3,789.0	3,789	100.0	0	0.0	6.1	19.8		
Chatham, GA		Pediatric_Infectious Di	1 in 30 miles	17	689.2	11,716			0.0	6.2	6.3		
Effingham, GA		Pediatric_Infectious Di	1 in 30 miles	0		2,217				25.1			
Glynn, GA	3,794	Pediatric_Infectious Di	1 in 30 miles	3	1,264.7	3,794	100.0	0	0.0	4.6	4.7		
Grand Totals	21,570	Pediatric_Infectious Di	1 in 30 miles	21	1,027.1	21,516	99.7	54	0.3	7.9	10.6		

Pediatric Infectious Disease - Rural

January 23, 2023

Access Analysis
Pediatric Infectious Disease- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Infectious Disease

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Infectious Di	1 in 45 miles	0		95	9.5	908	90.5	50.8	63.5
Bacon, GA	413	Pediatric_Infectious Di	1 in 45 miles	0		0	0.0	413	100.0	61.7	62.7
Brantley, GA	682	Pediatric_Infectious Di	1 in 45 miles	0		682	100.0	0	0.0	28.0	28.1
Bryan, GA	1,503	Pediatric_Infectious Di	1 in 45 miles	0			100.0	0	0.0	19.9	23.3
Camden, GA	1,930	Pediatric_Infectious Di	1 in 45 miles	1	1,930.0	1,930	100.0	0	0.0	5.8	22.6
Candler, GA	764	Pediatric_Infectious Di	1 in 45 miles	1	764.0	764	100.0	0	0.0	4.1	18.5
Charlton, GA	412	Pediatric_Infectious Di	1 in 45 miles	0		412	100.0	0	0.0	26.4	39.9
Evans, GA	693	Pediatric_Infectious Di	1 in 45 miles	0		693	100.0	0	0.0	21.6	25.3
Jeff Davis, GA	834	Pediatric_Infectious Di	1 in 45 miles	0		0	0.0	834	100.0	52.9	55.4
Liberty, GA	3,628	Pediatric_Infectious Di	1 in 45 miles	0		3,628	100.0	0	0.0	33.0	33.0
Long, GA	876	Pediatric_Infectious Di	1 in 45 miles	0		828	94.5	48	5.5	41.3	41.4
McIntosh, GA	543	Pediatric_Infectious Di	1 in 45 miles	0		543	100.0	0	0.0	22.7	22.7
Montgomery, GA	356	Pediatric_Infectious Di	1 in 45 miles	0		274	77.0	82	23.0	39.4	44.0
Pierce, GA	962	Pediatric_Infectious Di	1 in 45 miles	0		152	15.8	810	84.2	48.0	48.0
Screven, GA	965	Pediatric_Infectious Di	1 in 45 miles	0		965	100.0	0	0.0	26.8	41.9
Tattnall, GA	1,577	Pediatric_Infectious Di	1 in 45 miles	0		1,577	100.0	0	0.0	28.7	37.9
Toombs, GA	1,746	Pediatric_Infectious Di	1 in 45 miles	0		1,746	100.0	0	0.0	29.5	42.5
Ware, GA	2,179	Pediatric_Infectious Di	1 in 45 miles	0		24	1.1	2,155	98.9	53.1	53.2
Wayne, GA	2,160	Pediatric_Infectious Di	1 in 45 miles	0		408	18.9	1,752	81.1	44.9	45.2
Grand Totals	23,226	Pediatric_Infectious Di	1 in 45 miles	2	11,613.0	16,224	69.9	7,002	30.1	33.3	38.7

Pediatric Nephrology - Urban

January 23, 2023

Access Analysis
Pediatric Nephrology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Nephrology

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	3,789	Pediatric_Nephrology	1 in 30 miles	3	1,263.0	3,789	100.0	0	0.0	5.6	6.0	
Chatham, GA		Pediatric_Nephrology	1 in 30 miles	96		11,716	100.0	0	0.0	2.1	2.4	
Effingham, GA		Pediatric_Nephrology	1 in 30 miles	19			100.0	0				
Glynn, GA	3,794	Pediatric_Nephrology	1 in 30 miles	17	223.2	3,794	100.0	0	0.0	2.6	2.9	
Grand Totals	21,570	Pediatric_Nephrology	1 in 30 miles	135	159.8	21,570	100.0	0	0.0	3.1	3.4	
© 2023 Quest Analytics, LLC.												

Pediatric Nephrology - Rural

January 23, 2023

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Nephrology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Nephrology	1 in 45 miles	9	111.4	1,003	100.0	0	0.0	4.7	5.2
Bacon, GA	413	Pediatric_Nephrology	1 in 45 miles	0		413	100.0	0	0.0	19.1	19.3
Brantley, GA	682	Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	20.5	20.6
Bryan, GA	1,503	Pediatric_Nephrology	1 in 45 miles	0			100.0		0.0	12.5	12.5
Camden, GA	1,930	Pediatric_Nephrology	1 in 45 miles	7	275.7	1,930	100.0	0	0.0	4.9	4.9
Candler, GA	764	Pediatric_Nephrology	1 in 45 miles	2	382.0	764	100.0	0	0.0	4.0	4.0
Charlton, GA	412	Pediatric_Nephrology	1 in 45 miles	0		412	100.0	0	0.0	26.4	26.4
Evans, GA	693	Pediatric_Nephrology	1 in 45 miles	8	86.6	693	100.0	0	0.0	3.7	3.7
Jeff Davis, GA	834	Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	18.5	19.1
Liberty, GA	3,628	Pediatric_Nephrology	1 in 45 miles	12	302.3	3,628	100.0	0	0.0	3.7	3.8
Long, GA	876	Pediatric_Nephrology	1 in 45 miles	0		876	100.0	0	0.0	8.0	8.0
McIntosh, GA	543	Pediatric_Nephrology	1 in 45 miles	3	181.0	543	100.0	0	0.0	7.8	7.8
Montgomery, GA	356	Pediatric_Nephrology	1 in 45 miles	0		356	100.0	0	0.0	13.7	13.7
Pierce, GA	962	Pediatric_Nephrology	1 in 45 miles	0		962	100.0	0	0.0	11.2	11.5
Screven, GA	965	Pediatric_Nephrology	1 in 45 miles	0		965	100.0	0	0.0	20.0	20.0
Tattnall, GA	1,577	Pediatric_Nephrology	1 in 45 miles	2	788.5	1,577	100.0	0	0.0	10.1	11.4
Toombs, GA	1,746	Pediatric_Nephrology	1 in 45 miles	5	349.2	1,746	100.0	0	0.0	4.6	4.7
Ware, GA	2,179	Pediatric_Nephrology	1 in 45 miles	9	242.1	2,179	100.0	0	0.0	3.7	3.7
Wayne, GA	2,160	Pediatric_Nephrology	1 in 45 miles	7	308.6	2,160	100.0	0	0.0	7.4	7.6
Grand Totals	23,226	Pediatric_Nephrology	1 in 45 miles	64	362.9	23,226	100.0	0	0.0	8.4	8.6

Pediatric Neurology - Urban

January 23, 2023

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	P	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Neurology	1 in 30 miles	6	631.5	3,789	100.0	0	0.0	5.0	6.0		
Chatham, GA		Pediatric_Neurology	1 in 30 miles	67		11,716	100.0	0					
Effingham, GA		Pediatric_Neurology	1 in 30 miles	3			100.0						
Glynn, GA	3,794	Pediatric_Neurology	1 in 30 miles	17	223.2	3,794	100.0	0	0.0	3.0	3.2		
Grand Totals	21,570	Pediatric_Neurology	1 in 30 miles	93	231.9	21,570	100.0	0	0.0	3.8	4.3		

Pediatric Neurology - Rural

January 23, 2023

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Neurology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Neurology	1 in 45 miles	3	334.3	1,003	100.0	0	0.0	5.3	5.4
Bacon, GA	413	Pediatric_Neurology	1 in 45 miles	2	206.5	413	100.0	0	0.0	3.5	3.6
Brantley, GA	682	Pediatric_Neurology	1 in 45 miles	0			100.0	0	0.0	20.1	20.6
Bryan, GA	1,503	Pediatric_Neurology	1 in 45 miles	4	375.8		100.0		0.0	9.9	11.4
Camden, GA	1,930	Pediatric_Neurology	1 in 45 miles	8	241.3	1,930	100.0	0	0.0	5.8	5.8
Candler, GA	764	Pediatric_Neurology	1 in 45 miles	0		764	100.0	0	0.0	17.6	17.7
Charlton, GA	412	Pediatric_Neurology	1 in 45 miles	0		412	100.0	0	0.0	26.2	26.5
Evans, GA	693	Pediatric_Neurology	1 in 45 miles	1	693.0	693	100.0	0	0.0	3.7	22.0
Jeff Davis, GA	834	Pediatric_Neurology	1 in 45 miles	1	834.0		100.0	0	0.0	4.0	19.0
Liberty, GA	3,628	Pediatric_Neurology	1 in 45 miles	5	725.6	3,628	100.0	0	0.0	3.5	4.0
Long, GA	876	Pediatric_Neurology	1 in 45 miles	0		876	100.0	0	0.0	8.4	10.8
McIntosh, GA	543	Pediatric_Neurology	1 in 45 miles	1	543.0	543	100.0	0	0.0	7.6	19.1
Montgomery, GA	356	Pediatric_Neurology	1 in 45 miles	0		356	100.0	0	0.0	13.0	13.9
Pierce, GA	962	Pediatric_Neurology	1 in 45 miles	0		962	100.0	0	0.0	11.0	11.0
Screven, GA	965	Pediatric_Neurology	1 in 45 miles	2	482.5	965	100.0	0	0.0	7.6	7.7
Tattnall, GA	1,577	Pediatric_Neurology	1 in 45 miles	1	1,577.0	1,577	100.0	0	0.0	16.8	21.0
Toombs, GA	1,746	Pediatric_Neurology	1 in 45 miles	3	582.0	1,746	100.0	0	0.0	4.3	5.2
Ware, GA	2,179	Pediatric_Neurology	1 in 45 miles	5	435.8	2,179	100.0	0	0.0	3.9	4.2
Wayne, GA	2,160	Pediatric_Neurology	1 in 45 miles	7	308.6	2,160	100.0	0	0.0	7.6	7.7
Grand Totals	23,226	Pediatric_Neurology	1 in 45 miles	43	540.1	23,226	100.0	0	0.0	7.8	9.9

Pediatric Ophthalmology - Urban

January 23, 2023

Access Analysis
Pediatric Ophthalmology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Ophthalmology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Ophthalmol	1 in 30 miles	13	291.5		100.0	0	0.0	5.3	5.6		
Chatham, GA		Pediatric_Ophthalmol	1 in 30 miles	28		11,716			0.0	3.6			
Effingham, GA		Pediatric_Ophthalmol	1 in 30 miles	1			100.0		0.0	9.2			
Glynn, GA	3,794	Pediatric_Ophthalmol	1 in 30 miles	8	474.3	3,794	100.0	0	0.0	4.5	4.7		
Grand Totals	21,570	Pediatric_Ophthalmol	1 in 30 miles	50	431.4	21,570	100.0	0	0.0	4.7	5.5		

Pediatric Ophthalmology - Rural

January 23, 2023

Access Analysis
Pediatric Ophthalmology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Ophthalmol	1 in 45 miles	1	1,003.0	1,003	100.0	0	0.0	5.5	28.0
Bacon, GA	413	Pediatric_Ophthalmol	1 in 45 miles	0		413	100.0	0	0.0	20.1	23.9
Brantley, GA	682	Pediatric_Ophthalmol	1 in 45 miles	0			100.0	0	0.0	21.0	21.0
Bryan, GA	1,503	Pediatric_Ophthalmol	1 in 45 miles	2	751.5		100.0	0	0.0	7.3	15.5
Camden, GA	1,930	Pediatric_Ophthalmol	1 in 45 miles	2	965.0	1,930	100.0	0	0.0	5.8	5.8
Candler, GA	764	Pediatric_Ophthalmol	1 in 45 miles	0		764	100.0	0	0.0	18.2	18.3
Charlton, GA	412	Pediatric_Ophthalmol	1 in 45 miles	0		412	100.0	0	0.0	26.7	26.7
Evans, GA	693	Pediatric_Ophthalmol	1 in 45 miles	0		693	100.0	0	0.0	16.4	17.4
Jeff Davis, GA	834	Pediatric_Ophthalmol	1 in 45 miles	0		834	100.0	0	0.0	18.6	30.4
Liberty, GA	3,628	Pediatric_Ophthalmol	1 in 45 miles	4	907.0	3,628	100.0	0	0.0	3.8	4.4
Long, GA	876	Pediatric_Ophthalmol	1 in 45 miles	0		876	100.0	0	0.0	10.4	10.4
McIntosh, GA	543	Pediatric_Ophthalmol	1 in 45 miles	0		543	100.0	0	0.0	21.0	22.2
Montgomery, GA	356	Pediatric_Ophthalmol	1 in 45 miles	0		356	100.0	0	0.0	13.6	13.7
Pierce, GA	962	Pediatric_Ophthalmol	1 in 45 miles	0		962	100.0	0	0.0	10.8	10.8
Screven, GA	965	Pediatric_Ophthalmol	1 in 45 miles	0		965	100.0	0	0.0	25.0	25.4
Tattnall, GA	1,577	Pediatric_Ophthalmol	1 in 45 miles	3	525.7	1,577	100.0	0	0.0	11.7	11.8
Toombs, GA	1,746	Pediatric_Ophthalmol	1 in 45 miles	3	582.0	1,746	100.0	0	0.0	4.9	5.3
Ware, GA	2,179	Pediatric_Ophthalmol	1 in 45 miles	10	217.9	2,179	100.0	0	0.0	3.7	4.0
Wayne, GA	2,160	Pediatric_Ophthalmol	1 in 45 miles	3	720.0	2,160	100.0	0	0.0	8.1	8.1
Grand Totals	23,226	Pediatric_Ophthalmol	1 in 45 miles	28	829.5	23,226	100.0	0	0.0	9.8	12.1

Pediatric Optometry - Urban

January 23, 2023

Access Analysis
Pediatric Optometry- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Optometry

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	3,789	Pediatric_Optometry	1 in 30 miles	8	473.6	3,789	100.0	0	0.0	5.5	6.3	
Chatham, GA		Pediatric_Optometry	1 in 30 miles	30		11,716	100.0	0	0.0			
Effingham, GA		Pediatric_Optometry	1 in 30 miles	8		2,271						
Glynn, GA	3,794	Pediatric_Optometry	1 in 30 miles	14	271.0	3,794	100.0	0	0.0	3.5	3.7	
Grand Totals	21,570	Pediatric_Optometry	1 in 30 miles	60	359.5	21,570	100.0	0	0.0	4.3	4.7	
© 2023 Quest Analytics, LLC.												

Pediatric Optometry - Rural

January 23, 2023

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Optometry	1 in 45 miles	0		1,003	100.0	0	0.0	28.6	30.6
Bacon, GA	413	Pediatric_Optometry	1 in 45 miles	0		413	100.0	0	0.0	23.5	24.3
Brantley, GA	682	Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	19.8	19.8
Bryan, GA	1,503	Pediatric_Optometry	1 in 45 miles	2	751.5		100.0		0.0	7.3	15.1
Camden, GA	1,930	Pediatric_Optometry	1 in 45 miles	9	214.4	1,930	100.0	0	0.0	5.4	5.7
Candler, GA	764	Pediatric_Optometry	1 in 45 miles	0		764	100.0	0	0.0	18.9	19.7
Charlton, GA	412	Pediatric_Optometry	1 in 45 miles	0		374	90.8	38	9.2	28.0	28.1
Evans, GA	693	Pediatric_Optometry	1 in 45 miles	0		693	100.0	0	0.0	16.5	17.5
Jeff Davis, GA	834	Pediatric_Optometry	1 in 45 miles	0		834	100.0	0	0.0	28.6	31.2
Liberty, GA	3,628	Pediatric_Optometry	1 in 45 miles	4	907.0	3,628	100.0	0	0.0	3.8	4.4
Long, GA	876	Pediatric_Optometry	1 in 45 miles	0		876	100.0	0	0.0	10.5	10.5
McIntosh, GA	543	Pediatric_Optometry	1 in 45 miles	0		543	100.0	0	0.0	20.3	21.2
Montgomery, GA	356	Pediatric_Optometry	1 in 45 miles	0		356	100.0	0	0.0	13.7	26.4
Pierce, GA	962	Pediatric_Optometry	1 in 45 miles	0		962	100.0	0	0.0	10.9	12.3
Screven, GA	965	Pediatric_Optometry	1 in 45 miles	0		965	100.0	0	0.0	24.9	25.0
Tattnall, GA	1,577	Pediatric_Optometry	1 in 45 miles	2	788.5	1,577	100.0	0	0.0	11.8	13.7
Toombs, GA	1,746	Pediatric_Optometry	1 in 45 miles	1	1,746.0	1,746	100.0	0	0.0	5.3	34.5
Ware, GA	2,179	Pediatric_Optometry	1 in 45 miles	10	217.9	2,179	100.0	0	0.0	3.9	4.6
Wayne, GA	2,160	Pediatric_Optometry	1 in 45 miles	0		2,160	100.0	0	0.0	22.8	22.8
Grand Totals	23,226	Pediatric_Optometry	1 in 45 miles	28	829.5	23,188	99.8	38	0.2	12.6	16.2

Pediatric Orthopedics - Urban

January 23, 2023

Access Analysis
Pediatric Othopedics- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Orthopedics

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	3,789	Pediatric_Orthopedics	1 in 30 miles	39	97.2	3,789	100.0	0	0.0	3.8	4.8
Chatham, GA	11,716	Pediatric_Orthopedics	1 in 30 miles	249	47.1	11,716	100.0	0			3.1
Effingham, GA		Pediatric_Orthopedics	1 in 30 miles	72			100.0			4.7	4.9
Glynn, GA	3,794	Pediatric_Orthopedics	1 in 30 miles	54	70.3	3,794	100.0	0	0.0	2.9	2.9
Grand Totals	21,570	Pediatric_Orthopedics	1 in 30 miles	414	52.1	21,570	100.0	0	0.0	3.1	3.6

Pediatric Orthopedics - Rural

January 23, 2023

Access Analysis
Pediatric Orthopedics- Rural

Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Batic Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,003	Pediatric_Orthopedics	1 in 45 miles	37	27.1	1,003	100.0	0	0.0	4.4	5.2		
Bacon, GA	413	Pediatric_Orthopedics	1 in 45 miles	24	17.2	413	100.0	0	0.0	2.9	3.1		
Brantley, GA	682	Pediatric_Orthopedics	1 in 45 miles	0		682	100.0	0	0.0	19.0	19.5		
Bryan, GA	1,503	Pediatric_Orthopedics	1 in 45 miles	41	36.7	1,503	100.0	0	0.0	9.3	10.0		
Camden, GA	1,930	Pediatric_Orthopedics	1 in 45 miles	5	386.0	1,930	100.0	0	0.0	5.7	5.8		
Candler, GA	764	Pediatric_Orthopedics	1 in 45 miles	25	30.6	764	100.0	0	0.0	3.6	3.6		
Charlton, GA	412	Pediatric_Orthopedics	1 in 45 miles	0		412	100.0	0	0.0	26.0	26.1		
Evans, GA	693	Pediatric_Orthopedics	1 in 45 miles	54	12.8	693	100.0	0	0.0	3.7	3.7		
Jeff Davis, GA	834	Pediatric_Orthopedics	1 in 45 miles	9	92.7	834	100.0	0	0.0	3.9	3.9		
Liberty, GA	3,628	Pediatric_Orthopedics	1 in 45 miles	66	55.0	3,628	100.0	0	0.0	2.1	2.6		
Long, GA	876	Pediatric_Orthopedics	1 in 45 miles	1	876.0	876	100.0	0	0.0	5.9	7.7		
McIntosh, GA	543	Pediatric_Orthopedics	1 in 45 miles	30	18.1	543	100.0	0	0.0	5.6	6.2		
Montgomery, GA	356	Pediatric_Orthopedics	1 in 45 miles	0		356	100.0	0	0.0	9.7	9.7		
Pierce, GA		Pediatric_Orthopedics	1 in 45 miles	2	481.0		100.0	0	0.0	5.4	5.5		
Screven, GA	965	Pediatric_Orthopedics	1 in 45 miles	56	17.2	965	100.0	0	0.0	7.4	7.5		
Tattnall, GA	1,577	Pediatric_Orthopedics	1 in 45 miles	51	30.9	1,577	100.0	0	0.0	5.0	9.6		
Toombs, GA		Pediatric_Orthopedics	1 in 45 miles	53	32.9		100.0		0.0	3.7	3.7		
Ware, GA		Pediatric_Orthopedics	1 in 45 miles	53			100.0		0.0	3.3	3.4		
Wayne, GA	2,160	Pediatric_Orthopedics	1 in 45 miles	32	67.5	2,160	100.0	0	0.0	7.2	7.4		
Grand Totals	23,226	Pediatric_Orthopedics	1 in 45 miles	539	43.1	23,226	100.0	0	0.0	5.7	6.3		
	L												

Pediatric Rheumatology - Urban

January 23, 2023

Access Analysis
Pediatric Rheumatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Rheumatology	1 in 30 miles	0		0	0.0	3,789	100.0	56.4	56.6		
Chatham, GA	11,716	Pediatric_Rheumatology	1 in 30 miles	4	2,929.0	11,716		0	0.0	7.5	7.7		
Effingham, GA			1 in 30 miles	0		1,384			39.1				
Glynn, GA	3,794	Pediatric_Rheumatology	1 in 30 miles	1	3,794.0	3,794	100.0	0	0.0	4.8	52.0		
Grand Totals	21,570	Pediatric_Rheumatology	1 in 30 miles	5	4,314.0	16,894	78.3	4,676	21.7	17.8	26.2		

Pediatric Rheumatology - Rural

January 23, 2023

Access Analysis
Pediatric Rheumatology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Rheumatology	1 in 45 miles	2	501.5	1,003	100.0	0	0.0	5.4	6.0
Bacon, GA	413	Pediatric_Rheumatology	1 in 45 miles	0		413	100.0	0	0.0	19.8	20.7
Brantley, GA	682	Pediatric_Rheumatology	1 in 45 miles	0		682	100.0	0	0.0	21.5	33.2
Bryan, GA	1,503	Pediatric_Rheumatology	1 in 45 miles	0		1,477	98.3	26	1.7	27.1	27.2
Camden, GA	1,930	Pediatric_Rheumatology	1 in 45 miles	0		1,930	100.0	0	0.0	30.0	32.8
Candler, GA	764	Pediatric_Rheumatology	1 in 45 miles	0		29	3.8	735	96.2	50.6	50.9
Charlton, GA	412	Pediatric_Rheumatology	1 in 45 miles	0		412	100.0	0	0.0	39.3	43.0
Evans, GA	693	Pediatric_Rheumatology	1 in 45 miles	0		139	20.1	554	79.9	46.7	46.9
Jeff Davis, GA	834	Pediatric_Rheumatology	1 in 45 miles	0		834	100.0		0.0	18.5	19.3
Liberty, GA	3,628	Pediatric_Rheumatology	1 in 45 miles	0		3,628	100.0	0	0.0	38.0	38.1
Long, GA		Pediatric_Rheumatology	1 in 45 miles	0			100.0	0	0.0	37.9	38.3
McIntosh, GA	543	Pediatric_Rheumatology	1 in 45 miles	0		543	100.0	0	0.0	23.0	48.3
Montgomery, GA		Pediatric_Rheumatology	1 in 45 miles	0		347	97.5	9	2.5	30.8	31.5
Pierce, GA		Pediatric_Rheumatology	1 in 45 miles	0		962			0.0	12.9	34.8
Screven, GA		Pediatric_Rheumatology	1 in 45 miles	0		8	0.8		99.2	56.3	56.4
Tattnall, GA		Pediatric_Rheumatology	1 in 45 miles	0		1,572	99.7		0.3	32.5	32.7
Toombs, GA		Pediatric_Rheumatology	1 in 45 miles	0		1,746			0.0	30.3	30.8
Ware, GA		Pediatric_Rheumatology	1 in 45 miles	1	2,179.0	2,179	100.0		0.0	4.0	38.6
Wayne, GA		Pediatric_Rheumatology	1 in 45 miles	0		2,160	100.0	0	0.0	30.8	32.8
Grand Totals	23,226	Pediatric_Rheumatology	1 in 45 miles	3	7,742.0	20,940	90.2	2,286	9.8	28.9	34.6

Pediatric Vascular Surgery - Urban

January 23, 2023

Access Analysis
Pediatric Vascular Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	3,789	Pediatric_Vascular Su	1 in 30 miles	9	421.0	3,789	100.0	0	0.0	5.5	5.5		
Chatham, GA	11,716	Pediatric_Vascular Su	1 in 30 miles	47		11,716	100.0	0	0.0	3.1			
Effingham, GA	2,271	Pediatric_Vascular Su	1 in 30 miles	10	227.1		100.0		0.0	5.1			
Glynn, GA	3,794	Pediatric_Vascular Su	1 in 30 miles	4	948.5	3,794	100.0	0	0.0	4.5	4.6		
Grand Totals	21,570	Pediatric_Vascular Su	1 in 30 miles	70	308.1	21,570	100.0	0	0.0	4.0	4.5		
© 2023 Quest Analytics II C													

Pediatric Vascular Surgery -Rural

January 23, 2023

Access Analysis
Pediatric Vascular Surgery- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Vascular Surgery

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Vascular Su	1 in 45 miles	0		1,003	100.0	0	0.0	28.5	29.8
Bacon, GA	413	Pediatric_Vascular Su	1 in 45 miles	0		413	100.0	0	0.0	24.0	24.3
Brantley, GA	682	Pediatric_Vascular Su	1 in 45 miles	0		682	100.0	0	0.0	20.5	21.1
Bryan, GA	1,503	Pediatric_Vascular Su	1 in 45 miles	0			100.0	0	0.0	15.5	16.6
Camden, GA	1,930	Pediatric_Vascular Su	1 in 45 miles	0		1,930	100.0	0	0.0	30.0	30.1
Candler, GA	764	Pediatric_Vascular Su	1 in 45 miles	5	152.8	764	100.0	0	0.0	4.1	4.1
Charlton, GA	412	Pediatric_Vascular Su	1 in 45 miles	0		412	100.0	0	0.0	38.0	39.1
Evans, GA	693	Pediatric_Vascular Su	1 in 45 miles	0		693	100.0	0	0.0	21.4	21.4
Jeff Davis, GA	834	Pediatric_Vascular Su	1 in 45 miles	0		834	100.0	0	0.0	30.4	30.4
Liberty, GA	3,628	Pediatric_Vascular Su	1 in 45 miles	0		3,628	100.0	0	0.0	28.4	32.9
Long, GA	876	Pediatric_Vascular Su	1 in 45 miles	0		876	100.0	0	0.0	20.7	41.2
McIntosh, GA	543	Pediatric_Vascular Su	1 in 45 miles	0		543	100.0	0	0.0	20.7	20.7
Montgomery, GA	356	Pediatric_Vascular Su	1 in 45 miles	0		356	100.0	0	0.0	13.7	13.7
Pierce, GA	962	Pediatric_Vascular Su	1 in 45 miles	0		962	100.0	0	0.0	11.5	12.6
Screven, GA	965	Pediatric_Vascular Su	1 in 45 miles	0		965	100.0	0	0.0	24.9	24.9
Tattnall, GA	1,577	Pediatric_Vascular Su	1 in 45 miles	0		1,577	100.0	0	0.0	21.6	27.6
Toombs, GA	1,746	Pediatric_Vascular Su	1 in 45 miles	2	873.0	1,746	100.0	0	0.0	5.3	5.4
Ware, GA	2,179	Pediatric_Vascular Su	1 in 45 miles	2	1,089.5	2,179	100.0	0	0.0	3.8	5.0
Wayne, GA	2,160	Pediatric_Vascular Su	1 in 45 miles	1	2,160.0	2,160	100.0	0	0.0	8.1	42.7
Grand Totals	23,226	Pediatric_Vascular Su	1 in 45 miles	10	2,322.6	23,226	100.0	0	0.0	18.7	24.1

Pediatric Urology - Urban

January 23, 2023

Access Analysis
Pediatric Urology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE_URBAN)
Pediatric_Urology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatric_Urology	1 in 30 miles	6		3,789				5.5	
Chatham, GA		Pediatric_Urology	1 in 30 miles	11	1,065.1	11,716	100.0	0	0.0	6.0	7.4
Effingham, GA		Pediatric_Urology	1 in 30 miles	1	2,271.0	2,271	100.0	0		10.1	24.5
Glynn, GA	3,794	Pediatric_Urology	1 in 30 miles	6	632.3	3,794	100.0	0	0.0	4.6	4.7
Grand Totals	21,570	Pediatric_Urology	1 in 30 miles	24	898.8	21,570	100.0	0	0.0	6.1	8.5

Pediatric Urology -Rural

January 23, 2023

Access Analysis
Pediatric Urology- Rural
Member / Provider Groups
Pediatric Rural Members (SE_RURAL)
Pediatric_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,003	Pediatric_Urology	1 in 45 miles	0		1,003	100.0	0	0.0	20.7	29.0
Bacon, GA	413	Pediatric_Urology	1 in 45 miles	1	413.0	413	100.0	0	0.0	3.5	24.0
Brantley, GA	682	Pediatric_Urology	1 in 45 miles	0		682	100.0	0	0.0	21.2	27.3
Bryan, GA	1,503	Pediatric_Urology	1 in 45 miles	0		1,503	100.0	0	0.0	18.3	
Camden, GA	1,930	Pediatric_Urology	1 in 45 miles	4	482.5	1,930	100.0	0	0.0	5.8	5.8
Candler, GA	764	Pediatric_Urology	1 in 45 miles	0		764	100.0	0	0.0	18.0	18.1
Charlton, GA	412	Pediatric_Urology	1 in 45 miles	0		412	100.0	0	0.0	26.5	26.7
Evans, GA	693	Pediatric_Urology	1 in 45 miles	1	693.0	693	100.0	0	0.0	3.8	22.1
Jeff Davis, GA	834	Pediatric_Urology	1 in 45 miles	0		834	100.0	0	0.0	26.4	30.7
Liberty, GA	3,628	Pediatric_Urology	1 in 45 miles	0		3,628	100.0	0	0.0	29.4	35.1
Long, GA	876	Pediatric_Urology	1 in 45 miles	0		876	100.0	0	0.0	20.5	33.4
McIntosh, GA	543	Pediatric_Urology	1 in 45 miles	0		543	100.0	0	0.0	22.8	22.9
Montgomery, GA	356	Pediatric_Urology	1 in 45 miles	0		356	100.0	0	0.0	13.9	13.9
Pierce, GA	962	Pediatric_Urology	1 in 45 miles	0		962	100.0	0	0.0	11.9	26.7
Screven, GA	965	Pediatric_Urology	1 in 45 miles	0		965	100.0	0	0.0	24.9	26.8
Tattnall, GA	1,577	Pediatric_Urology	1 in 45 miles	0		1,577	100.0	0	0.0	17.5	22.4
Toombs, GA	1,746	Pediatric_Urology	1 in 45 miles	6	291.0	1,746	100.0	0	0.0	4.8	4.9
Ware, GA	2,179	Pediatric_Urology	1 in 45 miles	1	2,179.0	2,179	100.0	0	0.0	4.1	
Wayne, GA		Pediatric_Urology	1 in 45 miles	1	2,160.0	2,160	100.0	0	0.0	8.1	32.6
, ,		0,									
L					ļ		Ц				

Pharmacy - Urban

January 23, 2023

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members (SE_URBAN)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	PHARMACY	1 in 15 miles	13	388.1	5,041	99.9	4	0.1	3.6	4.0
Chatham, GA		PHARMACY	1 in 15 miles	63	252.6		100.0	0			
Effingham, GA		PHARMACY	1 in 15 miles	9							
Glynn, GA	4,872	PHARMACY	1 in 15 miles	19	256.4	4,872	100.0	0	0.0	1.7	2.6
Grand Totals	28,882	PHARMACY	1 in 15 miles	104	277.7	28,876	99.9	6	0.1	2.0	2.7
© 2023 Quest Analytics II C											

Pharmacy -Rural

January 23, 2023

Access Analysis
Pharmacy- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
PHARMACY

			Members With	and With	out Access						
	Member	F	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	PHARMACY	1 in 30 miles	9	140.4	1,264	100.0	0	0.0	4.6	4.8
Bacon, GA	542	PHARMACY	1 in 30 miles	4	135.5	542	100.0	0	0.0	3.2	
Brantley, GA	892	PHARMACY	1 in 30 miles	3	297.3	892	100.0	0	0.0	4.9	
Bryan, GA	2,020	PHARMACY	1 in 30 miles	7	288.6	2,020	100.0	0	0.0	5.0	5.9
Camden, GA	2,521	PHARMACY	1 in 30 miles	8	315.1	2,521	100.0	0	0.0	2.3	3.5
Candler, GA	1,008	PHARMACY	1 in 30 miles	3	336.0	1,008	100.0	0	0.0	3.5	4.0
Charlton, GA	526	PHARMACY	1 in 30 miles	2	263.0	526	100.0	0	0.0	4.8	6.6
Evans, GA	884	PHARMACY	1 in 30 miles	3	294.7	884	100.0	0	0.0	3.5	3.8
Jeff Davis, GA	1,073	PHARMACY	1 in 30 miles	6	178.8	1,073	100.0	0	0.0	3.4	3.8
Liberty, GA	4,821	PHARMACY	1 in 30 miles	9	535.7	4,821	100.0	0	0.0	2.3	3.9
Long, GA	1,122	PHARMACY	1 in 30 miles	1	1,122.0		100.0	0	0.0	5.1	9.8
McIntosh, GA		PHARMACY	1 in 30 miles	3	242.0		100.0	0	0.0	4.2	8.3
Montgomery, GA	481	PHARMACY	1 in 30 miles	0		481	100.0	0	0.0	8.7	11.5
Pierce, GA		PHARMACY	1 in 30 miles	4	312.3		100.0	0	0.0	3.6	5.1
Screven, GA	1,276	PHARMACY	1 in 30 miles	1	1,276.0	1,276	100.0	0	0.0	7.4	19.1
Tattnall, GA		PHARMACY	1 in 30 miles	4	505.8		100.0	0	0.0	4.7	5.0
Toombs, GA		PHARMACY	1 in 30 miles	8		2,310		0	0.0	3.2	
Ware, GA		PHARMACY	1 in 30 miles	12			100.0		0.0	3.1	3.4
Wayne, GA	2,834	PHARMACY	1 in 30 miles	8		2,834		0	0.0	5.2	6.2
Grand Totals	30,449	PHARMACY	1 in 30 miles	95	320.5	30,449	100.0	0	0.0	3.9	5.5

24 Hour Pharmacy - Urban

January 23, 2023

Access Analysis 24 Hour Pharmacy- Urban Member / Provider Groups Urban Members (SE_URBAN) 24 Hour Pharmacy

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0		142.3
Chatham, GA		24 Hour Pharmacy	1 in 15 miles	0		0	0.0			152.4	158.4
Effingham, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0	143.8	156.3
Glynn, GA	4,872	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	4,872	100.0	110.3	173.1
Grand Totals	28,882	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	28,882	100.0	137.7	157.9

24 Hour Pharmacy - Rural

January 23, 2023

Access Analysis 24 Hour Pharmacy- Rural Member / Provider Groups Rural Members (SE_RURAL) 24 Hour Pharmacy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,264	100.0	92.7	114.0
Bacon, GA	542	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	542	100.0	78.6	117.5
Brantley, GA	892	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	892	100.0	85.8	155.7
Bryan, GA	2,020	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,020		135.5	145.6
Camden, GA	2,521	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,521	100.0	100.0	188.0
Candler, GA	1,008	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,008	100.0	98.7	130.2
Charlton, GA	526	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	526	100.0	77.8	175.2
Evans, GA	884	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	113.6	126.1
Jeff Davis, GA	1,073	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,073	100.0	85.0	100.1
Liberty, GA	4,821	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	4,821	100.0	122.3	142.1
Long, GA	1,122	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,122	100.0	114.7	137.4
McIntosh, GA	726	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	726	100.0	120.9	165.2
Montgomery, GA	481	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	481	100.0	88.7	102.5
Pierce, GA	1,249	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,249	100.0	74.1	137.5
Screven, GA	1,276	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,276	100.0	118.9	146.4
Tattnall, GA	2,023	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,023	100.0	109.8	118.1
Toombs, GA	2,310	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,310	100.0	91.6	110.0
Ware, GA	2,877	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,877	100.0	64.5	137.9
Wayne, GA	2,834	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,834	100.0	100.3	137.6
Grand Totals	30,449	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	30,449	100.0	101.5	138.1

Occupational Therapy - Urban

January 23, 2023

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Occupational Therapy

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Occupational Therapy	1 in 30 miles	17	296.8	5,045	100.0	0	0.0	4.1	5.0
Chatham, GA		Occupational Therapy	1 in 30 miles	99	160.7	15,914	100.0	0	0.0	2.8	
Effingham, GA		Occupational Therapy	1 in 30 miles	18			100.0		0.0	7.1	
Glynn, GA	4,872	Occupational Therapy	1 in 30 miles	14	348.0	4,872	100.0	0	0.0	4.1	4.1
Grand Totals	28,882	Occupational Therapy	1 in 30 miles	148	195.1	28,882	100.0	0	0.0	3.7	4.0
© 2023 Quaet Analytics II C	L										

Occupational Therapy - Rural

January 23, 2023

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Occupational Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Occupational Therapy	1 in 45 miles	1	1,264.0	1,264	100.0	0	0.0	5.3	17.9
Bacon, GA	542	Occupational Therapy	1 in 45 miles	7	77.4	542	100.0	0	0.0	3.3	3.9
Brantley, GA	892	Occupational Therapy	1 in 45 miles	0		892	100.0	0	0.0	20.3	20.3
Bryan, GA	2,020	Occupational Therapy	1 in 45 miles	28			100.0	0	0.0	6.7	7.3
Camden, GA	2,521	Occupational Therapy	1 in 45 miles	23	109.6	2,521	100.0	0	0.0	4.8	4.8
Candler, GA	1,008	Occupational Therapy	1 in 45 miles	0		1,008	100.0	0	0.0	15.1	17.5
Charlton, GA	526	Occupational Therapy	1 in 45 miles	0		488	92.8	38	7.2	26.6	26.6
Evans, GA	884	Occupational Therapy	1 in 45 miles	0		884	100.0	0	0.0	15.8	16.5
Jeff Davis, GA	1,073	Occupational Therapy	1 in 45 miles	1	1,073.0	1,073	100.0	0	0.0	4.1	18.9
Liberty, GA	4,821	Occupational Therapy	1 in 45 miles	3	1,607.0	4,821	100.0	0	0.0	3.2	4.6
Long, GA	1,122	Occupational Therapy	1 in 45 miles	0		1,122	100.0	0	0.0	7.3	10.1
McIntosh, GA	726	Occupational Therapy	1 in 45 miles	1	726.0	726	100.0	0	0.0	7.3	20.2
Montgomery, GA	481	Occupational Therapy	1 in 45 miles	0		481	100.0	0	0.0	11.8	13.2
Pierce, GA	1,249	Occupational Therapy	1 in 45 miles	0		1,249	100.0	0	0.0	11.3	11.3
Screven, GA	1,276	Occupational Therapy	1 in 45 miles	2	638.0	1,276	100.0	0	0.0	7.7	7.7
Tattnall, GA	2,023	Occupational Therapy	1 in 45 miles	4	505.8	2,023	100.0	0	0.0	11.8	11.8
Toombs, GA	2,310	Occupational Therapy	1 in 45 miles	11	210.0	2,310	100.0	0	0.0	3.6	3.9
Ware, GA	2,877	Occupational Therapy	1 in 45 miles	7	411.0	2,877	100.0	0	0.0	3.7	3.9
Wayne, GA	2,834	Occupational Therapy	1 in 45 miles	6	472.3	2,834	100.0	0	0.0	7.8	7.8
Grand Totals	30,449	Occupational Therapy	1 in 45 miles	94	323.9	30,411	99.9	38	0.1	7.3	9.2

Physical Therapy - Urban

January 23, 2023

Access Analysis
Physical Therapy- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Physical Therapy

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Physical Therapy	1 in 30 miles	35		5,045		0		4.9	5.1
Chatham, GA		Physical Therapy	1 in 30 miles	152	104.7	15,914	100.0	0	0.0		3.2
Effingham, GA		Physical Therapy	1 in 30 miles	33		3,051	100.0	0			7.6
Glynn, GA	4,872	Physical Therapy	1 in 30 miles	38	128.2	4,872	100.0	0	0.0	2.9	4.0
Grand Totals	28,882	Physical Therapy	1 in 30 miles	258	111.9	28,882	100.0	0	0.0	3.6	4.1

Physical Therapy - Rural

January 23, 2023

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Physical Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Physical Therapy	1 in 45 miles	1	1,264.0	1,264	100.0	0	0.0	5.4	17.7
Bacon, GA	542	Physical Therapy	1 in 45 miles	8	67.8	542	100.0	0	0.0	3.4	3.9
Brantley, GA	892	Physical Therapy	1 in 45 miles	0		892	100.0	0	0.0	19.3	19.8
Bryan, GA	2,020	Physical Therapy	1 in 45 miles	41	49.3		100.0		0.0	4.5	7.7
Camden, GA	2,521	Physical Therapy	1 in 45 miles	40	63.0	2,521	100.0	0	0.0	4.3	4.7
Candler, GA	1,008	Physical Therapy	1 in 45 miles	1	1,008.0		100.0	0	0.0	3.8	17.5
Charlton, GA	526	Physical Therapy	1 in 45 miles	7	75.1	526	100.0	0	0.0	7.7	7.7
Evans, GA	884	Physical Therapy	1 in 45 miles	1	884.0	884	100.0	0	0.0	3.8	15.5
Jeff Davis, GA	1,073	Physical Therapy	1 in 45 miles	1	1,073.0	1,073	100.0	0	0.0	4.2	19.0
Liberty, GA	4,821	Physical Therapy	1 in 45 miles	7	688.7	4,821	100.0	0	0.0	2.6	3.9
Long, GA	1,122	Physical Therapy	1 in 45 miles	0		1,122	100.0	0	0.0	7.1	8.3
McIntosh, GA	726	Physical Therapy	1 in 45 miles	2	363.0	726	100.0	0	0.0	5.8	8.8
Montgomery, GA	481	Physical Therapy	1 in 45 miles	0		481	100.0	0	0.0	12.1	14.2
Pierce, GA	1,249	Physical Therapy	1 in 45 miles	0		1,249	100.0	0	0.0	11.2	11.3
Screven, GA	1,276	Physical Therapy	1 in 45 miles	1	1,276.0	1,276	100.0	0	0.0	7.8	19.9
Tattnall, GA	2,023	Physical Therapy	1 in 45 miles	12	168.6	2,023	100.0	0	0.0	4.9	5.3
Toombs, GA	2,310	Physical Therapy	1 in 45 miles	27	85.6	2,310	100.0	0	0.0	3.8	4.5
Ware, GA	2,877	Physical Therapy	1 in 45 miles	12	239.8	2,877	100.0	0	0.0	3.3	3.6
Wayne, GA	2,834	Physical Therapy	1 in 45 miles	10	283.4	2,834	100.0	0	0.0	6.8	7.3
Grand Totals	30,449	Physical Therapy	1 in 45 miles	171	178.1	30,449	100.0	0	0.0	5.4	8.5

Speech Therapy - Urban

January 23, 2023

Access Analysis SpeechTherapy- Urban Member / Provider Groups Urban Members (SE_URBAN) Speech Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Speech Therapy	1 in 30 miles	19			100.0			4.4	
Chatham, GA		Speech Therapy	1 in 30 miles	154		15,914			0.0		
Effingham, GA		Speech Therapy	1 in 30 miles	13		3,051	100.0	0			
Glynn, GA	4,872	Speech Therapy	1 in 30 miles	39	124.9	4,872	100.0	0	0.0	2.2	3.0
Grand Totals	28,882	Speech Therapy	1 in 30 miles	225	128.4	28,882	100.0	0	0.0	2.8	3.6

Speech Therapy - Rural

January 23, 2023

Access Analysis Speech Therapy- Rural Member / Provider Groups Rural Members (SE_RURAL) Speech Therapy

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Speech Therapy	1 in 45 miles	18	70.2	1,264	100.0	0	0.0	5.2	5.2
Bacon, GA	542	Speech Therapy	1 in 45 miles	12	45.2	542	100.0	0	0.0	3.3	3.3
Brantley, GA	892	Speech Therapy	1 in 45 miles	0		892	100.0	0	0.0	18.0	19.9
Bryan, GA	2,020	Speech Therapy	1 in 45 miles	30	67.3	2,020	100.0	0	0.0	5.7	7.4
Camden, GA	2,521	Speech Therapy	1 in 45 miles	36	70.0	2,521	100.0	0	0.0	3.5	3.8
Candler, GA	1,008	Speech Therapy	1 in 45 miles	0		1,008	100.0	0	0.0	15.2	15.2
Charlton, GA	526	Speech Therapy	1 in 45 miles	0		526	100.0	0	0.0	24.8	24.9
Evans, GA	884	Speech Therapy	1 in 45 miles	0		884	100.0	0	0.0	10.6	19.3
Jeff Davis, GA	1,073	Speech Therapy	1 in 45 miles	19	56.5	1,073	100.0	0	0.0	3.6	3.8
Liberty, GA	4,821	Speech Therapy	1 in 45 miles	5	964.2	4,821	100.0	0	0.0	4.5	4.9
Long, GA	1,122	Speech Therapy	1 in 45 miles	0		1,122	100.0	0	0.0	12.1	12.1
McIntosh, GA		Speech Therapy	1 in 45 miles	0		726	100.0	0	0.0	18.3	19.6
Montgomery, GA	481	Speech Therapy	1 in 45 miles	0		481	100.0	0	0.0	11.7	11.7
Pierce, GA	1,249	Speech Therapy	1 in 45 miles	0		1,249	100.0	0	0.0	10.5	11.3
Screven, GA		Speech Therapy	1 in 45 miles	0		1,276			0.0	20.1	25.2
Tattnall, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	21.1	21.5
Toombs, GA		Speech Therapy	1 in 45 miles	22	105.0		100.0		0.0	4.3	4.3
Ware, GA		Speech Therapy	1 in 45 miles	16		2,877			0.0	3.5	3.9
Wayne, GA		Speech Therapy	1 in 45 miles	11	257.6		100.0		0.0	7.0	7.9
Grand Totals	30,449	Speech Therapy	1 in 45 miles	169	180.2	30,449	100.0	0	0.0	8.6	9.5

Outpatient Radiology Services - Urban

January 23, 2023

Access Analysis
Outpatient Radiology Services- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Outpatient Radiology Services

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Outpatient Radiology	1 in 30 miles	36			100.0	0	0.0	4.3	4.6
Chatham, GA		Outpatient Radiology	1 in 30 miles	346		15,914	100.0	0	0.0	3.2	
Effingham, GA		Outpatient Radiology	1 in 30 miles	44			100.0	0	0.0	4.6	
Glynn, GA	4,872	Outpatient Radiology	1 in 30 miles	13	374.8	4,872	100.0	0	0.0	4.3	4.4
Grand Totals	28,882	Outpatient Radiology	1 in 30 miles	439	65.8	28,882	100.0	0	0.0	3.7	4.0
© 2023 Quaet Analytics II C										_	

Outpatient Radiology Services - Rural

January 23, 2023

Access Analysis
Outpatient Radiology Services- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Outpatient Radiology Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Outpatient Radiology	1 in 45 miles	5	252.8	1,264	100.0	0	0.0	5.2	5.3
Bacon, GA	542	Outpatient Radiology	1 in 45 miles	5	108.4	542	100.0	0	0.0	3.5	3.5
Brantley, GA	892	Outpatient Radiology	1 in 45 miles	0		892	100.0	0	0.0	19.7	20.3
Bryan, GA	2,020	Outpatient Radiology	1 in 45 miles	3	673.3		100.0	0	0.0	9.3	10.1
Camden, GA	2,521	Outpatient Radiology	1 in 45 miles	9	280.1	2,521	100.0	0	0.0	4.8	5.7
Candler, GA	1,008	Outpatient Radiology	1 in 45 miles	5	201.6	1,008	100.0	0	0.0	4.0	4.0
Charlton, GA	526	Outpatient Radiology	1 in 45 miles	7	75.1	526	100.0	0	0.0	7.1	7.4
Evans, GA	884	Outpatient Radiology	1 in 45 miles	32	27.6	884	100.0	0	0.0	3.7	3.8
Jeff Davis, GA	1,073	Outpatient Radiology	1 in 45 miles	5	214.6	1,073	100.0	0	0.0	4.1	4.1
Liberty, GA	4,821	Outpatient Radiology	1 in 45 miles	26	185.4	4,821	100.0	0	0.0	3.3	4.4
Long, GA	1,122	Outpatient Radiology	1 in 45 miles	0		1,122	100.0	0	0.0	6.7	9.2
McIntosh, GA	726	Outpatient Radiology	1 in 45 miles	0		726	100.0	0	0.0	20.1	20.8
Montgomery, GA	481	Outpatient Radiology	1 in 45 miles	0		481	100.0	0	0.0	9.8	10.1
Pierce, GA		Outpatient Radiology	1 in 45 miles	0		1,249	100.0	0	0.0	10.9	11.3
Screven, GA	1,276	Outpatient Radiology	1 in 45 miles	6	212.7	1,276	100.0	0	0.0	7.6	7.6
Tattnall, GA	2,023	Outpatient Radiology	1 in 45 miles	7	289.0	2,023	100.0	0	0.0	9.5	10.3
Toombs, GA	2,310	Outpatient Radiology	1 in 45 miles	17	135.9	2,310	100.0	0	0.0	4.3	4.7
Ware, GA	2,877	Outpatient Radiology	1 in 45 miles	31	92.8	2,877	100.0	0	0.0	3.4	4.0
Wayne, GA	2,834	Outpatient Radiology	1 in 45 miles	38	74.6	2,834	100.0	0	0.0	6.9	7.8
Grand Totals	30,449	Outpatient Radiology	1 in 45 miles	196	155.4	30,449	100.0	0	0.0	6.5	7.2



Amerigroup Community Care-Behavioral Health Providers

Access Analysis
SouthEast

January 23, 2023

Behavioral Health - Urban

January 23, 2023

Access Analysis

Behavioral Health- Urban

Member / Provider Groups

Urban Members (SE_URBAN)

Behavioral Health

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Behavioral Health	1 in 30 miles	64	78.8	5,045	100.0	0	0.0	3.3	4.2
Chatham, GA	15,914	Behavioral Health	1 in 30 miles	484		15,914	100.0	0	0.0	1.5	1.8
Effingham, GA	3,051	Behavioral Health	1 in 30 miles	37	82.5		100.0		0.0		
Glynn, GA	4,872	Behavioral Health	1 in 30 miles	90	54.1	4,872	100.0	0	0.0	1.4	2.0
Grand Totals	28,882	Behavioral Health	1 in 30 miles	675	42.8	28,882	100.0	0	0.0	1.9	2.6
© 2023 Ouget Analytics III C							<u> </u>				

Behavioral Health - Rural

January 23, 2023

Access Analysis Behavioral Health- Rural Member / Provider Groups Rural Members (SE_RURAL) Behavioral Health

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Behavioral Health	1 in 45 miles	14	90.3	1,264	100.0	0	0.0	3.7	4.4
Bacon, GA	542	Behavioral Health	1 in 45 miles	35	15.5	542	100.0	0	0.0	2.1	2.8
Brantley, GA	892	Behavioral Health	1 in 45 miles	6	148.7	892	100.0	0	0.0	7.0	7.9
Bryan, GA	2,020	Behavioral Health	1 in 45 miles	39	51.8		100.0	0	0.0	4.1	8.0
Camden, GA	2,521	Behavioral Health	1 in 45 miles	89	28.3	2,521	100.0	0	0.0	1.9	2.4
Candler, GA	1,008	Behavioral Health	1 in 45 miles	4	252.0	1,008	100.0	0	0.0	3.0	3.8
Charlton, GA	526	Behavioral Health	1 in 45 miles	6	87.7	526	100.0	0	0.0	6.6	7.0
Evans, GA	884	Behavioral Health	1 in 45 miles	6	147.3	884	100.0	0	0.0	3.8	4.4
Jeff Davis, GA	1,073	Behavioral Health	1 in 45 miles	6	178.8	1,073	100.0	0	0.0	3.2	3.8
Liberty, GA	4,821	Behavioral Health	1 in 45 miles	57	84.6	4,821	100.0	0	0.0	1.6	1.9
Long, GA	1,122	Behavioral Health	1 in 45 miles	11	102.0	1,122	100.0	0	0.0	2.3	3.6
McIntosh, GA	726	Behavioral Health	1 in 45 miles	3	242.0	726	100.0	0	0.0	3.5	7.6
Montgomery, GA	481	Behavioral Health	1 in 45 miles	0		481	100.0	0	0.0	10.8	12.1
Pierce, GA	1,249	Behavioral Health	1 in 45 miles	17	73.5	1,249	100.0	0	0.0	3.6	4.5
Screven, GA	1,276	Behavioral Health	1 in 45 miles	3	425.3	1,276	100.0	0	0.0	5.3	7.5
Tattnall, GA	2,023	Behavioral Health	1 in 45 miles	2	1,011.5	2,023	100.0	0	0.0	7.8	11.9
Toombs, GA		Behavioral Health	1 in 45 miles	13	177.7	2,310	100.0	0	0.0	4.7	5.0
Ware, GA	2,877	Behavioral Health	1 in 45 miles	56	51.4	2,877	100.0	0	0.0	2.3	2.8
Wayne, GA	2,834	Behavioral Health	1 in 45 miles	16	177.1		100.0	0	0.0	5.2	5.9
Grand Totals	30,449	Behavioral Health	1 in 45 miles	383	79.5	30,449	100.0	0	0.0	3.8	5.0

Behavioral Health Facilities - Urban

January 23, 2023

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SE_URBAN)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA			1 in 30 miles	7	720.7		100.0			4.6	5.7
Chatham, GA			1 in 30 miles	129	123.4	15,914			0.0		2.7
Effingham, GA			1 in 30 miles	4	762.8	3,051					
Glynn, GA	4,872	Behavioral Health Fac	1 in 30 miles	16	304.5	4,872	100.0	0	0.0	2.0	2.6
Grand Totals	28,882	Behavioral Health Fac	1 in 30 miles	156	185.1	28,882	100.0	0	0.0	2.9	3.7

Behavioral Health Facilities - Rural

January 23, 2023

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SE_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Behavioral Health Fac	1 in 45 miles	3	421.3	1,264	100.0	0	0.0	4.0	6.8
Bacon, GA	542	Behavioral Health Fac	1 in 45 miles	16	33.9	542	100.0	0	0.0	2.7	3.1
Brantley, GA	892	Behavioral Health Fac	1 in 45 miles	1	892.0	892	100.0	0	0.0	8.8	14.8
Bryan, GA	2,020	Behavioral Health Fac	1 in 45 miles	18	112.2	2,020	100.0	0	0.0	4.7	9.4
Camden, GA	2,521	Behavioral Health Fac	1 in 45 miles	10	252.1	2,521	100.0	0	0.0	5.1	6.8
Candler, GA	1,008	Behavioral Health Fac	1 in 45 miles	1	1,008.0	1,008	100.0	0	0.0	5.3	15.1
Charlton, GA	526	Behavioral Health Fac	1 in 45 miles	3	175.3	526	100.0	0	0.0	7.2	8.2
Evans, GA	884	Behavioral Health Fac	1 in 45 miles	3	294.7	884	100.0	0	0.0	3.8	4.4
Jeff Davis, GA	1,073	Behavioral Health Fac	1 in 45 miles	1	1,073.0	1,073	100.0	0	0.0	5.9	
Liberty, GA	4,821	Behavioral Health Fac	1 in 45 miles	6	803.5		100.0	0	0.0	2.7	3.9
Long, GA	1,122	Behavioral Health Fac	1 in 45 miles	2	561.0		100.0	0	0.0	3.9	
McIntosh, GA		Behavioral Health Fac	1 in 45 miles	1	726.0	726	100.0	0	0.0	7.0	13.2
Montgomery, GA	481	Behavioral Health Fac	1 in 45 miles	0		481	100.0	0	0.0	12.4	21.7
Pierce, GA	1,249	Behavioral Health Fac	1 in 45 miles	4	312.3		100.0	0	0.0	3.8	
Screven, GA	1,276	Behavioral Health Fac	1 in 45 miles	1	1,276.0		100.0	0	0.0	5.5	
Tattnall, GA		Behavioral Health Fac	1 in 45 miles	1	2,023.0		100.0	0	0.0	9.8	
Toombs, GA		Behavioral Health Fac	1 in 45 miles	1	2,310.0		100.0	0	0.0	5.5	
Ware, GA		Behavioral Health Fac	1 in 45 miles	19			100.0	0	0.0	2.8	
Wayne, GA	2,834	Behavioral Health Fac	1 in 45 miles	2			100.0	0	0.0	6.2	8.3
Grand Totals	30,449	Behavioral Health Fac	1 in 45 miles	93	327.4	30,449	100.0	0	0.0	5.1	9.7

Community Service Boards - Urban

January 23, 2023

Access Analysis
Community Service Boards- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Community Service Boards

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Community Service B	1 in 30 miles	3		5,045	100.0	0	0.0	5.6	6.1
Chatham, GA		Community Service B	1 in 30 miles	7	,	15,914	100.0	0			
Effingham, GA		Community Service B	1 in 30 miles	11			100.0				
Glynn, GA	4,872	Community Service B	1 in 30 miles	12	406.0	4,872	100.0	0	0.0	3.6	3.8
Grand Totals	28,882	Community Service B	1 in 30 miles	33	875.2	28,882	100.0	0	0.0	5.2	5.7
© 2023 Quest Analytics, LLC.											

Community Service Boards - Rural

January 23, 2023

Access Analysis
Community Service Boards- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Community Service Boards

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Community Service B	1 in 45 miles	0		1,264	100.0	0	0.0	15.3	20.4
Bacon, GA	542	Community Service B	1 in 45 miles	35	15.5	542	100.0	0	0.0	2.3	3.1
Brantley, GA	892	Community Service B	1 in 45 miles	2	446.0	892	100.0	0	0.0	7.9	8.2
Bryan, GA	2,020	Community Service B	1 in 45 miles	0		2,020	100.0	0	0.0	16.4	16.9
Camden, GA	2,521	Community Service B	1 in 45 miles	4	630.3	2,521	100.0	0	0.0	3.6	5.9
Candler, GA	1,008	Community Service B	1 in 45 miles	1	1,008.0	1,008	100.0	0	0.0	4.0	17.4
Charlton, GA	526	Community Service B	1 in 45 miles	3	175.3	526	100.0	0	0.0	7.2	8.1
Evans, GA	884	Community Service B	1 in 45 miles	0		884	100.0	0	0.0	16.4	21.2
Jeff Davis, GA	1,073	Community Service B	1 in 45 miles	0			100.0	0	0.0	22.8	23.9
Liberty, GA	4,821	Community Service B	1 in 45 miles	3	1,607.0		100.0	0	0.0	4.0	4.3
Long, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	11.0	11.0
McIntosh, GA	726	Community Service B	1 in 45 miles	0		726	100.0	0	0.0	19.7	19.8
Montgomery, GA	481	Community Service B	1 in 45 miles	0		481	100.0	0	0.0	17.1	29.1
Pierce, GA		Community Service B	1 in 45 miles	6	208.2		100.0	0	0.0	4.6	
Screven, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	25.4	25.9
Tattnall, GA		Community Service B	1 in 45 miles	1	2,023.0		100.0	0	0.0	11.6	
Toombs, GA		Community Service B	1 in 45 miles	0		2,310		0	0.0	18.7	25.1
Ware, GA		Community Service B	1 in 45 miles	39	73.8			0	0.0	2.8	3.0
Wayne, GA		Community Service B	1 in 45 miles	0		2,834		0	0.0	22.9	25.1
Grand Totals	30,449	Community Service B	1 in 45 miles	94	323.9	30,449	100.0	0	0.0	11.5	14.3

Psychiatric Residential Treatment Facilities - Urban

January 23, 2023

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)-Urban

Member / Provider Groups
Urban Members (SE_URBAN)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Psychiatric Residentia	1 in 30 miles	0		0	0.0			57.6	77.2
Chatham, GA		Psychiatric Residentia	1 in 30 miles	1	15,914.0	15,914					115.4
Effingham, GA		Psychiatric Residentia	1 in 30 miles	0		1,712					97.7
Glynn, GA	4,872	Psychiatric Residentia	1 in 30 miles	0		0	0.0	4,872	100.0	65.1	164.2
Grand Totals	28,882	Psychiatric Residentia	1 in 30 miles	1	28,882.0	17,626	61.0	11,256	39.0	28.4	115.1

Psychiatric Residential Treatment Facilities - Rural

January 23, 2023

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)- Rural

Member / Provider Groups Rural Members (SE_RURAL) Psychiatric Residential Treatment Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,264	100.0	77.3	121.6
Bacon, GA	542	Psychiatric Residentia	1 in 45 miles	0		0	0.0		100.0	89.6	138.2
Brantley, GA	892	Psychiatric Residentia	1 in 45 miles	0		0	0.0	892	100.0	84.5	161.6
Bryan, GA	2,020	Psychiatric Residentia	1 in 45 miles	0		1,974	97.7	46	2.3	26.7	107.8
Camden, GA	2,521	Psychiatric Residentia	1 in 45 miles	0		0	0.0	2,521	100.0	92.0	190.1
Candler, GA	1,008	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,008	100.0	67.1	76.4
Charlton, GA	526	Psychiatric Residentia	1 in 45 miles	0		0	0.0	526	100.0	105.5	189.7
Evans, GA	884	Psychiatric Residentia	1 in 45 miles	0		35	4.0	849	96.0	50.6	93.2
Jeff Davis, GA	1,073	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,073	100.0	90.5	118.8
Liberty, GA	4,821	Psychiatric Residentia	1 in 45 miles	0		4,821	100.0	0	0.0	36.8	120.9
Long, GA	1,122	Psychiatric Residentia	1 in 45 miles	0		540	48.1	582	51.9	45.7	122.7
McIntosh, GA	726	Psychiatric Residentia	1 in 45 miles	0		228	31.4	498	68.6	47.1	147.2
Montgomery, GA	481	Psychiatric Residentia	1 in 45 miles	0		0	0.0	481	100.0	85.9	98.8
Pierce, GA		Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,249	100.0	90.1	153.4
Screven, GA	1,276	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,276	100.0	59.9	64.9
Tattnall, GA		Psychiatric Residentia	1 in 45 miles	0		3	0.1		99.9	56.8	102.6
Toombs, GA		Psychiatric Residentia	1 in 45 miles	0		0	0.0		100.0	77.5	92.2
Ware, GA		Psychiatric Residentia	1 in 45 miles	0		0	0.0		100.0	99.1	160.1
Wayne, GA		Psychiatric Residentia	1 in 45 miles	0		0				63.3	134.5
Grand Totals	30,449	Psychiatric Residentia	1 in 45 miles	0		7,601	25.0	22,848	75.0	66.5	127.0

Psychologists - Urban

January 23, 2023

Access Analysis
Psychologists- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Psychologists

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Psychologists	1 in 30 miles	3		5,045			0.0	5.5	6.0
Chatham, GA		Psychologists	1 in 30 miles	27	589.4	15,914	100.0	0	0.0	3.4	4.6
Effingham, GA	3,051	Psychologists	1 in 30 miles	1	3,051.0	3,051	100.0	0		8.5	22.0
Glynn, GA	4,872	Psychologists	1 in 30 miles	5	974.4	4,872	100.0	0	0.0	2.9	5.1
Grand Totals	28,882	Psychologists	1 in 30 miles	36	802.3	28,882	100.0	0	0.0	4.2	6.7

Psychologists - Rural

January 23, 2023

Access Analysis
Psychologists- Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Psychologists

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Psychologists	1 in 45 miles	0		1,264	100.0	0	0.0	33.7	36.1
Bacon, GA	542	Psychologists	1 in 45 miles	0		542	100.0	0	0.0	26.0	26.1
Brantley, GA	892	Psychologists	1 in 45 miles	0		892	100.0	0	0.0	19.6	20.7
Bryan, GA	2,020	Psychologists	1 in 45 miles	1	2,020.0		100.0		0.0	12.4	17.0
Camden, GA	2,521	Psychologists	1 in 45 miles	3	840.3	2,521	100.0	0	0.0	4.8	5.8
Candler, GA	1,008	Psychologists	1 in 45 miles	1	1,008.0	1,008	100.0	0	0.0	3.8	18.6
Charlton, GA	526	Psychologists	1 in 45 miles	0		526		0	0.0	26.5	26.6
Evans, GA	884	Psychologists	1 in 45 miles	0		884	100.0	0	0.0	21.6	23.7
Jeff Davis, GA	1,073	Psychologists	1 in 45 miles	0		106	9.9	967	90.1	49.2	49.4
Liberty, GA	4,821	Psychologists	1 in 45 miles	3	1,607.0	4,821	100.0	0	0.0	3.9	5.4
Long, GA	1,122	Psychologists	1 in 45 miles	1	1,122.0	1,122	100.0	0	0.0	5.6	11.3
McIntosh, GA	726	Psychologists	1 in 45 miles	0		726	100.0	0	0.0	20.2	23.6
Montgomery, GA	481	Psychologists	1 in 45 miles	0		376	78.2	105	21.8	40.2	52.5
Pierce, GA	1,249	Psychologists	1 in 45 miles	0		1,249	100.0	0	0.0	11.8	12.4
Screven, GA	1,276	Psychologists	1 in 45 miles	0		1,276	100.0	0	0.0	25.4	25.5
Tattnall, GA	2,023	Psychologists	1 in 45 miles	0		2,023	100.0	0	0.0	22.0	29.9
Toombs, GA	2,310	Psychologists	1 in 45 miles	0		2,310	100.0	0	0.0	29.2	43.7
Ware, GA	2,877	Psychologists	1 in 45 miles	2	1,438.5	2,877	100.0	0	0.0	4.1	4.3
Wayne, GA	2,834	Psychologists	1 in 45 miles	1	2,834.0	2,834	100.0	0	0.0	7.8	16.7
Grand Totals	30,449	Psychologists	1 in 45 miles	12	2,537.4	29,377	96.5	1,072	3.5	14.9	19.2

Psychiatrists - Urban

January 23, 2023

Access Analysis
Psychiatry- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Psychiatry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Psychiatry	1 in 30 miles	3	1,681.7	5,045	100.0	0	0.0	5.5	6.0
Chatham, GA		Psychiatry	1 in 30 miles	20	795.7	15,914	100.0	0	0.0		
Effingham, GA		Psychiatry	1 in 30 miles	2			100.0				
Glynn, GA	4,872	Psychiatry	1 in 30 miles	17	286.6	4,872	100.0	0	0.0	2.7	3.0
Grand Totals	28,882	Psychiatry	1 in 30 miles	42	687.7	28,882	100.0	0	0.0	4.1	5.2
© 2023 Quest Analytics, LLC.											

Psychiatrists - Rural

January 23, 2023

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members (SE_RURAL)
Psychiatry

			Members With a	nd With	out Access						
	Member	ı	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	1,264	Psychiatry	1 in 45 miles	3	421.3	1,264	100.0	0	0.0	5.1	5.5
Bacon, GA	542	Psychiatry	1 in 45 miles	0		542	100.0	0	0.0	19.3	19.5
Brantley, GA	892	Psychiatry	1 in 45 miles	1	892.0	892	100.0	0	0.0	8.5	19.8
Bryan, GA	2,020	Psychiatry	1 in 45 miles	1	2,020.0	2,020	100.0	0	0.0	11.2	
Camden, GA	2,521	Psychiatry	1 in 45 miles	8	315.1	2,521	100.0	0	0.0	4.3	5.2
Candler, GA	1,008	Psychiatry	1 in 45 miles	0			100.0	0	0.0	-	18.9
Charlton, GA	526	Psychiatry	1 in 45 miles	0		526	100.0	0	0.0	24.1	26.2
Evans, GA	884	Psychiatry	1 in 45 miles	0		884	100.0	0	0.0	23.4	24.1
Jeff Davis, GA	1,073	Psychiatry	1 in 45 miles	2	536.5	1,073	100.0	0	0.0	4.2	4.2
Liberty, GA	4,821	Psychiatry	1 in 45 miles	5	964.2	4,821	100.0	0	0.0	3.4	4.1
Long, GA	1,122	Psychiatry	1 in 45 miles	2	561.0	1,122	100.0	0	0.0	4.2	6.2
McIntosh, GA	726	Psychiatry	1 in 45 miles	0		726	100.0	0	0.0	19.5	20.5
Montgomery, GA	481	Psychiatry	1 in 45 miles	0		481	100.0	0	0.0	12.8	21.5
Pierce, GA	1,249	Psychiatry	1 in 45 miles	0		1,249	100.0	0	0.0	10.7	11.5
Screven, GA		Psychiatry	1 in 45 miles	0		1,276	100.0	0	0.0	25.0	25.4
Tattnall, GA	2,023	Psychiatry	1 in 45 miles	0		2,023	100.0	0	0.0	22.2	26.5
Toombs, GA	2,310	Psychiatry	1 in 45 miles	1	2,310.0	2,310	100.0	0	0.0	5.3	26.2
Ware, GA	2,877	Psychiatry	1 in 45 miles	10	287.7	2,877	100.0	0	0.0	2.6	3.4
Wayne, GA	2,834	Psychiatry	1 in 45 miles	2	1,417.0	2,834	100.0	0	0.0	6.5	8.1
Grand Totals	30,449	Psychiatry	1 in 45 miles	35	870.0	30,449	100.0	0	0.0	9.3	12.8

Autism Spectrum Disorder Treatment Provider - Urban

January 23, 2023

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups
Urban Members (SE_URBAN)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member Provider		ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Autism Spectrum Diso	1 in 30 miles	18	280.3	5,045	100.0	0	0.0	4.8	5.3
Chatham, GA		Autism Spectrum Diso	1 in 30 miles	265		15,914	100.0	0	0.0	2.4	
Effingham, GA		Autism Spectrum Diso	1 in 30 miles	0			100.0				
Glynn, GA	4,872	Autism Spectrum Diso	1 in 30 miles	14	348.0	4,872	100.0	0	0.0	2.8	2.8
Grand Totals	28,882	Autism Spectrum Diso	1 in 30 miles	297	97.2	28,882	100.0	0	0.0	4.1	4.3
© 2023 Quest Analytics, LLC.											

Autism Spectrum Disorder Treatment Provider - Rural

January 23, 2023

Access Analysis

Autism Spectrum Disorder(ASD)

Treatment Provider- Rural

Member / Provider Groups
Rural Members (SE_RURAL)
Autism Spectrum Disorder(ASD)
Treatment Provider

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,264	Autism Spectrum Diso	1 in 45 miles	5	252.8	1,264	100.0	0	0.0	5.4	5.4		
Bacon, GA	542	Autism Spectrum Diso	1 in 45 miles	0		542	100.0	0	0.0	20.1	20.2		
Brantley, GA	892	Autism Spectrum Diso	1 in 45 miles	0		892	100.0	0	0.0	24.1	25.6		
Bryan, GA	2,020	Autism Spectrum Diso	1 in 45 miles	35			100.0		0.0	9.7	9.7		
Camden, GA	2,521	Autism Spectrum Diso	1 in 45 miles	18	140.1	2,521	100.0	0	0.0	6.6	8.3		
Candler, GA	1,008	Autism Spectrum Diso	1 in 45 miles	0		1,008	100.0	0	0.0	15.4	16.4		
Charlton, GA	526	Autism Spectrum Diso	1 in 45 miles	0		502	95.4	24	4.6	26.3	32.2		
Evans, GA	884	Autism Spectrum Diso	1 in 45 miles	4	221.0	884	100.0	0	0.0	4.4	4.4		
Jeff Davis, GA	1,073	Autism Spectrum Diso	1 in 45 miles	3	357.7	1,073	100.0	0	0.0	4.0	4.1		
Liberty, GA	4,821	Autism Spectrum Diso	1 in 45 miles	8	602.6	4,821	100.0	0	0.0	3.8	3.8		
Long, GA	1,122	Autism Spectrum Diso	1 in 45 miles	2	561.0	1,122	100.0	0	0.0	5.1	5.1		
McIntosh, GA	726	Autism Spectrum Diso	1 in 45 miles	0		726	100.0	0	0.0	17.8	17.8		
Montgomery, GA	481	Autism Spectrum Diso	1 in 45 miles	0		481	100.0	0	0.0	12.2	12.3		
Pierce, GA	1,249	Autism Spectrum Diso	1 in 45 miles	0		1,249	100.0	0	0.0	33.7	33.7		
Screven, GA	1,276	Autism Spectrum Diso	1 in 45 miles	0		1,276	100.0	0	0.0	20.0	20.0		
Tattnall, GA	2,023	Autism Spectrum Diso	1 in 45 miles	0		2,023	100.0	0	0.0	16.0	16.1		
Toombs, GA	2,310	Autism Spectrum Diso	1 in 45 miles	3	770.0	2,310	100.0	0	0.0	5.6	5.6		
Ware, GA	2,877	Autism Spectrum Diso	1 in 45 miles	0		2,877	100.0	0	0.0	38.6	38.7		
Wayne, GA	2,834	Autism Spectrum Diso	1 in 45 miles	2	1,417.0		100.0	0	0.0	7.6	7.6		
Grand Totals	30,449	Autism Spectrum Diso	1 in 45 miles	80	380.6	30,425	99.9	24	0.1	13.2	13.5		
	<u> </u>]		<u> </u>									

Narcotic Treatment Program - Urban

January 23, 2023

Access Analysis
Narcotic Treatment Program- Urban
Member / Provider Groups
Urban Members (SE_URBAN)
Narcotic Treatment Program

Members With and Without Access											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Access		Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	5,045	Narcotic Treatment Pr	1 in 30 miles	0		3	0.1	5,042	99.9	52.3	57.0
Chatham, GA	15,914	Narcotic Treatment Pr	1 in 30 miles	2	7,957.0	15,914					
Effingham, GA			1 in 30 miles	0		2,603	85.3	448	14.7		
Glynn, GA	4,872	Narcotic Treatment Pr	1 in 30 miles	1	4,872.0	4,872	100.0	0	0.0	9.0	64.9
Grand Totals	28,882	Narcotic Treatment Pr	1 in 30 miles	3	9,627.3	23,392	81.0	5,490	19.0	16.3	28.8
© 2023 Quest Analytics II C											

Narcotic Treatment Program - Rural

January 23, 2023

Access Analysis
Narcotic Treatment Program-Rural
Member / Provider Groups
Rural Members (SE_RURAL)
Narcotic Treatment Program

	Members With and Without Access												
	Member		ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	1,264	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,264	100.0	74.4	76.7		
Bacon, GA	542	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	542	100.0	71.8	88.8		
Brantley, GA	892	Narcotic Treatment Pr	1 in 45 miles	0		867	97.2	25	2.8	32.6	84.0		
Bryan, GA	2,020	Narcotic Treatment Pr	1 in 45 miles	0		2,020	100.0	0	0.0	23.6	26.9		
Camden, GA	2,521	Narcotic Treatment Pr	1 in 45 miles	0		2,516	99.8	5	0.2	34.3	91.8		
Candler, GA	1,008	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,008	100.0	62.2	66.3		
Charlton, GA	526	Narcotic Treatment Pr	1 in 45 miles	0		32	6.1	494	93.9	53.3	105.2		
Evans, GA	884	Narcotic Treatment Pr	1 in 45 miles	0		216	24.4	668	75.6	46.3	50.1		
Jeff Davis, GA	1,073	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,073	100.0	80.0	87.9		
Liberty, GA	4,821	Narcotic Treatment Pr	1 in 45 miles	0		4,821	100.0	0	0.0	36.5	37.7		
Long, GA	1,122	Narcotic Treatment Pr	1 in 45 miles	0		577	51.4	545	48.6	45.1	46.2		
McIntosh, GA	726	Narcotic Treatment Pr	1 in 45 miles	0		726	100.0	0	0.0	22.2	46.8		
Montgomery, GA	481	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	481	100.0	69.2	79.3		
Pierce, GA	1,249	Narcotic Treatment Pr	1 in 45 miles	0		27	2.2	1,222	97.8	52.8	89.9		
Screven, GA	1,276	Narcotic Treatment Pr	1 in 45 miles	0		24	1.9	1,252	98.1	53.5	59.6		
Tattnall, GA	2,023	Narcotic Treatment Pr	1 in 45 miles	0		34	1.7	1,989	98.3	54.1	56.4		
Toombs, GA	2,310	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	2,310	100.0	69.8	74.8		
Ware, GA	2,877	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	2,877	100.0	58.7	98.9		
Wayne, GA	2,834	Narcotic Treatment Pr	1 in 45 miles	0		456	16.1	2,378	83.9	50.2	63.0		
Grand Totals	30,449	Narcotic Treatment Pr	1 in 45 miles	0		12,316	40.4	18,133	59.6	49.5	66.0		

Licensed Counselors and Social Workers - Urban

January 23, 2023

Access Analysis
Licensed Counsler and Social
Workers- Urban

Member / Provider Groups
Urban Members (SE_URBAN)
Licensed Counsler and Social
Workers

	Members With and Without Access											
	Member Provider		ovider	Counts	Ratio Members	With Access		Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		Licensed Counsler an	1 in 30 miles	7	720.7		100.0	0				
Chatham, GA		Licensed Counsler an	1 in 30 miles	36		15,914	100.0	0			3.3	
Effingham, GA		Licensed Counsler an	1 in 30 miles	6		3,051	100.0	0			7.5	
Glynn, GA	4,872	Licensed Counsler an	1 in 30 miles	11	442.9	4,872	100.0	0	0.0	2.7	3.2	
Grand Totals	28,882	Licensed Counsler an	1 in 30 miles	60	481.4	28,882	100.0	0	0.0	3.4	4.1	

Licensed Counselors and Social Workers - Rural

January 23, 2023

Access Analysis
Licensed Counsler and Social
Workers- Rural

Member / Provider Groups
Rural Members (SE_RURAL)
Licensed Counsler and Social
Workers

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	1,264	Licensed Counsler an	1 in 45 miles	0		1,264	100.0	0	0.0	21.0	33.6	
Bacon, GA	542	Licensed Counsler an	1 in 45 miles	1	542.0	542	100.0	0	0.0	3.6	23.8	
Brantley, GA	892	Licensed Counsler an	1 in 45 miles	2	446.0	892	100.0	0	0.0	8.2	8.2	
Bryan, GA	2,020	Licensed Counsler an	1 in 45 miles	0			100.0	0	0.0	13.1	14.7	
Camden, GA	2,521	Licensed Counsler an	1 in 45 miles	11	229.2	2,521	100.0	0	0.0	3.6	4.1	
Candler, GA	1,008	Licensed Counsler an	1 in 45 miles	0		1,008	100.0	0	0.0	18.2	18.6	
Charlton, GA	526	Licensed Counsler an	1 in 45 miles	1	526.0	526	100.0	0	0.0	7.2	23.2	
Evans, GA	884	Licensed Counsler an	1 in 45 miles	0		884	100.0	0	0.0	23.7	23.7	
Jeff Davis, GA	1,073	Licensed Counsler an	1 in 45 miles	0		1,073	100.0	0	0.0	26.1	35.3	
Liberty, GA	4,821	Licensed Counsler an	1 in 45 miles	7	688.7	4,821	100.0	0	0.0	2.6	4.9	
Long, GA	1,122	Licensed Counsler an	1 in 45 miles	1	1,122.0	1,122	100.0	0	0.0	5.3	10.7	
McIntosh, GA	726	Licensed Counsler an	1 in 45 miles	0		726	100.0	0	0.0	17.9	21.1	
Montgomery, GA	481	Licensed Counsler an	1 in 45 miles	0		481	100.0	0	0.0	33.0	38.9	
Pierce, GA	1,249	Licensed Counsler an	1 in 45 miles	0		1,249	100.0	0	0.0	11.0	11.3	
Screven, GA	1,276	Licensed Counsler an	1 in 45 miles	0		1,276	100.0	0	0.0	24.5	25.0	
Tattnall, GA	2,023	Licensed Counsler an	1 in 45 miles	0		2,023	100.0	0	0.0	29.6	30.1	
Toombs, GA	2,310	Licensed Counsler an	1 in 45 miles	0		2,310	100.0	0	0.0	28.9	40.1	
Ware, GA	2,877	Licensed Counsler an	1 in 45 miles	5	575.4	2,877	100.0	0	0.0	3.5	3.8	
Wayne, GA	2,834	Licensed Counsler an	1 in 45 miles	5	566.8	2,834	100.0	0	0.0	6.5	6.9	
Grand Totals	30,449	Licensed Counsler an	1 in 45 miles	33	922.7	30,449	100.0	0	0.0	12.8	16.2	